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 2 
Introduction 
 
 
 This e-book is a continuation of my series named Improving the Endgame Technique. Its first part was dedicated to Same-Colored Bishop Endgames, while this one will tell you about Opposite-Colored Bishop Endgames. I am far from a thought, that this book is exceptional, but it definitely contains material, which can help you to understand the opposite-colored bishop endgames better. 
 Most of you know a few basic things about OCBE. 
 A. Opposite-colored bishop endgames have high risks of a draw for the stronger side. 
 B. If you want to save the game in this type of endgames, you need to place your pawns on the squares of your own bishop's color. 
 Also you saw some examples of OCBE fortresses. But this is definitely just a fundamental level. If knowing this was enough, Magnus Carlsen would not win so many games in the OCBE against top level players. Of course, I am not capable to share with you Carlsen's secrets. But I can share with you at least what I know and what I obtained from my own career and from the lessons with my students. In this book you will see examples of good and bad play in OCBE, you will face many questions, that could be good exercises for you. The final goal of my work is to strengthen your interest in these positions. They hide a lot of beauties and can become your secret weapon, that will be bringing many points. 
 Of course, the latter will not happen right after the reading this book. As I have mentioned, first, I would like to inspire you to be paying more attention to OCBE. After that, I suppose, you will find yourself a lot of interesting endgames in your own games or will find interesting analysis of OCBE in newspapers and on the websites. So, you will be studying it deeper, deeper and deeper. Finally, you will begin to understand how Magnus Carlsen does what he does in OCBE, and will be scoring much more points in OCBE yourself. But nothing happens just like one, two, three. Serious work is required. So, I want to inspire you doing this work! 

 Since, the general idea for all series Improving the Endgame Technique remains the same, let me copy some part of the Introduction to the first part here (with that exception, that I change "SCBE" by "OCBE"). 

 Being an adherent of Mark Dvoretsky's method of coaching, I support his idea about the optimal way to study chess endgames. First, one needs to study the theory of a given type of endgame; secondly, a player needs to improve his or her practical skills with exercises. 

 Nowadays, it is not a secret, that a lot of players ignore studying endgames. But since you are already reading this text, you are not one of them. Evidently, the question, that forced you to find this e-book, is "how to improve one's endgame skills?". You have already found some good books on the endgames (I can advise 'Silman's Complete Endgame Course' by Jeremy Silman, 'Nunn's Chess Endings' by John Nunn, Dvoretsky's 'Endgame Manual' by Mark Dvoretsky) and probably have read some of them, but you have an understandable fear, that when this or that endgame happens in your own game, you can forget most of what you have read. 
 
 So, the next step is to turn the adopted knowledge from above-mentioned books and other sources - into your unconscious knowledge. Remember, that modern time controls do not give a chance to think deeply when you get to the endgame. Intuition plays a primary role in such conditions. Geniuses already have a good intuition, the rest of us should train a lot! This e-book will provide you with a lot of exercises to achieve the goal. 
 
 You will see both simple basic things and then more and more difficult examples, in which even deep analysis does not answer the question of "is this winning or drawn?". Of course, it could be even more detailed, and for this purpose I offer you a list of games, where interesting OCBE occurred; so, after finishing this book you can continue your own investigation of OCBE. 
 
 Before you start reading the chess part of the book, let me explain my vision of how one should study it in order to get the maximum benefit. First of all, I do not advise you to read it without a chess board. Such reading can be interesting and entertaining, but it hardly can have a serious impact on your chess skills. If you want to strengthen, you need at least to set the positions from the diagrams on the chess board and to stop for a while to get the idea about what is going on. 
 
 Secondly, you should not trust everything that is written in this book. Your perception should be critical – you should always question the author why a certain move leads to a draw, but another one wins, etc. Only when you ask the questions, find answers to them (yourself, with friends or even with an engine) – you grow as a chess player! If you simply trust – it is reading, but not learning! 
 
 So, it is better to spend an evening (or even more) on one complex example arguing with author and to learn a lot of useful skills, than to run through all the examples in one evening scrolling down the screen. 
 
 Most examples in the book were given to my students during the lessons and together we have been finding more and more improvements, interesting ideas, refutations and so on. Endgame analysis can become endless, if you dig too deeply. For this reason, a rational approach should be used. 
 
 No scrolling down and no trying to analyze every single move in the position! Our goal is to learn the main ideas of SCBE, to see how the fight in these endgames usually goes and to see how utilizing typical ideas leads to good results in them. When you feel, that you understood the key idea of the position, move on! 
 
 I am absolutely sure, that my analysis contains holes - it is inevitable, so I ask you to be merciful to me. I have tried really hard and for some examples - many hours were spent. But I would be happy if you sent me your thoughts, ideas, questions, and refutations to my email vdaveskulov@gmail.com. 
 
 
 At the end I would like to express a deep gratitude to my Canadian friend Roman Jiganchine who agreed to help me and did it on the very high level. Without him this series would not be born. 
 Also I want to thank my wife Irina who recently gave a birth to our third child - daughter Mariya! Writing the books is a hard business and inspiration plays an important role here. I do have this inspiration from my big family! Thank you, Irina, Ivan, Serafim and Mariya! 










 Table of Contents 
 
1 CopyRight Information
2 Introduction
3 Symbols and Abbreviations Used in the Book
3.1 Position Evaluation
3.2 Move Evaluation
4 Pure Opposite-Colored bishop Endgames
4.1 Theoretical positions
4.2 Connected passed pawns
4.3 Disconnected passed pawns
4.4 Bad "good" pawn structure
4.5 Solve puzzles!
4.6 Trapped king as an idea to get a free piece in OCBE
4.7 One weakness is not enough
4.8 When fortress is so close...
4.9 Pawn runs or how intuition helps in sharp situations
4.10 It is never too late to give up!
5 OCB+RE
5.1 Mating net
5.2 Bad Sicilian White light squared bishop
5.3 Rook passed pawn.
5.4 Exchange sacrifice.
5.5 Play by the king
5.6 Engine can be wrong or tricks of evaluations of OCBE.
6 Exercises
7 Summary
8 Index of Players and Games
9 Index of Typical Ideas
10 List of Advised Games
11 About the Author





 



 3 
Symbols and Abbreviations Used in the Book 
 
 
 3.1 
Position Evaluation 
 
 ∞ – Unclear: It is unclear who (if anyone) has an advantage. 
 = – Even position: White and Black have more or less equal chances. 
 += – White has slightly better chances. 
 +/− – White has much better chances. 
 +− – White has a clear advantage. 
 =+ – Black has slightly better chances. 
 −/+ – Black has much better chances. 
 −+ – Black has a clear advantage. 


 
 3.2 
Move Evaluation 
 
 ?? - Blunder 
 ? - Mistake 
 ?! - Dubious move 
 !? - Interesting move 
 ! - Good move 
 ‼ - Brilliant move 




 



 4 
Pure Opposite-Colored bishop Endgames 
 
 
 4.1 
Theoretical positions 
 
 
 It is widely known that OCBE have such high drawing chances, that sometimes even 2-3 extra pawns do not help to win. The reasons are also familiar to you and can be described in such a way: (1) advancing the passed pawn to the opponent's bishop's square can not be supported by its own bishop; (2) the strongest side's bishop can not attack opponent's pawns placed on the squares of different color. So, if the defending side's king can block opponent's passed pawn, while bishop defends its own pawns, the win often is impossible. 
 One of best endgame researchers Yuri Averbakh offers three main drawn setups. Let's see them here. 


 Averbakh, Y - Drawn Position 1


Black can simply move his bishop around following two ideas: 1) do not blunder the bishop; 2) do not give up on b5 or g6; the king should stay on d7 giving no hopes to the d6 pawn. 1. Kf6 Bd3 = 

 




 Averbakh, Y - Drawn Position 2


Compared to the previous position White has achieved some progress - Black king is pushed away from d7. But the draw is still easy, since White bishop is absolutely useless for his army - it can neither attack opponent's pawns nor support his passer. However Black should demonstrate diligence after 1. Kb6 
 since after 

1. ... Bd3? 
 White wins by means of 

2. Kc6 
 with an idea of d6-d7. The correct square from which to defend b5 is d7 (1...Bd7=). 


 




 Averbakh, Y - Drawn Position 3


In this case Black's defence is more difficult. While the mission of Ba8 is clear - it controls the big diagonal, Black king guards the line c7-d6-e5 following the opponent's monarch. But just this is not enough to make a draw, some calculation is also required. 1. Kc5 Ke6 2. Kb6 Kd7 3. b5 Kc8! = 
 and White king can not go across a1-h8 diagonal. 

 ( The alternative move 3. ... Bd5? allows White to win the battle between kings and to promote b-pawn. 4. a8=Q! Bxa8 5. Ka7 Be4 

 6. Kb8! now nothing can help Black: ( 6. b6? Kc8 = ) 6. ... Bf3 7. b6 Be4 8. b7 Bf3 9. Ka7 +- ) 

 
 



 Another great chess researcher John Nunn in his comprehensive work "Nunn's Chess Endings" (Volume 1) on page 237 offers a list of distinctive points of OCBE. Although we are going to extend it slightly, it is definitely worth mentioning here and can be offered for your memorization: 
 1) the number of pawns one has is often less important than the number of passed pawns; 
 2) the defender's best chance is often to set up a blockade by putting his pawns on the same-coloured squares as his bishop; 
 3) pawn moves often have far-reaching consequences; 
 4) playing OCBE often depends more on logic than on the analysis of variations. 

 One more principle that deserves attention is described by Mark Dvoretsky in his "Endgame Manual". It is a rule of one diagonal - both sides should aim to have the bishop doing the maximum of work (stopping or attacking opponent's pawns, blocking opponent's king, supporting or defending its own pawns etc.) using one diagonal. When a player achieves such efficiency, it usually is worth a few pawns - so, if he lacks material, he draws with ease; if there is balance on the board, he has a big advantage. 
 
 One way or another - all these principles and rules will be in force in most of examples in this book, but additionally I will try to demonstrate some other nuances of OCBE, which were found during the work on this extremely interesting type of endgames. 
 
 Since the book has a title "Improving the Endgame Technique", we will not dedicate much attention to theoretical positions. I offer to look at just a few more of them, which will show us how OCBE's can end. There is no sense even to mention B+p vs B, instructive points arise only with two pawns on the board. All of them are taken from Dvoretsky's "Endgame Manual". 
 
 

 Dvoretsky, M - Position 1


White's idea is to give the check by a bishop and to advance e5-e6 pushing Black king to the last rank. Black has two ways to stop e5-e6 (Bb3 and Bd7), but only one of them follows the idea of "one diagonal". 1. ... Bd7! 
 Prevents e5-e6 and attacks on f5. 

 ( 1. ... Bb3? is not enough 2. Bg5+! This square is better for the bishop, since it controls both e7 and f6 squares (which is important when the e5 pawn goes forward). Black king should choose one of sides (d7 or f7); after that White king goes to another side to support e5-e6. 2. ... Kd7 ( or 2. ... Kf7 3. Kd4 Ba2 ( it is late to attack on f5: 3. ... Bc2 4. e6+ Ke8 5. f6 +- ) 4. Kc5 Bb3 ( 4. ... Bb1 5. e6+ Ke8 6. f6 +- ) 5. Kd6 +- followed by e5-e6, f5-f6 etc. The defending side has no defense, when the opponent's pawns reach 6-th (3-rd) rank. ) 3. Kf4 Ba2 4. Bh4 Bf7 5. Kg5 Ke7 6. Kh6+ Kd7 7. Kg7 Bc4 8. Kf6 Ba2 9. e6+ +- ) 

 2. Bg5+ Kf7 


 White king should take care of f5 pawn and for this reason can not support the e5 pawn. Every self-respecting chess player should memorize this defending construction! 

 




 Dvoretsky, M - Position 2


As it was said earlier, there is no saving the game with pawns on the 6-th rank. 1. ... Bd8 
 loses to a zugzwang: 

2. Bg6+ Kf8 3. Kf5 +- 
 and e6-e7 is coming because of a zugzwang. 

* 

 




 Dvoretsky, M - Position 3


The exception from previous rule is possible, when pawns are on two last files near the edge of the board. 1. ... Bf8! 
 Black looks passive, but he has an idea Kh8-g8-h8-... 

 ( 1. ... Bb2? loses to 2. Bc4 +- ! and King goes to f7 with a win. ( it is important to start with the bishop to prevent Kg8: 2. Kg5? Kg8 = King comes to f8 with a draw - no surrounding maneuver from the king side. ) ) 

 2. Bc4 
 Zugzwang? - Not this time! 

2. ... Bxh6! 3. Kxh6 
 Stalemate. 


 



 More of theoretical knowledge can be found in endgame manuals, that are widely represented at the chess book market. In this book we have a different goal - to get practical skills in playing OCBE. So, let's begin! 


 
 4.2 
Connected passed pawns 
 
 
 There are many philosophical methods of studying reality, but for chess I prefer to use the method of studying from simplest to more and more complex. I have strong confidence, that it is impossible to become a good strategic player without becoming a good endgame player, since if you are unable to build a good strategy in the position with a small number of pieces on the board, how can you build a strategy in a more complex situation? The same can be stated about OCBE. So, to start I have decided to reviews those games, where opponents have just a few pawns. To sort these examples I have divided them into positions, where the strongest side has (a) connected and (b) disconnected passed pawns. 
 The next example is relatively simple, but even such great players as David Navara and Wesley So could not play it without mistakes. The main idea, that I offer you to memorize from this game - is placing the king behind the last pawn. 


 Navara, David - So, W.
 Cez Trophy 2015   2015.06.13 , B90 


Seemingly, the "c" pawn does not play any serious role (although, in the comments to White's 55-th move we will see how helpful it could be), so, generally, we talk about two connected passed pawns OCBE. Despite that fact, that position does not seem extremely difficult, White should play very accurately. David Navara drew the game, but his opponent missed his chance. 54. Bd8 f5+ 55. Ke5! 
 ( White can not stop Black pawns if he places the king in front of them, so he directs his king to attack Black pawns from the rear. 55. Kf3? although, the final plan is not as easy as one could predict. 55. ... Bd5+ 56. Kf2 f4 57. Be7 ( attack of f4 pawn just delays g5-g4 move. 57. Bc7 Kg4 58. Bd6 Kf5 59. Bc7 g4 with similar variations ) 57. ... g4 58. Bd8 g3+ 59. Kf1 Kg4 60. Bc7 f3 61. Bb6 

 Till here Black had no troubles in advancing his pawns, but now there is a question how to proceed. The king side is too tight for some maneuver. But to get round his pawns through the center is also impossible because of the c2 pawn, that controls important square d3. Only square a3 (!) can help Black king. 61. ... Bc4+ It is the most technical approach to start with closing the king on the king side. ( 61. ... Kh3 does not help since White has 62. Kg1 ) 62. Kg1 ( 62. Ke1 Kh3 -+ followed by Kg2 and f3-f2. ) 62. ... Kf5 White bishop and king should control f2-square. 63. Bc5 Ke4 64. Bb6 Kd5 65. Ba7 Be2 66. Be3 Kc4 67. Bb6! White sets up a tricky trap. 67. ... Kb4 ( 67. ... Kc3 ?? 68. Ba5+ Kxc2 69. Be1 = ) 68. Bd4 Ka3 -+ and now nothing can prevent Black king from coming to e1, e2 squares to support f3 pawn. ) 
 55. ... Bc8 56. Kf6 f4 
 ( After 56. ... g4 57. Ke5 g3 58. Kf4 g2 59. Bb6 Kh4 60. Kf3 Kh3 61. Bg1 Black has no hopes for a win. That's why Wesley So does not hurry to advance his pawns too far. ) 

 57. c4 Kg4 


 How White should play in order to save the game? 
 ( 57. ... g4 58. Bc7 f3 59. Bg3 = ) 

 ( After 57. ... f3 58. Bb6 Kg4 

 White has only one correct move. Can you find it? 59. Be3! It is necessary to prevent Kf4. ( 59. Bf2? Kf4 and g5-g4-g3 wins. ) 59. ... Bd7 60. Kg6 Black can not get any progress. ) 
 58. Kg6?? 
 ( As we already know, Black wants to play f4-f3, Kf4 and g5-g4-g3. The defending idea also remains the same. 58. Bb6! f3 59. Be3 = ) 

 58. ... Bf5+?? 
 ( Wesley So missed his chance: 58. ... f3 59. Bb6 Kf4 60. Kh5 White king feels uncomfortable on h5, but there is no choice, it should try helping his bishop. ( or 60. Bc7+ Ke4 61. Bg3 g4 followed by Ke3 and f3-f2. ) 60. ... Ba6 61. Bf2 Bxc4 62. Bc5 Be2 ( after careless 62. ... g4?? 63. Kh4 = Black pawns got stopped. ) ( but 62. ... Bf7+ 63. Kh6 g4 is also winning. ) 63. Bf2 

 How to win? 63. ... Bd1! Zugzwang. 64. Kg6 ( or 64. Be1 f2+! ) 64. ... g4 -+ ) 
 59. Kf6 
 From now the Czech GM already makes no mistakes. 

59. ... Bd3 60. Bb6! 
 Bishop takes care of the "f" pawn, while king attacks a backward g-pawn. 

60. ... Bxc4 61. Bc5 Bd3 62. Bb6 Kh4 63. Bf2+ Kh5 64. Bb6 Ba6 
 ( 64. ... g4 65. Ke5 f3 66. Bf2 = ) 

 65. Bc5 Bc8 66. Bb6 Kg4 67. Bc5 Bd7 68. Bb6 Bf5 69. Bc5 Bc8 70. Bb6 f3 


71. Be3 (only move) 
 Bishop stops Kf4. 

71. ... Bd7 72. Kg6 
 ( 72. Bxg5?? f2 -+ ) 

 72. ... Be8+ 73. Kf6 Bh5 


 For a moment it looks as though White is in zugzwang, but position of Black bishop presents White a new resource. 
74. Bb6 Bf7 
 ( How to save the game if Black clears the path for the 'g' pawn? 74. ... Kf4 

 75. Bc7+ Ke4 ( 75. ... Ke3 76. Kxg5 f2 77. Bb6+ Ke2 78. Bxf2 ) 76. Bg3 g4 77. Kg5 = Black has no time to play Ke3 and f3-f2. ) 
 75. Bc5 
 ( Surely, the bishop is poisoned. 75. Kxf7?? Kh3 76. Kf6 g4 -+ ) 

 75. ... Bb3 76. Be3 Bd1! 


 One more trick. What to play now? 
77. Kg6! 
 And Black has nothing. 

 ( Without bishop on h5 77. Bb6?? loses: 77. ... Kf4 78. Bc7+ Ke4 79. Bg3 g4 80. Kg5 Ke3 and White can not take on g4: 81. Kxg4 f2+ -+ check! ) 

 77. ... Bc2+ 78. Kf6 Ba4 79. Kg6 Bd7 80. Kf6 Bf5 81. Ke5 
 Keeping the opponent's king stuck to defend the bishop. 

81. ... Bc8 82. Kf6 Kh5 83. Bf2 Bd7 84. Be3 Bh3 85. Bf2 Kg4 86. Be3 Bg2 87. Kg6 Bf1 88. Kf6 Bh3 89. Kg6 Bf1 90. Kf6 Bd3! 


 The last checkpoint! 
91. Bb6! Bh7 
 ( At this time 91. ... Kf4 does not win because of following line: 92. Bc7+ Ke4 ( 92. ... Ke3 93. Kxg5 f2 94. Bb6+ = ) 93. Bg3 g4 94. Kg5 Be2 95. Bf2 = ! the only way but enough for a draw. ( 95. Kxg4?? f2+ check! ) ) 

 92. Be3 Bf5 93. Ke5 Bc2 94. Kf6 Bd3 
 Draw, Black has no unused resources left. 

1/2-1/2 

 



 Magnus Carlsen is one of those, who likes playing OCB positions, because there is a lot of room to outplay his opponents. In the next game he has managed to outplay Sergey Karjakin in a long exhausting fight. But everything ended with the OCBE, in which Black was not on time to block a pair of opponent's passed pawns. 


 Carlsen, Magnus - Karjakin, Sergey
 75th Tata Steel GpA   2013.01.20 , A11 


White has many ways to win in this position; Magnus Carlsen precisely calculated the most forcing way, which is a transfer to pure OCBE. 82. Rg2+ Kh6 83. Rxc2 dxc2 84. Bxc2 Kg5 85. Kd4 
 Black king needs to be on g5 in order to prevent e5-e6-e7, so only his bishop can make moves. 

85. ... Ba3 86. Kxc4 Bb2 87. Kd5 
 ( 87. f7? would give Black enough time to stop pawns. 87. ... Ba3 88. Kd5 Kh6 89. Kc6 ( 89. Ke6 Kg7 = ) 89. ... Kg7 90. e6 Kf8 = ) 

 87. ... Kf4 


 This is what Carlsen had to foresee when he traded off rooks. 
88. f7 Ba3 89. e6 Kg5 90. Kc6 Kf6 91. Kd7 
 Right on time to prevent an appearance of Black king on e7. 

91. ... Kg7 92. e7 
 Black resigned. Were you able to see the whole line from the first diagram? If so, your calculating skills are very and very good. If not, you know what to work on! 

1-0

 



 The next game was played by my Indian student. Even though, the starting position is lost for White, it is useful to look at the idea, which he has found to convert two extra pawns into the whole point. (To be objective, it was completely his merit - we had not worked on such positions before). 

 Arjun Adappa, IND. - L.N.Ramaravind, IND.
    2015.06.30 , A33


White's only hope is to sacrifice the bishop for two central pawns and to bring the king back to the corner. So, in the beginning Black should attack on h4. 59. ... Bb4 60. h5 
 ( Or 60. Bb1 Be1 61. h5 Bb4 62. Bc2 Bc5 with the same position. ) 

 60. ... Bc5 61. Bd3 Kg5 62. Bc2 


 It is time for precise calculation. Test yourself - find the win! 
62. ... e4+! 63. Bxe4 
 ( 63. Kg3 Bd6+ and Kxh5, but not immediate ( 63. ... Kxh5?? 64. Kf4 Kg6 65. Bxe4 = ) ) 

 63. ... fxe4+ 64. Kxe4 Kg4! 
 The nut breaking move. Black king pushes his colleague by a shoulder away from the desirable corner. 

 ( 64. ... Kxh5?? 65. Kf3 = ) 

 65. Ke5 
 ( or 65. Kd3 Kxh5 66. Ke2 Kg4 67. Kf1 Kf3 -+ ) 

 65. ... Kxh5 
 ( White decided not to wait for his opponent to show the following line: 65. ... Kxh5 66. Kf4 Kh4 67. Kf3 Kh3 and resigned. ) 

0-1

 



 If the connected pawns are not placed well, opponent's bishop can stop even a big number of them. In the next example White deliberately went for the position with 3 (!) connected pawns for the opponent and easily drew. 


 Graf, F. - Oleksienko, Michailo
 ZMDI Open A 2012   2012.08.20 , D10 


Black has 2 pawns for the exchange but position is very complicated. Considering a difference in ratings (150 points up for Black), White did not want to go to even more complex positions and used a chance to transfer to OCBE without 2 pawns, where one diagonal rule helps to build an extra solid fortress. 46. Rxc4!? 
 ( Objectively 46. Bxg7 is stronger. Engine shows a little plus for White here, but without this hint I would not be so confident about White's position. Rook on b4 is misplaced, while Black central pawns look dangerous. ) 

 46. ... bxc4 
 ( After 46. ... dxc4 47. Rxg7+ Kf5 48. Rf7+ Kxg5 49. Be3+ Kg6 50. Bxd2 Kxf7 51. Kf4 White king is coming to e5 and together with bishop on a5-e1 diagonal guarantees a draw. ) 

 47. Rxg7+ Kf5 48. Rf7+ Kxg5 
 ( 48. ... Ke4?? loses to 49. Rf4+ Kd3 50. g6 +- ) 

 ( 48. ... Kg6 49. Rg7+ leads to repetition ) 

 49. Be3+ Kg6 50. Bxd2 Kxf7 51. Bc3 


 That was White's goal - opponent's pawns are stopped and at first sight even without the g2 pawn it would be an easy draw. But the last statement is false. To make the studying more instructive I offer first to look at the winning plan without the g2 pawn. 
1/2-1/2





 Analysis position - 


Black needs to bring the king to c2 via ... h-file. Let's see how it works. 1. ... Kg6 2. Kg4 Bd1+ 3. Kf4 Kh5 4. Bf6 


 Time for a first zugzwang! 
4. ... Be2 5. Ke3 
 The only move that stops Kh4, Kg4 or Kg6-f5. 

5. ... Bg4 6. Kf4 Bf5 
 White should allow Black king moving forward. 

7. Bd4 
 ( After 7. Kf3 similar lines happen: 7. ... Kg6 8. Bc3 Kg5 9. Bh8 Be4+ 10. Ke3 Otherwise, Black plays Kf5 and e6-e5. 10. ... Kg4 11. Bg7 ( 11. Be5? Kf5 and e6-e5. ) 11. ... Kg3 etc. ) 

 7. ... Kh4 8. Bh8 Kh3 9. Kf3 Be4+ 10. Kf2 Kg4 11. Ke3 Kg3 12. Be5+ Kg2 13. Bd4 Kf1 14. Bc3 


 Again White stops Black king, but bishop's triangulation assists well. 
14. ... Bf5 15. Kf3 Bg6 16. Ke3 Be4 17. Bg7 Ke1 18. Bd4 Kd1 19. Be5 Kc2 
 after c4-c3 White has no defending resources. 


 




 Graf, F. - Oleksienko, Michailo
 ZMDI Open A 2012   2012.08 , D10 


Now let's see how Ukrainian GM was trying to break through opponent's defence with the pawn on g2. 51. ... Ke7 
 ( White easily stops Black king in case of 51. ... Kg6 52. Kf4 Bd1 53. g4 = ) 

 52. Be5 Kd7 53. Kf2 Kc6 
 easily stops Black king 

54. Ke3 Kc5 55. Bc3 Bd1 56. Be5 Bg4 57. Bc3 Bf5 58. Be5 Be4 59. g4 Bc2 60. Bc3 Bd1 61. Be5 
 White even does not try to save that pawn, although, there was nothing bad with normal 61.g5. 

61. ... Bxg4 62. Bc3 Bf5 
 ( We already saw, how Black wins without the g2 pawn. But in this situation it does not work - the key nuance is that White can stop Black king as far as on f7 by playing Kg5: 62. ... Kd6 63. Kf4 Bf5 64. Bd4 Ke7 65. Bc3 Kf7 66. Kg5 

 with a draw. So, in order to prevent Black king from appearing on c2, White should stop it on f7! Mysterious OCBE! ) 
 63. Be5 Bd3 64. Bd4+ Kb4 65. Kd2 Bf5 66. Be5 


66. ... c3+ 
 This is the best, Black can try. 

67. Bxc3+ Kc4 68. Bf6 d4 69. Be5 Kd5 70. Bh2 e5 71. Bg3 


 White bishop is ready to go to f2, g1 squares in order to attack on d4 and to stop e4-e3. 
71. ... Bd7 72. Bh2 Bb5 73. Bg3 Ke4 74. Bh2 Kf5 75. Bg3 e4 76. Bf2 Ke5 77. Bg1 e3+ 
 Agreed for a draw. 

1/2-1/2 

 
 



 4.3 
Disconnected passed pawns 
 
 
 Many players get disoriented, when they face disconnected passed pawns; and this is easy to understand. You never know, which pawn to stop first, which pawn should be stopped by the king, and which one should be accompanied by the bishop. Definitely, the evaluation here a lot depends on one diagonal rule. If the defending bishop controls these pawns on one diagonal, there are good chances for a draw. In other words, there is not a big difference for the bishop, if it stops b4, c5, d6 pawns or just b4 and d6. But if blocking squares are on the different diagonals, his saving chances quickly drop. 

 Adams, Michael - Navara, David
 48th Biel GM 2015   2015.07.20 , B91 


Initially White's chances for a win look less than 50%. But in the critical moment Adams made use of "one diagonal" principle and tricked his experienced opponent. 36. f4 Be7 37. b5 Bc5 38. e5 d3 39. Be4 d2 40. Bc2 
 So far nothing specific happens. On the next move Black forces an exchange of one pair of pawns. 

40. ... f6 41. exf6+ 
 ( 41. e6 makes no sense because of 41. ... f5 followed by Kf6, Bb3 d1Q. ) 

 41. ... Kxf6 42. Kf3 h5 43. Ke2 
 Here Black needed to decide how he is going to meet Kxd2 move. Navara used more difficult setup, which allowed White to organize a nice trap. 

43. ... Bd6 


 ( I see no real ideas for White in case if Black leaves his bishop on the a7-g1 diagonal. 43. ... Bb6 44. Kxd2 Bf2 45. Ke2 Bxg3 46. Kf3 Bh2 ( or 46. ... Be1 with the same effect ) 47. b6 Bg1 48. b7 Ba7 = Bishop comes to b8 to attack on f4 (one diagonal principle again!). Position is drawn. ) 

 44. Ke3! 
 Adams continues to look for chances and his efforts get awarded. 

 ( After 44. Kxd2 h4 45. gxh4 Bxf4+ Black simply sacrifices his bishop for the "b" pawn, while his king comes to h8-corner with a draw. ) 

 44. ... Bc7? 
 Already this move is a decisive mistake. 

 ( Black had to switch back to the plan of Bf2. 44. ... Bc5+ 45. Kxd2 Bf2 = ) 

 45. Bd1! 
 The most likely, the Czech GM missed the idea of White on moves 48, 49. 

 45. ... h4 
 ( Now it is late to switch to Bf2 idea. 45. ... Bb6+ 46. Kxd2 Bf2 because of 47. g4! ( 47. Ke2? Bxg3 48. Kf3 Be1 = ) 47. ... hxg4 48. Bxg4 Black can't hold the position, because Black bishop can hold only b-pawn, while the "f" pawn sticks Black king to the king side; so, the "one diagonal" principle does not work well for Black and White king enters to d5, c6 squares. 48. ... Bb6 49. Kd3 Ke7 50. Ke4 Bc7 ( 50. ... Kd6 51. Kf5 Be3 52. Be2 Kd5 53. Kg4 Kd6 54. f5 Ke5 55. Bd3 Bb6 ( other moves do not help 55. ... Kd4 56. f6 ) ( 55. ... Kf6 56. Kf3 Bb6 57. Ke4 and Kd5-c6 ) 56. Kg5 Ba5 57. Kg6 Bd8 

 Black stopped both pawns, but his problem is that he has no good moves left. 58. Be2 and one of pawns should be allowed to pass the 6-th rank with a win. ) 51. f5 Kd6 (otherwise, Kd5-c6 comes) 52. f6 Bd8 53. f7 Ke7 ( 53. ... Be7 54. Kf5 +- King comes to g8, while bishop defends the b5 pawn. ) 54. Bh5 followed by Kd5-c6, b5-b6 +- ) 
 46. gxh4 Kf5 


 Black starts feeling really secured, when the position gets ruined. 
47. Bc2+ Kg4 48. Ke4! 
 ( 48. f5 allows Black to grab "f" pawn, which is more valuable for him: 48. ... d1=Q 49. Bxd1+ Kxf5 king goes to h8-corner with a draw. ) 

 48. ... Kxh4 
 ( White easily wins after 48. ... Bxf4 49. Bd1+ Kg3 50. h5 again we see "one diagonal principle" in force. Black bishop is unable to stop both "b" and "h" pawns. ) 

 49. Bd1 +- ! 
 King is arrested on h4 and the d2 pawn is stopped by the same bishop (one diagonal principle), while White king supports his pawns and Black bishop can not cope with them alone. Black king is one tempo down to join the bishop. 

49. ... Bd8 50. Kd5 Kg3 51. f5 Kf4 52. Ke6 Ke4 53. Bc2+ Kd4 54. Kd7! 


 Right on time to attack the bishop. One of pawns promotes. 
54. ... Bb6 55. f6 Kc3 56. Bd1 
 ( Black resigned, while such line could happen: 56. Bd1 Kb4 57. f7 Bc5 58. b6 +- ) 

1-0




 Pavel Eljanov, who needs no introduction, has produced the following two OCBE, each of them is interesting in its own way. In the first, he masterfully used his king, leading it first to the king side and then back to the opposite side. In the second game, the most interesting bits were left in the analysis, that has been made by Pavel himself for ChessBase. 

 Eljanov, Pavel - Nataf, Igor Alexandre
 Calvia ol (Men)   2004.10.29 , E97


Even though Boris Avrukh (who annotated this game for ChessBase) said, the rest is easy, I find it instructive to follow Eljanov's technique. The most natural is to bring the king to support a-pawn. But in this case Black will attack pawn by Bf2 and organise his passed pawn on h-file. So, the first part of the plan is to prevent this counterplay. 47. Kf1 Bc7 48. Kg2 Kh6 49. Kh3 Bd8 50. g4! h4 


 A critical moment. How to make progress? 
51. g5+! 
 A double distraction helps White. 

51. ... Bxg5 52. a5 Kg7 53. a6 
 Black bishop was able to defend on h4 and to stop a-pawn from d8, but now it does not have time for coming to the only saving square f2. 

53. ... Be3 54. Kxh4 Kf6 


55. Kg3! Ba7 56. Kg2 
 Black resigned, because he cannot do anything against the long run of the White king to b7. 

1-0

 




 Nepomniachtchi, Ian - Eljanov, Pavel
 RUS-chT 17th   2010.04.04 , C67


Black's turn 40. ... Qxg2+! 
 The alternative was 40...Qh6, but Black decided to transfer the game to the position with 4 pawns for the bishop, where he was in no danger. 

41. Qxg2 Rxg2+ 42. Kxg2 Bxd7 43. e6+ Kf8 


 You can be surprised, that there is a diagram for a position, in which a pawn takes a bishop. But, think more and try to figure out the real reason for placing a diagram at this moment. 
44. exd7?? 
 ( 44. exf7! Somehow Bd7 appears less important here than pawn f7 - amazing! White seemingly builds up a fortress! 44. ... Kxf7 45. Kf3 Ke6 ( there is nothing to do on the king side: 45. ... Kg6 46. Kf4 Kh5 47. Kg3 Be6 48. Bc3 a3 49. Ba1 Kg6 50. Kf4 = ) 46. Ke3 Kd5 47. Kd2 Kc5 48. Bg7 Kb4 49. Bf6 Kb3 50. Be5 a3 51. Bf6 Ka2 (with idea of Kb1) 52. Kc1 = ! White successfully uses one diagonal rule. ) 

 44. ... Ke7 45. Kf3 Kxd7 -+ 


 4 isolated pawns appear stronger than a bishop! Probably, Nepomniachtchi felt safety here, since visually his bishop suits one diagonal idea (it controls squares in front of all Black's passed pawns - a1, c3 and f6). But the problem is that the f7 pawn does not need f6-square to move forward. 
46. Bf6 
 ( Here the alternative lines are. First, let's see if White has time to take on h7: 46. Kg4 Kc6 47. Kg5 Kb5 48. Kh6 Kb4 49. h5 a3 followed by c4-c3-c2 -+ ) 

 ( Now let's try to switch roles - king goes to the queen side, while bishop guards f-pawn. 46. Ke4 Kc6 47. Kd4 Kb5 48. Kc3 f5 49. Bc1 

 Now Black king should go to support f-pawn. 49. ... Kc5 50. Bf4 c6 51. h5 Kd5 52. Bc1 Ke4! 53. Kxc4 f4 54. Kc3 Kf3 55. Kd3 Kg3 56. Ke2 c5 -+ White king and bishop can not hold Black's pawns. ) 
 46. ... Ke6 47. Bc3 Kf5! 
 Black strengthens his position before throwing the king to the queen side. 

48. Bb2 c6 49. Bc3 a3 50. Bb4 a2 51. Bc3 c5 52. Ba1 


 Now it's time for the king. 
52. ... Ke6 53. Ke3 
 ( It is not so obvious that Black wins in case of 53. Ke4 f5+ 54. Kf4 

 How would you proceed here? 54. ... c3! Pawn frees the square c4 for the king. 55. Bxc3 Kd5 56. Kxf5 Kc4 57. Ba1 Kd3 and then c5-c4-c3 with a win ) 
 53. ... Kd5 54. Bc3 Kc6 55. Bf6 Kb5 56. Kd2 


 White looks safe. Did Black make a mistake? 
56. ... c3+! 
 Of course, not. A typical distracting pawn sacrifice helps Black to advance f-pawn and to break down White's harmony (one diagonal rule). 

57. Bxc3 f5 
 Now bishop can not stop all Black pawns on one diagonal. 

58. Kd3 h5 59. Be5 Kb4 60. Kc2 f4 61. Kb2 f3 62. Bg3 


 The last time in this game king runs to the king side. 
62. ... Kc4 63. Bf2 Kd3 64. Kxa2 Ke2 65. Bxc5 f2 66. Bxf2 Kxf2 67. Kb2 Kg3 68. Kc2 Kxh4 69. Kd2 Kg3 
 Despite there being a seemingly huge distance for White king to run to f1, it is just one tempo short. 

0-1

 



 Let me show one more example, where disconnected passed pawns appeared stronger than a bishop. 

 Keres, Paul - Tal, Mikhail
 USSR Championship   1957 , B14


White's turn 37. Bf8 
 ( White had to try 37. Kf2 in order to prevent Kg3, but Keres underestimated tactical skills of Tal - who could find a combination even in such dry endgame! Frankly speaking, after 37.Kf2 Black's chances to win are still much higher than White's chances to draw. All he needs to do is to create a second weakness on the king side. 37. ... g5 38. Bf8 Kh5 39. g3 

 Now Black fixes White pawns. 39. ... f4! White is not forced to react to this move. 40. g4+ ( after 40. Bc5 Kg6 41. Bf8 h5 White is forced to play g3-g4 anyway with the same positions. ) 40. ... Kg6 41. Ke2 b5 42. Kf2 Bd5 43. Ke2 h5 44. Kf2 The most resilient. White does not allow Black king to get activated. ( 44. gxh5+ Kxh5 45. Bb4 Kg6 46. Bc5 Kf5 47. Bd6 Here seemingly the simplest is 

47. ... Bxf3+! to remain in the topic of the game. 48. Kxf3 g4+ -+ with easily winning position. ) 44. ... h4! 45. Kg2 (only move) h3+ 46. Kxh3 Bxf3 47. Be7 White king holds the pawn, while White bishops tries to perform a double task - to control b-pawn and to prevent king's maneuver to the opposite side. Time for a zugzwang! 

47. ... Bd5 ( 47. ... Kf7?? 48. Bxg5 b4 49. Bxf4 b3 50. Bc1 = ) 48. Kh2 Be4 49. Kh3 Bf3 Black king is free. 50. Bb4 Kf7 51. Bc5 Ke8 52. Bb4 Kd7 53. Ba3 Kc6 54. Be7 Kd5 55. Bxg5 Kxe5 -+ ) 
 37. ... Kg3! 
 Black gives up a pawn to activate his king. 

38. Bxg7 h5 39. Bh6 


39. ... Bxf3! 
 ( Simply the strongest! Modest 39. ... h4 40. Be3 h3 41. gxh3 Bxf3 42. Bb6 Kxh3 43. Kf2 Bd5 looks a preface to another stage of the technical mission. ) 

 40. gxf3 Kxf3 
 Three disconnected pawns leave White no hopes for saving the game. 

41. Kf1 b5 42. Bd2 h4 43. Bb4 h3 44. Kg1 Ke2 
 White resigned. 

0-1




 Alexei Shirov is often compared with another Latvian player - former World Champion Mikhail Tal, under whom he studied in his youth. The next example shows how studying of classical games can be useful. 

 Topalov, Veselin - Shirov, Alexei
 Linares 15th   1998.03.04 , D85


There were many quotes and articles about importance of tempo in chess. This example is one of the most vivid possible illustrations of time factor in chess. In the position on the diagram Black needs to activate the king to assist his pawns. But after natural moves like ...a3, ...Be4 or ...Bc2 White king successfully arrives to e3 and blocks the central magistral. That's why Shirov plays... Try to find his move yourself! 47. ... Bh3!! 
 An amazing win of tempo - Black places the bishop on the attacked square without capturing anything in order to win time for the king. It is weird, but White is unable to cope with this! Comparing to Keres-Tal this sacrifice is many times more spectacular and harder to find - but who said, you can not exceed the original? 

48. gxh3 
 Topalov has decided to check the idea of his opponent. 

 ( The alternative 48. Kf2 was not better for him. 48. ... Kf5 49. Ke3 ( 49. Kf3 leads to positions similar to those, that happened in the game. 49. ... Bxg2+! 50. Kxg2 Ke4 51. Bxf6 d4 But here White has no pawn on h3 and his king on g2 (instead of f2). ) 49. ... Bxg2 50. Bb2 g5 51. hxg5 ( 51. h5 Be4 and then g5-g4, Kg5 -+ ) 51. ... fxg5 -+ White has no chances against 3 disconnected pawns. ) 

 48. ... Kf5 49. Kf2 Ke4 50. Bxf6 
 ( White can not stop 3 pawns after 50. Ke2 d4 51. Bb2 f5 -+ ) 

 50. ... d4 51. Be7 


 White bishop controls a-pawn, while his king is close to enough to the "d" pawn. How to continue? 
51. ... Kd3! 
 The key move of the combination - king comes to c2 guaranteeing the advance of the d-pawn. 

52. Bc5 Kc4 53. Be7 Kb3 
 ( White resigned since nothing can help to stop the Black pawns. 53. ... Kb3 54. Bc5 d3 55. Ke3 Kc2 56. Bb4 a3 -+ ) 

 0-1




 2013 became the year of Magnus Carlsen's win in the Candidates in London, but one, who saw the final round, will never forget that scenario, where both leaders (Kramnik and Carlsen) lost their final games, since both were not content with a draw at the beginning of their games. So, Kramnik was Norwegian's main opponent in that historical competition and here one of his games, in which he was close to scoring an extra half a point. However, his best (or only real?) chance was much earlier (on move 24) than the OCBE arose. Later Aronian convincingly demonstrated that 2 extra pawns can be equal "0" in OCBE. 

 Kramnik, Vladimir - Aronian, Levon
 FIDE Candidates   2013.03.20 , A07 


Black is two pawns down, but Aronian correctly used "one diagonal principle" to save the game. 44. ... Kf7 45. Bxh7 Kxf6 46. Kd5 
 ( Black has a relatively easy holding setup in case of the immediate pawn advance: 46. g4 Kg5 47. h3 Bd8 Bishop moves along the d8-h4 diagonal, while king is always ready to take on h3. 48. Ke5 Kh4 ( Position is so drawn, that even wasting two moves does not prevent Black from saving the game: 48. ... Bf6+ 49. Ke6 Bd8 50. Bb1 ( or 50. Kf7 Kh4 51. Ke8 Bg5 52. d8=Q Bxd8 53. Kxd8 Kxh3 54. g5 Black is a bishop down, Black king is behind of the opponent's passed pawn, but after simple 54. ... Kh4 = White can not save his last pawn. ) 50. ... Kh4 51. Kf5 Bg5 = without any resources for White to play for a win. ) 49. Bf5 Bg5 50. Ke6 

 The last chance. Can Black take on h3? 50. ... Kg3! Black waits for a good moment to take on h3. ( 50. ... Kxh3?? 51. d8=Q Bxd8 52. g5+ +- ) 51. Kf7 Kh4 52. Kg6 Bd8 53. Kf7 Bg5 54. Ke8 Kxh3 55. d8=Q Bxd8 56. g5+ ( 56. Kxd8 b1=Q 57. Bxb1 Kxg4 ) 56. ... Kh4 57. g6 Bf6 = ) 
 46. ... Ke7 47. Kc6 


47. ... Kd8! 
 Black needs to stop White connected pawns on h4, g5 squares, that's why king blocks the pawn on d8 to free the bishop from guarding the c7-square. Switching the roles is definitely one of the most difficult tricks in OCBE! 

 ( 47. ... Bd8? 48. Bb1 Ke6 49. h4 +- and nothing can stop White pawns. ) 

 48. g4 Be1 
 White needs now to organise a quick pawn advance, but Black is safe in all lines. 

49. h3 
 ( After 49. g5 Black wins this pawn by 49. ... Bh4 since White can not block b1-h7 diagonal. ) 

 49. ... Bh4 


50. Kd6 Be7+ 51. Ke6 Bh4 52. Bb1 Kc7 53. Be4 
 ( 53. Kf5 Kxd7 54. g5 Ke7 = ) 

 53. ... Kd8 54. Bc2 
 Before trying the last chance Kramnik wins some time on his clock. 

54. ... Kc7 55. Bb1 Kd8 56. Be4 Kc7 57. Bd3 Kd8 58. Kd6 Be7+ 59. Ke6 Bh4 60. Bf5 Kc7 


 It is time to begin the last fight. 
61. Kf7 b1=Q 62. Bxb1 Kxd7 63. Ba2 
 ( 63. Kg6 was less dangerous for Black. 63. ... Ke6 64. Kh5 Be7 65. Kh6 Kf7 66. Ba2+ Kf8 67. g5 Bxg5+! 68. Kxg5 Kg7 = ) 

 63. ... Kd6! 
 Black king is heading to attack White pawns from rear. 

64. Kg6 Ke5 65. Kh5 Be7 66. g5 Kf4 67. h4 
 ( After 67. g6 Bf8 White king is trapped on h4, h5 squares. ) 

 67. ... Kg3 


68. Bc4 
 ( Chess is a tragedy of one tempo! a2 is probably the only square, from which Bishop can not help White to win: 68. g6 Bf8 69. Kg5 Be7+ 70. Kf5 Bf8 71. h5 Kh4 = and there is no way to defend h5-pawn. ) 

 68. ... Bf8! 
 The last accurate move for Black, the rest is simple. 

 ( A waiting 68. ... Kh3? would lose to 69. g6 Bf6 70. Bd3 Kg3 

 71. Bf1 +- Zugzwang! White king gets one of two squares to advance - g5 or h6. ) 
 69. Be2 Bg7 70. Bc4 Bf8 71. g6 Kf4! 
 Here is the whole idea of the defence - Black traps the king on h5. 

72. Ba2 Bg7 
 Draw. Despite the seeming ease with which Black achieved the final result, Levon Aronian put a lot of work into calculating all lines and to make a series of only moves to achieve the desirable outcome. 

1/2-1/2 




 Studying the next game will present you with a lot of nice tactical motives. In most of them White struggled, because his bishop was unable to be simultaneously on more than one diagonal. 

 Nakamura, Hikaru - Carlsen, Magnus
 6th Tal Memorial   2011.11.25 , E15


Although, there will be a special chapter dedicated to analysis of OCBE with rooks, let me to start analysis of this game from the position on the diagram to show how the pure OCBE began. At first sight, it seems that ...d4 and the following rook exchange should not bring much, but Magnus Carlsen demonstrated the idea, that helps to seize a big advantage. 31. ... d4 32. Bd2 Rxe1+ 
 Carlsen decides do not leave rooks on the board by move 32...Be2. I have not analyzed the ending with rooks on the board, since there was no need for this; I could not find any drawn idea for White in the pure OCBE. So, Carlsen's intuition was absolutely OK. 

33. Bxe1 Be2! 
 The key - Black locks White king out that forces next Nakamura's move. Similar idea will appear in the Ponomariov-Nielsen. 

34. f4 
 Otherwise Black king arrives to c2 to support the d4 pawn. 

 34. ... gxf3 
 Now Black has two extra pawns, but considering a presence of OCB's on the board, one can guess, that White has saving chances. But Magnus leaves no place for such illusions. 

35. Bf2 
 Before developing his king Nakamura forces Black to advance the d4 pawn to d3 to block the path to the queen side for Black king. 

35. ... d3 36. Be1 Kg7 37. Kf2 Kf6 38. Ke3 Kf5 39. h3 h5 40. Bd2 Bf1 


 So far nothing really interesting happened, now it is time for critical decisions! White can play one of three - h3-h4 or to exchange that pawn for d3 or f3. 
41. Be1 
 ( At first, let's see 41. h4 variation. Probably, there are some other simple ways, but I offer the following plan. First Black bishop moves to d5 to get more activity. 41. ... Be2 42. Be1 Kg4 

 43. Kf2 ( A waiting 43. a3? loses by force to 43. ... f5 44. b4 ( now there is no time for 44. Kf2 because of 44. ... f4 45. gxf4 Kxh4 followed by a march of h5 pawn. ) 44. ... Kh3 with idea Kg2-f1, that forces White to play 45. Kf2 But now f5-f4 is working again: 45. ... f4 46. gxf4 Kxh4 -+ ) 43. ... Bd1 ( 43. ... f5? will be met by 44. Bd2 and it is impossible to bring the king back to the queen side. ) 44. Bc3 Bc2 45. Bd2 a5 46. a3 Otherwise, Black plays Bb1-a2-d5 (let's note here a beautiful maneuver, made by Black bishop - f1-e2-d1-c2-b1-a2) . 46. ... Bb3 47. Be3 Bd5 48. Bd2 The second stage of Black's plan is to bring the king to the queen side, but before that there is one more important thing to do. 

48. ... a4! ( Stopping b2-b3, which is a good resource in the case of direct king's advancing. 48. ... Kf5 49. Ke3 Be4 50. Bc3 Ke6 51. b3! and Black needs to spend time to bring the king back to g4 to enforce Bd5 to attack that pawn. The clearing sacrifice 51. ... a4? fails to an interesting maneuver by White: 52. bxa4 Kd5 Can you find this saving idea? 

53. Be1! Kc4 54. Kd2! Kb3 55. Bf2! Kxa3 56. Bxb6 Kxa4 57. Kc3 = with an inaccessible fortress along the whole board. ) 49. Bb4 Now everything is ready for the king's running. 49. ... Kf5 50. Ke3 Be4 51. Bc3 Ke6! Bishop surely can not be taken (even with the bishop on e1 it would be impossible due to f3-f2 and d3-d2). 52. Be1 Kd5 53. Kd2 Kc4 54. Bf2 b5 55. Be3 Kb3 56. Bd4 Test yourself! White looks safe for a moment, but a double distracting pawn sacrifice wins the game. 

56. ... b4! 57. axb4 f2! 58. Bxf2 Kxb2 -+ and the a4 pawn wins the game. ) 
 ( In the home analysis 41. Kxf3 looks the most resilient, but here Black also has the breakthrough way. 41. ... Bxh3 42. Bc3 Bf1 First, Black grabs g4 square for the king. 43. Kf2 Be2 44. Ke3 Kg4 

 45. Be5 It is the best possible square for the bishop; on e1 it is passive. ( 45. Be1 f5 46. Bf2 b5 Before playing f5-f4 Black forces White to weaken the queen side. 47. a3 ( 47. Be1 loses to 47. ... f4+ 48. gxf4 h4 -+ ) 47. ... a5 48. b3 f4+ 49. gxf4 h4 50. Bg1 h3 51. Bh2 b4 52. axb4 axb4 53. Kd2 Kf5 54. Ke3 Bd1 55. Kxd3 Bxb3 -+ and then Bf7, b4-b3 and king comes to g2 (principle of one diagonal: Bf7 stops f-pawn and defends b3 pawn). ) 45. ... f5 46. Bb8 

46. ... Bf1! ( Considering Black's idea, it is wrong to advance pawns on the queen side since it makes possible for White a bishop's sacrifice: 46. ... b5? 47. Bc7 Bf1 48. Bd6 f4+ 49. Bxf4! h4 50. gxh4 d2 51. Kxd2 Kxf4 52. h5 Kg5 53. Kc3 Kxh5 54. Kb4 Kg4 Considering a distant place of Black king, White is able to save the game. Please calculate precisely! 

55. Ka5! ( A natural 55. a4?? loses 55. ... a6 56. Ka5 Be2! To defend on a4. 57. Kxa6 bxa4+ 58. Ka5 Bd1 59. Kb4 Kf4 And White king can not enter to the corner. 60. Ka3 ( or 60. Kc3 Ke3 -+ ) 60. ... Bb3 -+ ) 55. ... Kf3 ( 55. ... Be2 56. Ka6 = ) 56. a4 bxa4 57. Kxa4 Ke3 58. b3 = and King goes to a1. ) 47. Be5 f4+ 48. gxf4 ( now 48. Bxf4 is pointless: 48. ... h4 49. gxh4 d2 50. Kxd2 Kxf4 51. Kc3 and here 

51. ... Bb5! 52. Kd4 Be8 -+ ! followed by Bf7 builds a wall in front of the White king. ) 48. ... Kf5 49. Bc3 White needs to bring the bishop to e1 in order to stop h-pawn. 49. ... h4 50. Be1 

50. ... d2! A new distraction! ( There is also another nice possibility: 50. ... Kg4 51. Kf2 Kxf4! 52. Kxf1 Kf3 -+ ) 51. Kxd2 ( 51. Bxd2 h3 -+ ) 51. ... Kg4 52. Bxh4 ( 52. Bf2 h3 53. Bg1 Kf3 and Kg2 enforces a promotion. ) 52. ... Kxh4 53. Ke3 Kg4 54. Ke4 Bc4 55. b3 Bg8 56. Ke5 Bh7 -+ Black wins. ) 
 41. ... Bxh3 42. Kxd3 
 42.Kxf3 leads to the positions from analysis to previous White's move. 

42. ... Bf1+ 43. Ke3 Kg4 44. Kf2 Bb5 
 Bishop goes to a better diagonal. 

45. Bc3 Bc6 46. Be5 b5 47. Bb8 a6 
 Pawns are removed from dark squares. 

48. Bc7 f5 49. b3 Bd5 
 Not hurrying up. 

50. Bd6 


 Time for a breakthrough. 
50. ... f4! 51. gxf4 
 ( 51. Bxf4 h4 -+ ) 

 51. ... h4 52. f5 Kxf5 53. Ke3 
 ( 53. b4 does not help since no one defends a2 pawn: 53. ... Ke4 54. a3 Kd3 55. Be7 h3 56. Bd6 Kc3 57. Kg1 Kb3 58. Bc5 Kxa3 59. Kh2 a5! 60. bxa5+ Kb3 then Kc4 and b5-b4-b3. ) 

 53. ... Kg4 54. Kf2 h3 55. Ke3 


55. ... Be4 
 ( Here Carlsen missed an instructive combination: 55. ... Bxb3!! 56. axb3 a5 -+ and one of three Black pawns promotes. But of course, there was no necessity to demonstrate something special. ) 

 56. Kf2 Bb1 57. a3 Ba2 58. b4 Bf7 
 Nakamura gave up because Black plays Bh5 and brings his king to the queen side winning a3 pawn. 

0-1

 
 



 4.4 
Bad "good" pawn structure 
 
 We do know, that if you are getting a worse position in the OCBE the best chance is to place your pawns on the squares of color of your own bishop. But there is always room for exceptions. 

 Bologan, Viktor - Gurevich, Mikhail
 Saint Pierre m   2000.09.08 , B07


White is slightly better due to a good bishop, but in fact so far there is nothing dangerous for Black. Gurevich decided to fasten the drawn final, and placed his pawns on the "correct" squares. 39. ... fxg4 40. fxg4 g5? 
 Surprisingly, this move appears to be practically a decisive mistake. 

41. h5 Ke7 


 How would you play here? 
42. Ra8! 
 We often misjudge such modest exchanges. At first sight, it seems as though, White also decided to fasten the end. The "b" pawn is passed, but it should be easily stopped by king and bishop, while the White king, at first sight, has no dangerous ways into opponent's territory. But if you look at the position deeper, you will see the h6 pawn. It is this pawn that becomes Black's second and decisive weakness. White's plan is to distract Black king from square e6 and to win that pawn. Even such a technical player as Mikhail Gurevich could not save the game. 

42. ... Rxa8 
 Rook's moves along the 8-th rank would not change much. The scenario and the evaluation would remain the same. 

43. Bxa8 d5! 
 This pawn sacrifice is definitely the best saving chance. Without access to d6-square Black pieces are unable to offer any resistance. How to recapture now? 

 ( After some slow play like 43. ... Bf2 White king enters to the king side to win on h6, which is Black's main weakness. 44. Bd5 Be1 45. Kc4 Kd7 46. b4 Kc7 47. b5 Bf2 48. Bf7 Kb6 49. Be8 and then Kd5, Ke6 etc. ) 

 44. exd5! 
 ( White correctly solves the problem. After careless 44. Bxd5? Black king fills in the main hole in Black's castle - square d5. 44. ... Kd6 45. Kc4 Bd4 46. b4 Be3 47. Kb5 Bd4 48. Ka6 Kc7 with a fortress. ) 

 44. ... e4+? 
 If square-d6 was extremely important for Black, square-e5 gives practically nothing. At the same time a possibility of pushing this pawn forward could cause some technical problems for White. 

 ( Black's best chance was to stay put and to follow the corresponding squares by the king: e4-f6; d3-e7; c4-d6; b5-c7. Bishop is more free in this endgame and can run almost everywhere, but when the "b" pawn starts running, it will need to come to a7-g1 diagonal. 44. ... Ba3 45. Ke4 Kf6 46. Bb7 Bd6 47. Bc8 Bb4 48. Bf5 Bd6 49. Kd3 Ke7 50. Kc4 Kd8 51. Kb5 ( The problem is that with a pawn on e5 he can not simply threaten to bring the king to the king side - Black has a counterplay, connected with his passed pawn: 51. Be6 Kc7 52. Kd3 Kb6 53. Ke4 Kc5 54. Kf5 Kd4 it still could be winning, but who would like to see this on the board in such a no-counterplay position? ) 51. ... Kc7 52. b4 Kb7 ( Black can also try to swap roles by placing the king on d6 and bishop on a5-d8 diagonal, but then White king uses the 8-th rank. 52. ... Be7 53. Ka5 Kd6 54. Be4 Bf6 55. Kb6 Bd8+ 56. Ka6 Bc7 57. Kb7 Bd8 58. b5 Kc5 59. Kc8 Ba5 60. Kd7 Kxb5 61. Ke6 Kc5 62. d6 Kd4 63. Kf5 Be1 64. d7 Ba5 65. Bb7 Bc7 66. Kg6 e4 67. Kxh6 e3 68. Ba6 +- ) 53. Be4 Kc7 54. Ka5 Kb7 55. b5 Bc5 

 Unfortunately for Black, this position appears lost for him, but it was still his best chance. By the way, do you see how White proceeds here? 56. b6! White clears the way for White king to the king side. 56. ... Bxb6+ 57. Kb5 Bd4 58. d6+ Kc8 59. Kc6 Kd8 60. Kd5 Ke8 ( or 60. ... Kd7 61. Bf5+ and Ke6 with the same variations ) 61. Ke6 Bc5 62. d7+ Kd8 63. Bc6 Bb6 64. Kf6 e4 65. Kg6 e3 66. Bb5 +- ) 
 45. Kxe4 
 Without pawn on e5 White wins more easily. Black can not control both White pawns and to defend on h6 successfully. 

45. ... Kf6 46. Bb7 Bd6 47. Kd4 Ba3 48. Bc8 Bd6 49. Bf5 


49. ... Ba3 
 ( 49. ... Ke7 50. Kc4 Kd8 51. b4 Kc7 52. Be6! White frees square f5 and Black should be ready to meet Ke4 with Kf6, so he should play 52. ... Kd8 but then White crushes him on the queen side: 53. b5 Bg3 54. b6 Bf2 55. Kb5 +- ) 

 50. Be6 Bd6 51. Kc4 Ke7 52. b4 Bg3 53. Kc5 Bd6+ 54. Kb5 Kd8 55. Kc4 Ke7 56. b5 


56. ... Be5 
 ( 56. ... Ba3 57. b6 Kd6 58. b7 Kc7 59. Bc8 Bd6 60. Kd4 and king again goes to h6-pawn. ) 

 57. Kc5 Bd6+ 58. Kc6 Bf4 59. b6 Be5 60. Kb7 Kd8 61. Ka8 
 Black resigned. 

1-0

 
 



 4.5 
Solve puzzles! 
 
 
 Many players (especially young) do not understand a reason to study endgames and to solve puzzles. Sergey Karjakin definitely was not one of them, and next save of Minister of Defense (as he was called during the World Championship Match vs Carlsen in 2016) teaches us to be more attentive when we solve - any idea can arise in our game! The Russian applied the idea which is well known from pawn endgames. 

 Karjakin, Sergey - Nakamura, Hikaru
 Renova FIDE GP Zug   2013.04.18 , C11


Play goes for two results; White struggles for a draw having weaknesses on a4 and h2 and fighting against two bishops. But luckily for Karjakin his position is too solid. 61. Kc2 Bd8 62. Kd2 Kd7 63. Nc2 Ke8 64. Be3 Bc7 65. Bf4 Be4 66. Nd4 Kd7 67. Kc1 Bg6 68. Kb2 Be8 69. Kb3 Bg6 70. Kb2 Bd3 71. Kb3 Bb6 72. Kb2 Ke7 73. Kb3 Kf7 74. Kb2 Ba6 75. Kb3 Kg6 76. Bd2 
 ( 76. Nxe6? Bg1 -+ ) 

 76. ... Bc8 77. Kb2 Bd7 78. Kb3 Bc5 79. Bc1 


79. ... Bxd4 
 After long maneuvering Nakamura uses his only practical chance - to enter through f5-square. 

80. cxd4 Kf5 
 King runs to take on h2, but White has a simple puzzle idea - to close the king on h2 with his king standing on f2. The American made another series of moves and finally arrived to the destination to make sure that there is a draw. The corresponding squares in this endgames look like this: c3-e4; f3-d2; g2-e1; h2-f2. 

81. Kc3 Ke4 82. Ba3 Bxa4 
 One pawn is taken, but a-pawn has no hopes to become the queen. 

83. Bb2 Ke3 84. Ba3 Bb5 85. Bb2 a4 86. Ba3 Bc4 87. Bb2 Bb3 88. Ba3 Ke2 89. Bb2 Bd1 90. Ba3 Kf2 91. Kd2 Kg2 92. Ke1 Bb3 93. Bb2 Kf3 94. Kd2! 
 Black king should not come to e3. 

94. ... Ba2 95. Ba3 Bc4 96. Bb2 Ke4 97. Kc3 Kf3 98. Kd2 Kg2 99. Ke1 Kxh2 100. Kf2 Kh1 101. Ba3 Be2 
 A little trick from an experienced ICC player. 

102. Bb2 h2 103. Ba3 Bd1 104. Bb2 Be2 105. Ba3 Bd1 106. Bb2 Be2 107. Ba3 
 Agreed for a draw. 

1/2-1/2 




 Here one of the simplest and the most famous pawn and king studies, where this idea has been applied in its original version. 

 Pawn puzzle - 


White king is hopelessly behind in running to the king side. But the blocking idea saves the game. 1. g3 Kf2 2. Kd2 Kg2 3. Ke3 
 ( 3. Ke2?? loses to 3. ... h4 -+ ) 

 3. ... Kxh2 4. Kf2 Kh3 5. Kf3 = 

 
 



 4.6 
Trapped king as an idea to get a free piece in OCBE 
 
 
 I think, we have already understood some nuances of OCBE positions with a minimal number of pawns and can switch to more complex cases. Even though the next ending is not the most difficult, but the way in which, Ruslan Ponomariov has beaten his experienced opponent, amazed me. When you see such games, you start thinking, that you also can play like this, but of course, it is a sign of a great master. 

 Ponomariov, Ruslan - Nielsen, Peter Heine
 Sportaccord World Mind Games    2011.12.09     


Even though, the position on the diagram looks not much dangerous for Black, Ruslan Ponomariov easily won the game. Let's try to figure out what Black did wrong. 23. ... Rxc1 24. Rxc1 Rc8 
 Of course, Black could continue to play with rooks on the board, but our main interest starts from a pure bishop ending. 

25. Rxc8+ Bxc8 26. Bc5 
 Such an idea was already seen in the Nakamura-Carlsen - Black king got locked in the corner, and bishop remains the only piece to hold the position. It was a critical moment for Black, but when you play the rapid game, it is not easy to feel the moment and to understand that it is the last chance to make a correct decision. As usually happens, the right method was a prophylactic thinking. What does White want here? It can seem, that there is no real threat. When White king comes to b6, Black bishop defends the pawn from c6. After that a2-a4 and b2-b4 looks only smart idea for White, but Black can just wait for b4-b5 to exchange a-pawns and to retreat to d7 or e8. White king will not be able to take on b7 without losing on b5. But in that moment king can switch to d-pawn, and to advance his d-pawn, keeping the bishop on e7 to control the Black king. So, Black needs to do something. Luckily, there is not a big selection of possible ideas. Black needs to fix the d3 pawn by d5-d4. On the one hand, White bishop can not leave f8-square (Black king will run to c6 with an obvious draw), on the other hand, White king will not come around that pawn without losing on d3 (after Bf5). So, the long plan of White could be stopped only now by d5-d4 idea. 

26. ... Bf5? 
 ( 26. ... d4! 27. Bxd4 ( 27. Kc2 Bf5 = ) 27. ... Kf8 28. Kc3 Ke8 29. Ba7 Kd7 30. Kd4 Kc6 31. Ke5 Be6 = ) 

 ( A more difficult way to defend the position is also connected with d5-d4 idea. 26. ... h6 27. Ke3! The most dangerous for Black. ( If White takes on h6, Black attacks the pawn and plays d5-d4. 27. gxh6 Kh7 28. Be3 d4 = ) 27. ... hxg5 28. hxg5 

 28. ... a5 ( Black should push a6-pawn, since passive strategy does not help - White has a breakthrough. 28. ... Bf5 29. d4 Bd7 30. Kf4 Bc6 31. Ke5 Kh7 32. Be7 Kg8 33. b3 Kh7 34. a4 Kg8 35. a5 Kh7 36. b4 Kg8 37. Kd6 Kh7 38. Kc5 Kg8 

39. b5! Bxb5 ( 39. ... axb5 40. a6 +- ) 40. Kxd5 and the d4 pawn is unstoppable. ) 29. d4 a4 30. Kf4 Bf5 31. Ke5 Bb1! Surprisingly, Black can give up on d5 and still stop the d4 pawn. 32. Kxd5 ( with pawns on h4 and h7 White could win in the following way: 32. a3 Ba2 33. Kd6 Bc4 34. Kc7 b5 35. Kc6 but now Black king has enough space. 35. ... Kh7 = Bc4 defends both b5 and d5 pawns, while the king moves in the corner unless White attacks on f7, then the bishop starts moving. ) 32. ... Bxa2+ White can not arrange the advance of the d-pawn without freeing the Black king. Bishop and the b7 pawn have defending ideas against any of White's tries. 

33. Ke5 ( the alternative try is 33. Kd6 Bc4 34. d5 Bb3 35. Bb4 Ba2 36. Kc5 Kf8 = ) 33. ... Bb3 34. d5 Bc2 35. Be7 Bf5 36. Kd6 ( 36. Kd4 b6! The key move - pawn defends c5 square and further pushing of the White king is impossible. 37. Kc4 ( 37. Bd8 Kf8 38. Bxb6 Ke8 = ) 37. ... Bd7 38. Kb4 Be8 39. Bd8 Bd7 40. Bxb6 Kf8 = ) 36. ... Be4! 37. Kc5 b6+! 38. Kc6 Bf3 White should free the Black king 39. Bd8 Kf8 40. Bxb6 Ke8 = ) 
 27. Ke3 


 Seemingly, from here Black is lost, although, I would not bet all I have for 1-0 (the only thing I know for sure about OCBE is that there is nothing we can know for sure about OCBE; fortresses are being built here and there all the time). 
27. ... Bh3 
 In the game Black offered no resistance to White's plan. 

 ( The interesting semi-fortress arises in the following variation. 27. ... h6 28. gxh6 ( as we already saw 28. d4 hxg5 29. hxg5 a5 30. Kf4 a4 31. Ke5 Bb1 is a draw (see analysis of 26...h6). ) 28. ... Kh7 29. Bf8 Kg8 30. Bg7 

 The bishop took the most disadvantageous square, and Black bishop now has to fight just against the White king, but White is still able to breakthrough. His plan is to play d3-d4, to bring the king to c7 to force bishop coming on c6 and then goes to e7 (without bishop on e6) and plays h6-h7. To get a chance here Black needs to understand which pawns are more crucial to defend. Surely, pawns f7 and d5 are more critical, because losing of any of them creates a unstoppable pawn for White. So, the b7 pawn can be left for the opponent, and a-pawn should go to a4. But if he has his bishop on e6 (to defend d5 and f7 pawns), White can organise a passed pawn on the queen side (taking a-pawn or exchanging one pair of pawns). So, the final conditions for an optimal play sound like this: to be able stopping a2 and b2 pawns with a-pawn and bishop, to defend d5 and f7 pawns, to prevent h6-h7 distraction of the king from f7 pawn. When we have performed such an analysis, the move order can be found. ( When the win with a bishop on g7 had been already found, I have seen, that there is simpler way to defend h6 pawn. 30. Bd6 Kh7 31. Bf4 Now the win is much easier surely, but the play with a bishop on g7 is so interesting, that I decided to save the following analysis for the book. ) 30. ... a5 31. d4 a4 32. Kf4 Bb1 33. a3 Bf5 34. Ke5 Be4 35. Kd6 g5! Black needs g6-square itself and those diagonals, on which it is placed. Otherwise, Black will need to make this move by force. 36. hxg5 Kh7 37. Kc7 Bd3 38. Kxb7 Be4 White is three pawns up, but the winning plan is not as easy as one, two, three. Without bishop's support White king does not win (bishop successfully defends both a4 and d5 pawns, while the f7 pawn has even two possible defenders). At first sight, bishop can not help much, since all Black pawns are on the light squares. But, there is an idea to play b2-b4 in order to organise a passed pawn. If White tries to organise this with a king's assistance, Black brings his bishop to b3 with a safe blockade. So, bishop should go to c3, while king attacks f7 pawn to stick Black bishop there (if Black king defends on f7, White advances h6-h7). Now following lines are easy. 

39. Kc6 Kg6 ( 39. ... Kg8? allows White to block the bishop activity with a return-sacrifice: 40. g6! fxg6 ( 40. ... Bxg6 41. Kxd5 and the d4 pawn becomes a queen. ) 41. Kd6 g5 42. Ke7 Bg6 43. h7+ Kxh7 44. f7 +- ) 40. Kd6 Bf3 Bishop goes to h5 to support his king. ( Another g5-g6 tactics comes after 40. ... Kh7 41. g6+!! Kxg6 ( 41. ... Bxg6 42. Kxd5 +- ) 42. Ke7 Bf5 43. Kf8 +- with a threat Kg8, h6-h7. ) 41. Ke7 Bh5 Black defended all he could. Now it is time for the bishop! 

42. Ke8! a3-f8 diagonal is free. 42. ... Kh7 43. Bf8 Kg6 44. Bb4 Kh7 45. Bc3 Kg6 46. b4! axb3 47. a4 +- ) 
 ( Black can try to advance pawn to a4 first without giving up his "h" pawn. 27. ... a5 28. d4 a4 29. Kf4 Bb1 30. a3 b5 31. Ke5 Ba2 32. Kd6 Bb3 33. Kc6 Bc4 

 At first look, Black should be safe here, but the zugzwang issue appears again and again. 34. Be7 Kh8 ( Giving up b5 pawn does not save: 34. ... Bb3 35. Kxb5 Bc2 36. Kb4 Bd1 37. Kc3 Bb3 38. Bc5 

38. ... Kh8 ( 38. ... Bc4 39. b4 axb3 40. a4 +- then bishop goes to a3 and king supports "a" pawn. ) ( 38. ... h6 39. gxh6 Kh7 40. Bf8 Kg8 41. Bg7 +- and king coming to e7. Position will transpose to the 27...h6 variations. ) ( 38. ... Bd1 

39. b4 axb3 40. Kb2 +- ! ( 40. a4? b2 = ) ) 39. Bf8 Kg8 40. Bg7 Bd1 ( 40. ... Bc4 41. b4 axb3 42. a4 +- ) 41. b4 axb3 42. Kb2 +- ( 42. a4 b2 = ) ) 35. Bf8 Kg8 36. Bg7 Ba2 37. Kxb5 Bb3 38. Kb4 Bd1 39. Kc3 Bb3 The last instructive moment. Black achieved maximum in my opinion, but White again finds a resource to win. 

40. Bh6! A triangulation to give up a turn. 40. ... Kh8 ( 40. ... Bc4 41. b4! axb3 42. a4 Kh8 43. Bf8 Kg8 44. Ba3 +- and White king is ready to help the "a" pawn. ) 41. Bf8 Kg8 42. Bg7 and Black bishop should allow White playing b2-b4. 42. ... Bc4 43. b4 axb3 44. a4 +- ) 
 28. Kf4 Bf5 29. d4 Bb1 30. a4 a5 
 ( Passive defence gave no hopes. 30. ... Bc2 31. a5 Ba4 32. Ke5 Bc6 33. b4 Kh8 34. b5! axb5 ( after 34. ... Bxb5 35. Kxd5 d4 pawn promotes. ) 35. Kd6 with inevitable a5-a6. ) 

 31. b4 axb4 
 ( An alternative was 31. ... Bc2 32. bxa5 Bxa4 33. Ke5 Bb3 ( 33. ... Bc6 34. Kd6 +- and a5-a6. ) 34. Kd6 Bc4 35. Kc7 Ba6 

 Black defended pawns, but zugzwang helps again. 36. Bd6 Kh8 37. Bf8 Kg8 38. Bg7 h5 39. gxh6 Kh7 40. Kd6 +- followed by Ke7 and h6-h7. ) 
 32. Bxb4 Bd3 
 ( 32. ... b6 was more resilient, although, the winning way would not be so difficult. 33. Ke5 Ba2 34. Kd6 Bb3 35. Kc6 Kh8 ( 35. ... Bxa4+ 36. Kxd5 Bb5 37. Be7 Ba4 38. Kd6 and Black can not stop "d" pawn. ) 36. Kb5 Kg8 37. Bd6 Bd1 Now White can free the Black king - the a4 pawn will guarantee the win. 38. Bc7 Kf8 39. Bxb6 Ke8 40. a5 Kd7 41. a6 Be2+ 42. Ka5 Kc6 43. a7 Kb7 

 Black king broke through the blockade and helped to stop a-pawn, how to win? 44. Kb4 +- ! and king goes to take on ... h7! ) 
 33. a5 Bc4 34. Ke5 Bb3 35. Kd6 Bc4 
 ( 35. ... Kf8 36. Kd7+ Kg8 37. Kc7 +- ) 

 36. Kc5 Kh8 37. Kb6 Ba6 


 Now it is time for a zugzwang idea. 
38. Bf8 Kg8 39. Bg7 h5 40. gxh6 Kh7 41. Kc7 
 King goes to e7. 

41. ... Kg8 42. Kd6 Bc4 43. Ke7 
 Black resigned since h6-h7 is coming. The excellent example of master technique and a good exercise to learn creating long term plans. 

1-0

 
 



 4.7 
One weakness is not enough 
 
 
 The idea of two weaknesses is known practically to every club player. I personally even remember the book, where I read it at first (well, many of you probably remember the same) - 'My System' by Aron Nimzowitsch. To describe it in a few words, we can say, that when one player is better and pushes on one side without decisive effect, often all he needs is to create a second weakness. It will be much harder (or impossible) for the opponent to take care of both problems. 
 In the next example Ukrainian Super-GM missed the moment to completely equalize the game, and found himself in the situation, where he should hold two weaknesses. His opponent did not give him any chance to escape. 

 Shirov, Alexei - Ivanchuk, Vassily
 Linares 12th   1994 , C48


In the position on the diagram White has better chances because of better prospects of his king, that can come to the center first, and thanks to better pawn structure (especially I would like to focus your attention on the e5 pawn, who restricts his bishop and leaves d5 squares undefended). But surely, all this is just a preface; objectively position should be drawn. 28. Ke2 
 King goes to c4, d5 squares. 

28. ... Be7! 
 Ivanchuk activates his bishop in order to move opponent's pawns to light squares. 

 ( In case of 28. ... Kg7 29. Ke3 Kf6 30. h4 h6 31. Ke4 more pawns would leave on the board, and Black would have less counterplay. Moreover, Bd6 is too passive at the end of the line. ) 

 29. Kd3 Bg5 30. Kc4 Bc1 31. b3 Bd2 32. Kxc5 Bxc3 
 "c" pawns have been exchanged, but now Black bishop should secure the queen side pawns before his king gets some activity. 

33. Be4 
 ( 33. f6?! would simplify position too much: 33. ... e4! A pawn sacrifice is necessary, since otherwise, White plays Be4 and Black king will be out of the play for a long time. 34. Bxe4 Bxf6 35. Bxb7 Kg7 36. Be4 Bc3 37. b4 h6 38. a4 Kf6 39. b5 Ke5 40. Bf5 Ba5 41. Kc6 Bb6 42. Kb7 Kd6 = 

 King and bishop easily stops the queen side pawns of White, while there are no problems on the opposite side of the board. ) 
 33. ... Kg7!? 
 It is a proper moment for activation of the king. The b7 pawn is not so important. 

 ( Black could also give up a7 pawn: 33. ... b6+?! 34. Kb5 Kg7 35. Ka6 Kf6 36. Kxa7 b5 

 but it would make creating a passed pawn easier for White: 37. h4 ( 37. a4? allows Black to activate the king: 37. ... bxa4 38. bxa4 Kg5 39. Kb6 Kf4 and White can't stop h7-h5. 40. Bd3 ( or 40. Bd5 h5 41. gxh5 Kxf5 42. Bxf7 Kf6 = ) 40. ... h5 41. gxh5 e4 42. Bc4 Kxf5 = coming to the corner and giving up the bishop for the "a" pawn. ) 37. ... b4 ( 37. ... h6 seemingly does not change much: 38. a4 bxa4 39. bxa4 Be1 40. h5 Kg5 41. Bf3 Kf4 42. Bd1 e4 43. Kb6 Black does not have enough time to win the bishop for the "e" pawn and to get back to pick up on g4. 43. ... Ke3 44. a5 Kd2 45. Ba4 e3 46. Bb5 Bf2 47. Kb7 e2 48. Bxe2 Kxe2 49. a6 +- followed by a6-a7 and g4-g5. ) 38. g5+ Ke7 39. Kb6 now King goes to a4 to advance a2-a3. 39. ... Kd6 ( 39. ... f6 40. g6 hxg6 ( 40. ... Kf8 41. h5 Kg7 42. Kb5 Kh6 43. Ka4 +- ) 41. fxg6 Kf8 42. h5 Kg7 43. Kb5 Be1 44. Ka4 Bd2 45. a3 +- ) ( 39. ... Bb2 40. Kc5 Ba3 41. f6+ and Bxh7. ) 40. Kb5 Be1 41. h5 Bd2 42. g6 fxg6 43. fxg6 hxg6 44. hxg6 Ke6 45. Ka4 +- in all lines white Bishop on e4 takes a perfect square - to stop e5 pawn and to support his passer on the king side (one diagonal principle is in force). ) 
 34. Bxb7 


34. ... Kf6?! 
 Studying chess from different sides, I have found an interesting theme, which is being quite underestimated in the chess literature. I have called it "natural moves problem" (if someone already has written about this, I honestly did not see his work; if so, please forgive me). The issue can be described in such a way: very often we are under an influence of some models in our head and it causes one of the following mistakes: (1) we make a natural move, which is not the best; we even do not try to look at other options; (2) we do not even consider a unnatural move, since our brain sends us a signal, that it can not be a true, but it is a true. 37...Kf6 is partly a result of first sort of mistake. The Ukrainian GM instinctively moved his king in the central direction and it becomes the beginning of his serious problems, because the f7 pawn got blocked with this move. At the same time an unnatural 37..Kh6 would make a desirable draw much simpler. At the end, I need to say, that all this is correct, if we consider, that Ivanchuk aimed to play Kg5. 34...Kf6 itself is not bad, since Black also has an idea of h7-h5. 

 ( 34. ... Kh6! with the same idea of Kg5 35. Bd5 ( after 35. h4 Black plays 35. ... Be1 = ) 35. ... f6 and now after 36. Kb5 ( 36. Kd6 Kg5 37. Ke6 Bb4 = simply equal. ) 36. ... Kg5 37. Ka6 Bd4 38. b4 Kh4 39. b5 h6! Already White should be careful to not lose the game. Can you find a save for him? ( 39. ... Kxh3?? 40. g5 e4 ( 40. ... fxg5 41. f6 +- ) 41. Bxe4 fxg5 42. f6 Bxf6 43. Kxa7 +- ) 40. Kb7! King runs back. ( 40. a4? Kxh3 41. Bf3 Kg3 42. Bd1 e4 43. a5 e3 44. b6 axb6 45. axb6 Kf2 -+ ) 40. ... Kxh3 41. Bf3 Kg3 42. Bd1 e4 43. Kc6 e3 44. Kd5 Be5 45. Ke4 Kf2 46. Kd3 = Exactly on time! ) 

 35. Bd5! 
 Prophylactic thinking is key to finding most of strong moves in chess - Shirov prevents Kg5 running and creating counterplay by Black becomes more difficult. 

35. ... h6? 
 ( The only reason why Ivanchuk did not play 35...h5 is that he, seemingly, was very short on time and could not realize, that all Black needs to do is to move White king side pawns to "h" file and to sacrifice the bishop for queen side pawns. 35. ... h5! 36. gxh5 ( or 36. b4 hxg4 37. hxg4 Kg5 38. Bxf7 Kxg4 39. Bg6 Kg5 = the e5 pawn will not allow White to advance pawns "a" and "b" without problems. ) 36. ... Kxf5 37. Bxf7 Kf6 38. Bg6 Bd4+ 39. Kc4 Kg7 = ) 

 36. b4 


36. ... Ke7? 
 This seems to be a fatal mistake, after which White is winning. 

 ( However 36. ... h5! = still had to save a half the point. ) 

 37. b5 f6 
 ( Let's briefly see, why h6-h5 is not helping here. 37. ... Kf6 38. a4 h5 39. Kc6 hxg4 40. hxg4 Kg5 41. Kb7 Bd4 42. Bf3 Kf4 43. Bd1 e4 44. a5 Black king has two ways - to try stopping White pawns on the queen side or to help advancing the "e" pawn. 44. ... Ke5 

 Find the win! ( or 44. ... Ke3 45. b6 axb6 46. axb6 Kd2 47. Ba4 e3 48. Bb5 e2 49. Bxe2 Kxe2 50. g5 +- ) 45. Kc6! +- Pushing opponent's king and followed by advancing the b-pawn. ( 45. b6? axb6 46. axb6 Kd6 and Black holds the b-pawn, while king side pawns can not achieve a progress. 47. g5 Bxb6! 48. Kxb6 Ke5 = ) ) 
 38. Kc6 
 At first, White pushes Black king to f-file, after that Shirov finds the best moment to exchange "a" pawns with a win. The idea of two weaknesses occurs in its pure form. 

38. ... Ba5 
 ( Another defending way was bringing the king to c8, but White has a counter-maneuver against this: 38. ... Kd8 39. a4 Kc8 40. Kd6 Be1 Bishop should go to h4, g5 squares in order to defend both f6 and h6 pawns. 41. Ke6 Bh4 42. Kf7 Bg5 43. Kg6 Kc7 44. Kh5 Bd2 45. h4 Kd6 46. Be4 Kc5 ( or 46. ... Be1 47. g5 hxg5 48. hxg5 fxg5 49. Kg6! Preventing an appearance of the king on f8. 49. ... Kc5 50. f6 Bb4 ( 50. ... Kd4 51. f7 Bb4 52. a5! +- ) 51. f7 Kb6 52. Kxg5 Ka5 53. Bc2 +- The most that Black can achieve is to exchange e5 for a4, but then White plays Bd3 preventing a7-a6 and wins the bishop for f7-pawn. ) 47. Kg6 Kd4 48. Bc6 e4 ( 48. ... Be1 49. h5 +- ) 49. Kxf6 e3 50. Bf3 Kd3 51. g5 hxg5 52. hxg5 +- ) 

 39. Be4 


39. ... Ke8 
 ( After 39. ... Bd8 40. a4 Bb6 41. h4 Black is unable to control d6-square anymore, since b6 is the best defending square for the bishop: 41. ... Ba5 42. Kb7 Bb6 43. Ka6 Kd6 44. a5 Bf2 45. b6 axb6 46. axb6 Be3 47. b7 Kc7 

 On the queen side Black did everything perfectly and the b7 pawn is not dangerous anymore, but Be3 appears overloaded with his defending tasks. By they way, this position is very similar to the position from analysis of the Bu-Atalik (diagram after move 64...Kc7 in the side line 42...Bg1) with the difference, that White bishop is placed on g2 and there is no pawn on e5. 48. g5! fxg5 ( 48. ... hxg5 49. h5 g4 50. h6 Bxh6 51. Ka7 +- ) 49. hxg5 hxg5 50. f6 g4 51. f7 Bc5 52. f8=Q Bxf8 53. Ka7 +- ) 
 40. Kd6 Kf7 41. h4 
 Shirov does not avoid blocking his pawns, meaning that g4-g5 will be anyway dangerous weapon against Black's defense. 

41. ... Be1 42. h5 Bb4+ 43. Kd7 Ba3 44. Bd5+ Kf8 45. Ke6 Kg7 46. Be4 


 White did maximum against Black king, now it is time to play on the queen side. Unfortunately, Black can not stay still and should make a move. 
46. ... Bf8 
 ( After 46. ... Bc5 47. a4 Bb6 White has a technical move to force Black bishop to leave the optimal square. 48. Ke7! Ba5 49. Kd7 (there will be no better moment to start running to the queen side). 49. ... Kf7 50. Kc6 Ke7 51. Kb7 Bb6 52. a5 Bxa5 53. Kxa7 Bd2 54. b6 Be3 55. Ka6 Kd6 56. b7 Kc7 

 Again we see how Black successfully stops b-pawn, but White wins the game with a breakthrough on the opposite side even with a pawn on h5. 57. g5! This time White moves the pawn under three attacks! But it is obvious, that none of possible captures gives Black a relief. 57. ... fxg5 58. f6 Bc5 59. f7 g4 60. f8=Q Bxf8 61. Ka7 +- ) 
 47. a4 Bb4 


 In any positional slow game at some point we face the moment, when it is necessary to calculate precisely; there was such a moment for Shirov. Can you see the whole winning line? 
48. Kd7 Kf8 49. Kc6 Ke7 50. Kb7 Bc5 51. a5 Kd6 52. b6! axb6 53. a6! b5 54. a7 Bxa7 55. Kxa7 Kc5 56. Ka6 b4 57. Ka5 Kd4 58. Kxb4! 
 ( It was possible to play an immediate 58. g5! without special effects. ) 

 58. ... Kxe4 


 3 vs 3 and Black king is more active. Miscalculation? Surely, not! One more time 
59. g5! 
 guarantees White a decisive advantage. 

59. ... hxg5 
 ( after 59. ... Kxf5 60. gxh6 +- f6-pawn disturbs his king. ) 

 60. h6 Kxf5 61. h7 
 Summing up, this game became another example that demonstrate an idea of two weaknesses. As soon as Black closed the king side and created a weakness on f6 (plus g4-g5 idea), White's position became winning. Black had to aim for active play and exchanges of pawns. Special attention should be paid to the idea, that we talked about in the book, dedicated to same-colored bishop endgames - to get the endgame B+rook pawn vs K with a wrong color of the corner. In this game Ivanchuk passed through this trick in the decisive moment. 

1-0

 
 



 4.8 
When fortress is so close... 
 
 The next endgame is interesting for us, because it again shows how important to make a correct first move or a few first moves in the OCBE. One inaccuracy and the following moves are just a technical part for your opponent. Other instructive moments appears already in analysis, when we see how different winning ways can be. 

 Bu Xiangzhi - Atalik, Suat
 Calvia ol (Men)   2004.10.25 , D35


Black is a pawn down and his a4-pawn is doomed; the only hope is to bring the bishop to g1-square, which Atalik immediately does. 41. ... Bb6? 
 As he explains in his annotations to the game, he forgot about f4-f5 idea at all, but what was better instead of this move? 

 ( Black had to fix f4-pawn by 41. ... f5! to reduce the number of pawns on the king side. 42. Bxf5 Bb6 White can not defend all dark-squared pawns. 43. Ka3 Bg1 44. h3 Bh2 45. g4 Bxf4 46. Kxa4 Kd6 Now Black king can focus on the queen side play, while Black bishop is able to defend the king side. For example, 47. b5 Be3 48. Ka5 Kc7 49. Kb4 Bf2 50. Kc4 Kd6 51. Kd3 Ke5 The most, White king can achieve is to come to h5: 52. Ke2 Bd4 53. Kf3 Bc5 54. Kg3 Be3 55. Kh4 Kf6 56. Kh5 Kg7 and if White plays 57. h4 Black responds 57. ... f6 that eliminates last winning shadows. ) 

 42. f5! +- 
 Now White saves all his 3 pawns on the king side, that first helps him to win on f7 and secondly it enables g4-g5 idea to create a second passed pawn later. 

42. ... Kd6 
 ( Black had no necessity to push White pawns on light squares: 42. ... Bg1 43. h3 Bf2 ( 43. ... h5 helps White to get second passed pawn, that finally should secure a win. 44. Be2 Bf2 45. Bxh5 Bxg3 46. Ka3 Kd6 47. Bxf7 Bf2 48. Kxa4 Kc6 49. Be8+ Kb6 50. Kb3 Kc7 51. Kc4 White threatens to bring the king to e6. 51. ... Kd6 52. Kb5 Be1 

 Black stops both White passed pawns, but White has a trick. 53. Ka6! He has enough pawns on b-file, so he can sacrifice one of them to advance the "h" pawn forward. 53. ... Bxb4 54. h4 Kc5 55. h5 Bd2 56. Kb7 with idea Kc7-d7 etc. 56. ... Kd6 57. Kb6 Be3+ 58. Kb5 then b2-b4 with a win. ) 44. g4 Kd6 45. Ka3 Bd4 46. Bc4 Ke5 47. Bxf7 Kd6 48. Be8 Be5 49. Bxa4 White won a third pawn, but still it is not easy to say, if position is winning or not. 

49. ... Bd4 50. Bc2 Kc6 51. Be4+ Kb5 52. Kb3 Be5 53. Bd3+ Kc6 54. Bf1 Kd5 55. b5 Kc5 56. Ka4 Bxb2 57. Ka5 Bc3+ 58. Ka6 Bd4 59. b6 Kc6 60. Bg2+ Kd6 61. Ka7 Be3 62. h4 White is ready to play on two sides - the "b" pawn and g4-g5 possibility seemingly guarantees him a win. 

62. ... Kd7 ( 62. ... Bf2 also loses: 63. Ka6 Be3 64. b7 Kc7 Similar position occurs in the analysis of the Shirov-Ivanchuk (position after move 47...Kc7 of the side line 39...Bd8), but there Black has pawn on e5 and White bishop is placed on e4. 

65. g5! fxg5 ( 65. ... hxg5 66. h5 g4 67. h6 Bxh6 68. Ka7 Be3+ 69. Ka8 +- ) 66. f6 gxh4 67. f7 Bc5 68. f8=Q Bxf8 69. Ka7 Bc5+ 70. Ka8 +- ) 63. Ka6 Kc8 64. b7+ Kb8 g4-g5 idea does not work now, but the way to the king side is open: 65. Kb5 Kc7 66. Kc4 Bf4 ( 66. ... Bc1 67. Kd5 Kxb7 68. Ke6+ Kc7 69. Kxf6 +- ) 67. Kd5! Kxb7 ( Black's other moves do not change anything: 67. ... Bg3 68. g5! fxg5 69. hxg5 hxg5 70. Ke6 Kd8 71. Bc6 Kc7 72. f6 +- ) ( 67. ... Kd7 

68. g5! Again this break through decides the game. 68. ... fxg5 69. hxg5 hxg5 70. f6 Bg3 71. Bf1! Bf4 72. Bb5+ Kd8 73. Ke6 +- ) 68. Ke6+ Kc7 69. Kxf6 Bg3 70. Kg6 +- ) 
 43. Ka3 Bd4 44. Bc2 Ke5 


45. Kxa4 Bxb2 46. Kb5 Bd4 
 ( Black could try to defend with a king on d4, but there White also has a winning resource: 46. ... Kd4 47. Bb3 Bc3 48. Bxf7 Be1 49. g4 Bd2 50. h4 Be1 

 At first, it seems, that Black holds the position. g4-g5 looks hard to advance because of the Black king being too active. Kb5 prevents the pawn from moving forward. But in 2 moves Black got a zugzwang. Can you find it? 51. Be6! ( an immediate 51. Bc4? is terrible due to 51. ... Bxh4 ) 51. ... Bd2 ( after 51. ... Bxh4 White wins by means of 52. Kc6 Kc3 Black should try to activate his king - it goes to a7 to stop the promotion of the pawn. 53. b5 Kb4 54. b6 Ka5 55. b7 Bg3 56. Kd7 Kb6 57. Ke7! The only way but enough for a win. ( after 57. Kc8? Ka7 there is a fortress. ) 57. ... Be5 58. b8=Q+ Bxb8 59. Kxf6 +- ) 52. Bc4! Here is the zugzwang. ( 52. Ba2 does not work as effectively because bishop will not be able to defend pawn g4 in this line: 52. ... Ke5 53. Kc5 Kf4 = ) 52. ... Bc1 What to do now? 

( 52. ... Bc3 53. g5! hxg5 54. hxg5 fxg5 55. f6 Ke4 56. f7 Bg7 57. Kc6 +- ) ( 52. ... Be1 53. g5 hxg5 54. hxg5 fxg5 55. f6 Bg3 56. Kc6! +- ) 53. Kc6!! For the bishop White will have a passed pawn and g4-g5 opportunity. It is exactly enough! But the whole winning line is not so easy. 53. ... Kxc4 54. b5 Kd4 55. b6 Bf4 56. b7 Ke4 g4-g5 does not work due to h6xg5 and Kxf5. Has White miscalculated this? Not! A paradox 57. h5!! +- wins on spot! g4-g5 is a real threat even if here White's turn is. Black king finds himself out of the real fight. ) 
 47. Kc6 Bg1 48. h3 Bh2 49. g4 Kf4 


50. Bb3! 
 Bishop is not much interested in the f7 pawn, but it does need h5-square a lot! With a king on the "long" side (a7-square is unreachable for it) Black has no ideas to stop b-pawn. 

 50. ... h5 
 ( 50. ... Kg3 51. Bxf7 Kxh3 52. Bh5 +- ) 

 51. Bxf7 hxg4 
 ( There are no hopes connected with a win on h3: 51. ... h4 52. Be6! The simplest, although there are other winning ways as well. 52. ... Kg3 53. g5! +- ) 

 52. hxg4 Kxg4 53. Be6 Kf4 


54. b5 
 Black king can not take an active part in the play against b-pawn. 

54. ... Ke4 55. b6 Kd4 56. b7 Bb8 57. Kd7 Kc5 58. Kc8 
 Black resigned. 

1-0

 
 
 



 4.9 
Pawn runs or how intuition helps in sharp situations 
 
 
 Just like all other types of endgames, OCBE can be very sharp and unpredictable. The next endgame is of such nature. But even in complicated endgames there is a room for intuition. WIth all due respect to Nigel Short, I should say, that this is not a big surprise that one of the best OCBE players Anatoly Karpov has managed to find better moves in the position, where no one can calculate everything. 
 Here I would like to use a chance and to mention a great book 'Learn from the Legends: Chess Champions at Their Best' by Mihail Marin. One of the chapters there is dedicated to opposite-colored bishop masterpieces by Anatoly Karpov. If you have not studied this yet, you should do it immediately! 


 Short, Nigel D - Karpov, Anatoly
 RUS-The World   2002.09.11 , C42


The position on the diagram happened in the match Russia vs. Rest of the World. At first glance it is hard to say who is better. Black is going to take on h6 and push his pawns on the king side forward, while White king aims to attack the queen side. Next few moves are more or less forced. 32. Kc4 Bxh6 33. Kb5 Bd2 
 Black's plan is to liquidate all possible passed pawns on the queen side even at the cost of the bishop and to push forward his king side pawns. Everything will depend on the calculation and intuition. Considering, that time control was rapid, Karpov's intuition eventually predetermined his win. 

 ( There is no sense to defend queen side pawns with Kd8 and Be3, because then White bishop takes one of pawns on the king side, and Black remains without any counterplay. 33. ... Ke7 34. Kc6 Kd8 35. Kb7 Be3 36. Bxf7 ) 

 34. Ka6 Bxc3 35. Kxa7 
 ( Computer convincingly shows here move 35. b5 and says it is equal, but in the end everything is not easy there, let's see: 35. ... Bd4 36. c3 Be3 ( 36. ... Bxc3? 37. Kxa7 Ke7 38. Kb7 and to avoid major problems Black should give up on f7, that means "0" chances to win. ) 37. a5 f5 ( again there is no time to defend on c7: 37. ... Ke7 38. Kb7 Kd8 39. Bxf7 = ) 38. Kb7 h5 39. Kxc7 Ke7 40. b6 axb6 41. axb6 h4 42. b7 Ba7 43. b8=Q Bxb8+ 44. Kxb8 Kf6 45. Kc7 Ke5 46. c4 g5 47. Kd7 g4 

 and here only move saves the game! How can one foresee this on move 35? 48. Be6! ( 48. Ke7? f4 49. Be6 f3 50. gxf3 gxf3 51. Bh3 f2 52. Bf1 Kf4 53. Kxd6 Kg3 54. c5 h3 55. c6 h2 56. c7 h1=Q 57. c8=Q Qxf1 -+ ) 48. ... h3 49. gxh3 gxh3 50. Bd5 h2 51. Kc6 f4 52. c5 dxc5 53. Kxc5 = To sum up, Nigel Short had a difficult choice and limited time on the clock. He could flip the coin to guess the correct moves and his chances to find this move would not be lower in this case. ) 
 35. ... Bxb4 36. Kb7 h5 37. Kxc7 Ke7 38. Kb6 Bc5+ 


 Now White has a choice of two possible strategies - to win the bishop for the "a" pawn and then to run back with his king or to return immediately. 
39. Kb7? 
 ( Without king on the king side White hardly can stop Black pawns. 39. Kb5! f5 40. Kc4 Kf6 41. Kd3 h4 42. Ke2 Ke5 

 What's the most important here? To not allow Black king to g3! When you understand this, the correct move is much simpler to find. 43. Bf7! ( 43. c4? Kf4 44. Kf1 Kg3 45. Bf7 g5 46. Be6 f4 47. Bd5 g4 ( there is no reason to give up the pawn, that is advised by Alexander Huzman in his annotations for ChessBase: 47. ... f3? 48. gxf3 h3 49. a5 h2 50. f4! gxf4 51. Ke2 with a draw - Black can not get any progress with his two passed pawns. ) 48. a5 f3 49. gxf3 gxf3 -+ ) 43. ... g5 44. Kf1! ( 44. c4? still allows Black king to enter. 44. ... Kf4 45. Be6 Kg3 46. Bxf5 Kxg2 -+ ) 44. ... g4 Now the second hard moment - Black wants to play f5-f4-f3 and one of his pawns gets promoted. White needs to deliver the bishop to the long diagonal. 

( 44. ... Kf4 45. Be6 holds the king. ) 45. c4! The simplest, though, 45.Be8 or 45.Bc4 with the idea of Be2 or even 45.Bh5 Kf4 46.Bg6 would also work well. ( 45. a5?? f4 46. c4 f3 47. Bd5 Kf4 48. gxf3 gxf3 49. Be6 Kg3 -+ ) 45. ... f4 46. Bd5 f3 47. gxf3 g3 48. Kg2 with a draw. ) 
 39. ... h4 40. a5 
 ( Here king's return is too late. 40. Kc6 f5 41. Bc4 Kf6 42. Kd5 Kg5! 43. a5 Kf4 and king leads pawns to their bright future! ) 

 40. ... f5 41. a6 Kf6 42. a7 Bxa7 43. Kxa7 Ke5 44. c4 g5 45. Kb6 g4 


 Black pawns are too strong for the White army. 
46. Bb7 
 ( It is not a first time, when I state this and I'm not the first one to say this, but chess is a tragedy of a single tempo! Here is more evidence of this. 46. Kc7 f4 47. Kd7 f3 48. gxf3 g3 49. f4+ Kxf4 50. Bg2 Kg4 51. Kxd6 h3 52. Bxh3+ Kxh3 53. c5 g2 54. c6 g1=Q 55. c7 and here only 55. ... Qg4 -+ wins the game. ) 

 46. ... f4 47. Bc8 


 Here Karpov visually easily won the game, but both of players missed crucial decisions. Maybe you, dear reader, can find a clear win in this position? 
47. ... f3 
 ( Black had a surprising move 47. ... d5! but in the rapid regime there is no time even to think about such tricks. The idea is to block a8-h1 diagonal. 48. cxd5 ( 48. Bxg4 dxc4 49. Kc5 c3 50. Bd1 f3! 51. gxf3 h3 -+ ) ( 48. c5 h3 49. gxh3 g3 -+ ) 48. ... h3 49. gxh3 g3 50. d6 g2 51. d7 g1=Q+ 52. Kc7 Qc5+ 53. Kb7 ( 53. Kd8 Ke6 -+ ) 53. ... Qa5 -+ ) 

 48. gxf3 gxf3?? 
 ( Here Black already had to find the only winning way: 48. ... h3! Black gives up 2 out of his 3 pawns to promote the last one. I would call this "draughts style". 49. fxg4 d5! 50. Bb7 dxc4 51. g5 c3 52. g6 Kf6 53. Be4 h2 and c3-c2 wins. ) 

 49. Kc6?? 
 ( Short played the most natural move, while 49. c5! would save the game. 49. ... f2 50. Bh3 dxc5 51. Kxc5 Ke4 52. Kc4 Kf3 ( 52. ... Ke3 53. Kd5 Ke2 54. Ke4 f1=Q 55. Bxf1+ Kxf1 56. Kf3 = ) 53. Kd4 Kg3 54. Ke3! = ) 

 49. ... f2 50. Bh3 Kf4! 
 Probably the English player overlooked, that Black king goes to g3 instead of taking on c4. 

51. Kxd6 Kg3 52. Bf1 h3 53. c5 h2 
 White resigned. 

0-1

 
 



 4.10 
It is never too late to give up! 
 
 
 We can appreciate the complexity of OCBE based on the next two games, or to be more precise, based on their result. Peter Svidler, who needs no introduction, gave up in a serious game in the drawn OCBE! Here is this famous example. 

 Kramnik, Vladimir - Svidler, Peter
 Corus   2004.01.14 , B97


White's turn 49. Bb7 
 Being tired after a long defence of objectively drawn but practically a bit unpleasant endgame, Peter Svidler made the worst possible move - he has resigned, although, even during the game most of spectators were certain, that the endgame at minimum has huge drawn chances. Having read no explanation from Svidler about real reasons of his decision, we can just guess, which miscalculation has happened in his head. The drawn plan was connected with corresponding squares. Black king should move on c7, d6, e5 squares in order to prevent a breakthrough from the white king. Let's see how it could be. 

49. ... Be3 
 ( Another instructive fortress has been found by my South African student Francois Oberholzer, who decided to control a5-d8 diagonal to restrict the white king. It is a bit unusual, but also saves the game. 49. ... Ba7 50. Kxa5 Kc5 51. Bd5 Bb6+ 52. Ka6 Bd8 

 53. Kb7 ( the advancing of the pawn 53. a5 would glue the White king to a6-square. ) 53. ... Ba5 54. Kc8 Kd6 55. Bf3 Bb6 56. c5+ The only White's chance. 56. ... Kxc5 57. Kd7 Kb4 58. Bc6 Bf2 59. Ke6 Ka5 60. Kf6 Bg3 61. Kg6 Bf2 62. Kxh6 Bh4 with a simple draw. ) 
 50. Kxa5 Bf2 
 ( There is no need to move the king forward, since after 50. ... Kc5 51. Bd5 Bf2 White king can go around through the 7-th rank. 52. Ka6 Kb4 53. Kb7! and Black will need to build a new fortress after losing on h6. ) 

 51. Kb5 Be3 52. Bd5 Bf2 53. a5 Be3 54. Ka6 Kc7 55. Kb5 Kd6 56. Kb4 
 Since there are no possible plans on the queen side, White king should try to use the central diagonal. 

56. ... Bc5+ 57. Kc3 Ba7 58. Kd3 Ke5 59. a6 Bg1 = 
 all ways are locked down. 

1-0




 The same story happened to another strong player Etienne Bacrot from France, who resigned in an ultimately drawn position against Levon Aronian in the second game of their semi-final match of the World Cup-2005 (the first game ended in a draw; after that Aronian also won the final match against Ponomariov). 


 Aronian, Levon - Bacrot, Etienne
 FIDE World Cup   2005.12.13 , D15


Here the French GM made the move 50. ... Ba7 
 and resigned, since he saw nothing against a march of White king to b7: 

51. Kf4 h5 52. Ke4 Ke7 53. Kd5 


 Maybe you can find a draw for Black in this critical position? 
53. ... Kd7! 
 The key move, which seemingly escaped out of Bacrot's calculation. Black king moves under discovered check, but White can not take any dividends from this. In fact, Black forces White to push f5-pawn forward, after that White bishop already is unable to stop h-pawn and to defend f-pawn simultaneously (the principle of one diagonal stops working for him!). 

54. f6+ Ke8 55. Be6 
 f6-pawn is defended, but now it is time for h-pawn to run. 

55. ... h4 56. Kc6 
 ( If White tries to take h-pawn with the king, Black bishop is ready to defend it: 56. Ke4 Kf8 57. Kf3 Ke8 58. Kg4 Bf2 = ) 

 56. ... h3 57. Kb7 h2 58. Bd5 Bd4 59. a7 Bxa7 60. Kxa7 h1=Q 61. Bxh1 Kf7 = 
 Taking the last pawn. 

1-0

 
 



 5 
OCB+RE 
 
 
 When we talk about OCBE, we can not restrict ourself to pure BE, since a presence of opposite-colored bishops on the board turns any x+B (where x - is any other piece) endgame into an endgame with opposite-colored bishop "spirit". Surely, the most popular in this sort are endgames with rooks on the board. 

 If we compare pure OCBE with OCB+RE (let's shorten them like this), we can see at least two distinctive points. First of all, R+B can organize an attack on the opponent's king, which is about impossible in pure BE; and secondly, extra pawns are usually more valuable in the OCB+RE, since the defending side has less chances to build up a fortress (the strongest rook can attack squares of both colors). After viewing a lot of endgames I have noted a few interesting ideas, that I would like to share with you. Of course, there is much more to OCB+RE endgames, but I hope, this also will be instructive. Let's begin with endgames where one king has been suffering in mating net. 


 
 5.1 
Mating net 
 
 
 In the first game White had very unfortunate pawn structure near his king that caused huge problems for it. 

 Khakimov, Timur - Aveskulov, Valeriy
 Cup of rector   2008.02.27 , A46


Black has higher chances due to: (1) bad position of White king; (2) more active pieces and (3) better pawn structure. But all this is not enough because of a presence of OCB's on the board. As we know, If game gets directed to a slow moving, drawn chances increase significantly; and conversely, if game becomes sharp and one of sides gets attack on the king, his chances often exceed defending resources. In the position on the diagram my opponent decided to make the position sharper instead of slowing down things on the board. 41. d5? 
 and after that it is already hard to find a draw for him. 

 ( White had to organize an operation about discharging his king from the cage on h2. In other words, we can say, that he needed to drive away Black's best piece - Rc1. Both explanations are equally useful for improving defending skills. When we are worse, we should clearly understand our main disadvantage (in this position it is Rc1, that makes White king vulnerable to checkmate motives) and try to liquidate it at any cost. 41. Rf3! with ideas Bd3 or Rf1 would give White excellent chances to take a half the point. For example, 41. ... Ke4 and here White has even two ways to resolve his problems. 42. Rf1! The continuation of initial plan looks even stronger. ( 42. Be8 this move is also directed against main enemy - Rc1. 42. ... Rc7 43. Rf1! Bb4 ( 43. ... Kxd4 leads to drawn OCBE. 44. Rd1+ Kc5 45. Rc1+ Kb4 46. Rxc7 Bxc7 47. Bxf7 = ) 44. Kh3! Kxd4 45. g4 activating the king. ) 42. ... Rxf1 43. Bxf1 Kxd4 44. Bb5 e5 The only way to save some winning chances. 45. fxe5 Kxe5 46. Be8 Kf6 47. Kh3 g5 48. g4 h4 49. Bd7 with a perfect fortress. ) 

 41. ... e5 
 Sure, Black gets an access to pawn g3 and his bishop becomes a dangerous attacking piece. 

42. fxe5 
 ( Now the analogical operation is late: 42. Rf3? e4! ( 42. ... exf4 43. gxf4 Bxf4+?? 44. g3 +- ) 43. Bd7+ ( 43. Rf1 Rc3 -/+ with many active ideas - h5-h4, e4-e3 and Ke4, g6-g5. ) 43. ... Kf6 44. Re3 Ke7! 45. Bc6 f5 46. Rb3 Bb4 king is still out, while the e4 pawn has serious ambitions. ) 

 42. ... Kxe5 
 ( 42. ... Bxe5 43. Rf3+ Kg5 44. Rf1 Rxf1 45. Bxf1 h4 leads to positions, which we will analyze in notes to move 43.Be8. ) 

 43. Be8? 
 A fatal mistake. 

 ( White had to go exchanging rooks in order to extinguish opponent's attacking fire: 43. Rf3! f5 44. Rf1 Rxf1 45. Bxf1 

 and to defend a pure OCBE, which is obviously has better drawn prospects. I am not ready to say, if it is drawn or winning, but let me show you some nice lines: 45. ... Kf6! At first, Black picks up the pawn on g3, and after that goes back to d5 pawn. ( nice stalemate is coming in such variation: 45. ... Kxd5 46. Kh3 g5 47. Bb5 Ke6 48. Be8 h4 49. Bg6! ( checkmate is also spectacular 49. gxh4?? g4# ) 49. ... hxg3 ( or 49. ... Bxg3 50. Bxf5+ Kxf5 ) 50. Bxf5+ Kxf5 

) 46. Kh3 g5 47. Bb5 g4+ 48. Kh2 ( 48. Kh4?? Kg6 49. Be8+ Kh6 50. Bxh5 Be7# ) 48. ... h4 49. Bd7 Bxg3+ 50. Kg1 Bd6 51. Bc8 Ke5 52. Bd7 Ke4 # 

53. Kf2 ( A passive play is exactly what Black expects from the opponent here. 53. Bc8? g3 54. Be6 Bc5+ 55. Kh1 Going to the stalemate square. ( 55. Kf1?? h3 56. gxh3 Kf3 -+ ) 55. ... f4 56. d6! Kd3! ( after 56. ... Bxd6? White king gets out from the corner: 57. Kg1 Bc5+ 58. Kf1 = with an easy blockade on f3 and h3 squares. ) 57. d7 Bb6 58. Bf5+ Kc3 59. Be4 Kb3 60. Bc6 Kb4 White is in zugzwang - he should give up one of his pawns. 61. d8=Q ( 61. Bb5 f3 62. Bc6 f2 63. Bb5 Bd8 -+ winning a-pawn. ) 61. ... Bxd8 62. Kg1 # 

62. ... f3! Black only needs to win on a4 to get the whole point. 63. Bd7 h3! Second distraction from the a4 pawn. 64. Bxh3 Kxa4 ( 64. ... f2+? misses the win because of famous fortress without bishop: 65. Kf1 Kxa4 66. Bd7+ Kb4 67. Be8 a4 68. Bxa4 Kxa4 and here a draw - Black can not extract White king first from f1, then (after f2-f1Q) from the corner. 

) 65. gxf3 Bc7 -+ A principle of one diagonal helps again - bishop does both defending on g3 and stopping f3-f4, while the king supports a-pawn promoting. ) 53. ... Bc5+ 54. Ke2 Kf4 ( 54. ... h3 55. gxh3 g3 56. Bc6 Bd6 57. Bd7 f4 58. Bg4 = ) 55. d6! Access to a8-h1 diagonal is more important than a pawn. ( 55. Be6? h3 56. gxh3 g3 57. d6 g2 58. d7 g1=Q 59. d8=Q Qe3+ 60. Kd1 Qxe6 -+ ) 55. ... Bxd6 56. Kf2 Bc5+ 57. Kf1 and position looks drawn. ) 
 43. ... h4! 44. Bxf7 
 ( Other lines are simple: 44. gxh4 Ke4+ 45. Rg3 Rc3 -+ ) 

 ( 44. Rf3 f5 45. Bxg6 Kf6 -+ ) 

 44. ... hxg3+ 
 ( 44. ... Kf5! was stronger 45. Rf3+ Kg5 46. Be6 hxg3+ 47. Rxg3+ Kh4 ) 

 45. Kh3 
 ( 45. Rxg3 Kf6 46. Be6 Rc3 -+ ) 

 45. ... Kf5 
 ( White resigned, since he loses the exchange: 45. ... Kf5 46. Rf3+ Bf4 47. Be6+ Kg5 48. Rxg3+ Bxg3 49. Kxg3 Rd1 followed by Rd4. ) 

0-1




 The first Woman World Champion from China also did not feel the danger and got her king trapped leading to big troubles. 

 Xie Jun - Taimanov, Mark E
 Veterans-Women   1997 , B47


White is two pawns up, but the only side who can play for a win in this position, is Black. The Chinese player did not feel a danger and seemingly still hoped for a realization of the material advantage. At first, White had to resolve the problem of Ba6-e2 threat. 30. e6?! 
 ( 30. Ra1! at first sight, this move looks dubious, but after a bit deeper look one can note, that White has too many passed pawns, that should guarantee him an easy draw. Moreover, Black is a side, who should be careful. 30. ... Rxa1+ 31. Bxa1 Ke3 Cutting off the king. ( 31. ... d4 32. Kf2 = going to e1 to control d2-square. ) 32. e6! ( 32. f5 also draws 32. ... d4 33. e6 f6 34. g4 d3 35. Bc3 d2 36. Bxd2+ Kxd2 37. Kf2 Kd3 38. Kf3 Kd4 39. Kf4 Kd5 40. h4 Kd6 41. g5 fxg5+ 42. Kxg5 Ke7 43. Kg6 Bd3 44. b5 Bxb5 45. Kxg7 Be8 = ! ) 32. ... f6 33. h4 d4 34. h5 d3 35. Bc3 

 and 35. ... d2? even loses to ( 35. ... Kf3 is stronger: 36. Kh2 Kg4 37. Kg2 Bc4 38. e7 Bb5 39. Kf2 Kxh5 40. Ke3 Kg6 41. e8=Q+ Bxe8 42. Kxd3 Kf5 43. Kc4 Kg4 44. Be1 Kf3 45. b5 and here even 45. ... Bxb5+! fixes a draw: 46. Kxb5 Ke2 47. Bb4 Kf3 ) 36. Bxd2+ Kxd2 37. g4 +- Black can not stop all White pawns. ) 
 30. ... fxe6 31. Bxg7 Kf3 
 With such a high level of activity Black can be calm. 

32. Bd4 Rg2+ 33. Kh1 Rc2 


 Black does not have direct threats against the White king and for this reason he combines threats of attacking the king with ideas of advancing his d-pawn. White's play became more complicated. 
34. Rb1?! 
 ( Rook leaves Bd4 undefended, so Ke4 idea appears more dangerous. It was already necessary to find such lines as: 34. Kg1 Be2 35. Rb1 Ke4 36. Rb2 = ! ) 

 34. ... Bb5 35. Bg1? 
 A strange desire to make diagonal mates possible. 

 ( The defence already was a hard business. Let me show you one of saving lines, which does not look easy at all. 35. Kg1! Ke4 36. Be5 d4 37. Re1+ 

 37. ... Be2 This try is more hard for White. ( 37. ... Kd5 38. f5! ( 38. Bxd4 Kxd4 39. Rxe6 Bc6 is not so clear, since White king is weak and her own pawns are making it difficult to organise a safe defence. ) 38. ... exf5 39. Bf4 Now Black has two main ways to advance the pawn and both are dangerous for a human mind, but not for the engine. 39. ... d3 ( 39. ... Be2 40. Rc1 Rb2 41. Rc5+ Ke4 42. Re5+! Kf3 43. Rxf5 and 

43. ... Rb1+ is not mating 44. Bc1+ Check! 44. ... Ke4 45. Rc5 with idea Kf2. 45. ... Kf3 46. Rf5+ = ) 40. h4 Kd4 41. h5 d2 42. Rd1 Be2 ( 42. ... Kc3?? 43. h6 +- ) 43. Rxd2+ Rxd2 44. Bxd2 Bxh5 = ) 38. b5 The "b" pawn becomes Black's main trouble. 38. ... d3 39. Kf2 ( 39. b6 Kf3! and d3-d2, Rc1 wins. ) 39. ... Kd5 40. Rb1 This move allows Black to demonstrate a brilliant mating motive, but surely 40.Ke3 draws simpler. ( 40. Ke3 d2 41. Kxe2 dxe1=Q+ 42. Kxe1 Rxh2 = ) 40. ... Bh5+ 41. Ke3 d2 42. b6 

42. ... Kc4! A nice trick, that perfectly suits to the title of this paragraph. ( 42. ... Rc1 43. Rb5+ Kc4 does not win the rook because of 44. Kxd2! Rd1+ 45. Kc2 Kxb5 46. b7 Rd8 47. b8=Q+ Rxb8 48. Bxb8 Kc4 = ) 43. f5! Freeing the square for the king. ( 43. b7?? d1=N+! 44. Rxd1 Re2# ) 43. ... Rc1 44. Rb4+! Forced move. 44. ... Kxb4 45. b7 d1=Q 46. b8=Q+ = with a perpetual check. ) 
 ( it was too late to bring the rook back to d1: 35. Rd1?! Be2 36. Rb1 Ke4 -/+ and d5-d4 is coming. ) 

 35. ... Kg4! 
 King immediately uses a chance to enter on h3, so that his colleague can not leave the corner easily. At the same time moves like Bd3 or d5-d4, Bb7 can end the game at any moment. 

36. Rb3 (only move) Rd2? 
 ( Taimanov correctly evaluated practical difficulties, which his opponent will face, if he keeps a pressure, but the direct 36. ... Kh3 37. g4+ Kxg4 objectively was stronger. White will lose on f4 and central pair of pawns should provide the win. Now White against gets drawn resources. ) 

 37. Be3 Ra2 38. Bd4 Rd2 
 ( 38. ... Kh3? at this moment is bad due to 39. g4+! Kxg4 40. Be5 pawns are stopped, king can not across the third rank - White is out of real danger. ) 

 39. Be3 Re2 


40. Kg1? 
 Seemingly, Xie Jun was upset about blundering 35...Kg4 idea so much, that she decided to leave the corner as quick as possible. But now Kg4-h3 is exactly, what Black does! 3rd rank had to remain empty for g3-g4 idea. So, the correct move was 40.Bd4. 

40. ... Kh3 41. Bf2 d4 42. Bxd4 
 In another case Black would play d4-d3. 

 ( 42. g4+ does not work well now, because Black king remains on h3 by means of 42. ... d3 ) 

 42. ... Rg2+ 43. Kh1 


43. ... Rxh2+ 
 ( Black already could force a checkmate in 6: 43. ... Bc6 44. Rc3 Be4 45. Re3 Bb7 No possible attacks on the bishop here. 46. g4+ Rg3+! ) 

 44. Kg1 Rg2+ 45. Kh1 Bc6 46. Rc3 Bd5 
 ( 46. ... Be4 was a faster way, although now it does not really matter. ) 

 47. Rc5 Rxg3+ 
 ( Black still could force the checkmate: 47. ... Bf3 48. Rc3 Be4 49. Re3 Bb7 hiding the bishop from rook's hunting. ) 

 48. Rxd5 exd5 49. b5 Rb3 50. Kg1 Kg4 51. Be5 Kf5 52. Kf2 Ke4 
 White resigned. 

0-1




 It is instructive to note, that in both of the previous examples White had to focus on pushing/exchanging of opponent's rook, that was the main enemy for their kings. Once they had missed their respective opportunities, the position became critical. 
 In the next example the White king was so weak, that the Black king, rook and bishop had even several ways to checkmate it. But of course, at the beginning there was an opponent's mistake. 

 Van Wely, Loek - Ivanchuk, Vassily
 Amber-rapid 07th   1998.03.22 , D41


Black is a pawn up, but the g6 pawn will fall. So, Ivanchuk goes forward to attack the opponent's king. 54. ... Kf4! 55. Rxg6?? 
 ( White had to avoid pushing his king to the first rank and to free d3-square: 55. Bxg6 with excellent drawing chances. ) 

 55. ... Ra2+ 56. Kf1 
 ( 56. Kd1 loses the bishop to 56. ... Rd2+ ) 

 56. ... Bc3 


 Black defends on f6 to keep the White rook out. 
 ( The second winning way was 56. ... Kg3! with a nice checkmate in mind: 57. Rxf6 Ra1+ 58. Ke2 ( 58. Bb1 Rxb1+ 59. Ke2 Kxg4 -+ ) 58. ... Re1# ) 

 57. Bb5 
 ( A direct 57. g5? loses to 57. ... Kf3 58. Kg1 Bd4+ 59. Kh1 Ra1+ 60. Kh2 Be5+ 61. Kh3 Rh1# ) 

 ( 57. Bc4! was the last chance to escape 57. ... Rd2! (Black should keep the king arrested) ( If Black takes on a4, the game goes on: 57. ... Rxa4 58. Bd5 with idea of Ke2 ) 58. Rh6 Kg3 59. g5 ( 59. Bb5 Rf2+ 60. Kg1 Bd4 61. Kh1 Ra2 ) 59. ... Rf2+ 60. Kg1 

 Here you see a perfect example for the calculating exercise. At first sight, everything looks easy, but if you try to see more, you can find incredible resources. Only after seeing, that 60...Bd4 does not win, you start to calculate something else. 60. ... Rf4! Rook goes to the first rank in another way. ( The most natural 60. ... Bd4 faces unbelievable defense: 61. g6 Rf3+ ( win of the bishop 61. ... Rc2+? 62. Kf1 Rxc4? 63. g7 Rc8 64. Rh8 even loses ) 62. Kh1 Rc3 63. Bf1 Rc1 64. Rh3+ Kf2 65. Rh2+ Kxf1 66. g7 Bf2! Nice trick. Promoting leads to lose of a new-born queen. ( 66. ... Rc8? 67. Rh8 ) 67. Rh8 ( 67. g8=Q?? Ke2+ 68. Kg2 Rg1+ 69. Kh3 Rxg8 ) 67. ... Bg3 Initially, it looks over for White, but he has even two study-ways. 

68. Rh2!! This 2nd rank blocking move draws the game. ( The problem is that only one of them saves the game! 68. Rc8?? Nice stalemate idea, that does not work well. 68. ... Re1! 68...Rd1 with the same idea serves the same good. 69. Rc2 Re5 70. Rc1+ Be1 ( 70. ... Kf2 71. Rc2+ does not help Black to mate the king. ) 71. Rxe1+ White promotes the queen! 71. ... Kxe1 72. g8=Q but Black immediately wins it: 72. ... Rh5+ 73. Kg2 Rg5+ -+ with a winning pawn endgame. Absolutely incredible stuff! ) 68. ... Rc8 69. Rh8 ( 69. Rg2 = ) 69. ... Rc1 70. Rh2 = ) 61. Bb5 ( 61. g6 Rxc4 62. g7 Rg4 -+ ) 61. ... Bd4+ 62. Kh1 Re4! Now it's over. 63. Bf1 Re1 64. Rh3+ Kf2 -+ ) 
 57. ... Kf3 58. Bc6+ Kg3 59. Rg8 
 ( Bad news for White is that he can not bring the rook to d6. 59. g5 f5! 60. Rd6 Ra1+ 61. Ke2 Re1+ 62. Kd3 Rd1+ -+ ) 

 59. ... Rf2+ 60. Kg1 Bd4 61. Bb5 Rf3+ 62. Kh1 Rc3 
 Checkmate is inevitable, so White resigned. 

0-1




 Even Magnus Carlsen, being already a super-GM, once (at least) showed insufficient care about his king in the OCB+RE. 

 Carlsen, Magnus - Socko, Bartosz
 Bundesliga 0809   2008.12.14 , E97


In the position on the diagram Black has a positional advantage - better pawn structure, since one d6 pawn stops two opponent's pawns; better prospects for all his pieces including the king. But a material balance and a magic of Carlsen seemingly had to help him in saving this ending. Let's see what happened. 36. ... g4 
 At first, Bartosz Socko locks down the king in the corner. 

37. Bh5 g3 
 The critical moment of this ending is right here. Should White take on g3 or should play h2-h3? First, try to answer yourself and see if you have managed to cope with this exercise better than Magnus did. 

38. hxg3? 
 At first sight, White correctly exchanges pawn (less pawns on the board - draw is closer), but 38.hxg3 impairs the location of White king by opening the h-file, that becomes a second weakness in his position (the first is e4 pawn). 

 ( The correct move was 38. h3! followed by Bf3. Black can not achieve anything even if he delivers his king to the second rank, e.g. 38. ... Bd4 39. Rd1 Ra4 40. Be8 Rb4 41. Bh5 Kg7 42. Rd3 Kf6 43. Rd1 Kg5 44. Bf3 h5 45. Re1 h4 46. Rd1 Kf6 47. Rc1 Ke7 48. Rc7+ Kd8 49. Rc1 Bc5 50. Re1 Kc7 51. Ra1 Kb6 52. Rd1 Bd4 53. Rc1 Be3 54. Rd1 Kc5 55. Re1 Kd4 56. Rd1+ Kc3 57. Ra1 Bd4 58. Rd1 Kc2 59. Rf1 

 Black king did a good job, but what now? 59. ... Rc4 60. Be2 Rc3 61. Bf3 ( 61. Rxf4?? Kd2 62. Ba6 ( 62. Bf1 Rc1 and Bf2-+ ) 62. ... Bf2 -+ and Rc1 ) 61. ... Re3 62. Bd1+ Kd2 63. Bf3 Ra3 64. Rd1+ Kc2 65. Re1 Bf2 66. Rf1 = Probably you will find some strong idea to win this for Black. I could not. 

) 
 38. ... fxg3 39. Kg1 
 Here it is important to not allow the White king to escape. 

39. ... Ra2! 
 Black aims Bd4+ and prevents Kf1, Re2 idea. 

 ( 39. ... Bd4+? was wrong since after 40. Kf1 Ra2 White has a move 41. Re2 = ) 

 40. Rd1 Be5 
 ( 40. ... Bd4+?? of course does not work because Bh5 covers d1-square. 41. Rxd4 Ra1+ 42. Rd1 ) 

 41. Kf1 Rf2+ 
 Pushing the king back. 

42. Kg1 
 Now it is a turn of the king to enter the fighting. 

42. ... Kg7 


 Here is the second critical moment of the ending. If White plays passively, Black brings the king to the center and using threats to the White king wins on e4. So, White should aim to rescue his king from the cage (the same as in previous examples). 
43. Rf1?! 
 This move does not help White king. 

 ( The strongest continuation was 43. Rd3! with idea Rf3 followed by Kf1, although, evidently, Black would still save his winning chances: 43. ... Kh6 44. Bg4 Kg5 45. Bf5 Kf4 46. Bxh7 ( 46. Rf3+ does not help as well: 46. ... Rxf3 47. gxf3 Kxf3 48. Bh3 Bd4+ 49. Kh1 leaving f1-square for the bishop. ( 49. Kf1 h5 50. Bg2+ Kg4 -+ and h5-h4-h3 is coming ) 49. ... h5 50. Bf1 h4 51. Bh3 Bb6! Bishop moves away from the d-pawn march. 52. Bf1 Kxe4 53. Bg2+ Ke5 

 Zugzwang and White should gives up on d5. ) 46. ... Rc2 47. Rf3+ ( another possible continuations are: 47. Rd1 Bd4+ 48. Kh1 Rc8 49. Bf5 Rh8+ 50. Bh3 Kxe4 -+ ) ( 47. Kf1 Rc1+ 48. Ke2 Rg1 49. Rf3+ Kg5 50. Rf5+ Kg4 winning on g2, Black should be winning. ) 47. ... Kg5 48. Rf1 Bd4+ 49. Kh1 Rc8 50. Bf5 Rh8+ 51. Bh3 Now Black needs to win White central pawns. 51. ... Bf2 52. Ra1 Kf4 53. Rc1! Ra8! ( 53. ... Kxe4? fails to a fantastic escape: 

54. Rc8 Rh5 55. Re8+! Kxd5 56. Rh8! Re5 57. Rh5 = ! ) 54. Bf5 Ke5 White rook should leave c-file. 55. Rd1 Rh8+ 56. Bh3 Rh4! ( 56. ... Kxe4? is another stalemate trap: 57. Rd4+ = ! ) 57. Rc1 Rxe4 58. Rd1 Bd4 -+ winning on d5. ) 
 43. ... Kh6 44. Bg4 Rb2 45. Bf5 
 ( Leaving the bishop on d1-h5 diagonal is also hopeless: 45. Rd1 Kg5 46. Bf3 h5 and then Kf4, h5-h4-h3 (there is no White pawn on h3 - see move 38!) ) 

 45. ... Bd4+ 46. Kh1 Rf2 47. Rd1 


47. ... Rf4! 
 Black rook quickly transfered to h-file. 

48. Re1 
 Rook defends on e4, but Black easily resolves this problem in one move. 

48. ... Be3! 
 Bishop keeps both king and rook out! 

49. Bh3 Rxe4 
 Pawn is lost; now Black uses the same scenario to win on d5; the rest is easy. Nonetheless, Carlsen applied a few stalemate traps. 

50. Rd1 Bd4 51. Rf1 Bf2 52. Rd1 Kg5 53. Be6 Kf6 54. Bh3 Ke5 55. Be6 Kf4 


56. Rb1 
 ( if 56. Bh3 Black can play 56. ... Ke3 with idea Ke2 to push the rook away from d-file and then to play Re5-h5xd5. ) 

 56. ... Rd4 57. Ra1 Ke3 58. Ra3+ Kd2 59. Bf5 Rh4+ 60. Bh3 Re4 61. Ra1 Rd4 


62. Bg4! Kc3 
 ( of course, Socko does not take the bishop: 62. ... Rxg4?? 63. Ra2+ Ke3 64. Re2+ Kf4 65. Re4+ Kf5 66. Rxg4 Kxg4 ) 

 63. Rc1+ 
 ( after 63. Be6 Kb2 64. Rf1 h5 White is in the zugzwang ) 

 63. ... Kb2 64. Rd1 Rf4 
 ( 64. ... Rxg4?? 65. Rd2+ Kc3 66. Rd3+ Kc4 67. Rd4+ Bxd4 ) 

 65. Be6 


65. ... Bd4! 
 Black organizes an attack on the rook. 

66. Bh3 Kc2 67. Re1 Bc3 68. Rg1 
 Only square that left. 

68. ... Rf6 69. Be6 Rh6+ 70. Bh3 Rh5 71. Rf1 Rxd5 


 Carlsen could already resign, but he made 20 more moves, creating more and more stalemate traps. 
72. Bf5+ Kd2 73. Bg4 Bd4 74. Rd1+ Kc2 75. Re1 Bf2 


76. Bd1+ Kc3 77. Bf3 Ra5 78. Rc1+ Kb2 79. Rd1 Ra4 80. Rd2+ Kc3 


81. Rc2+ 
 This time stalemate idea has another problem - Black should not take a second piece. 

81. ... Kxc2 82. Bd1+ Kd2 83. Bxa4 d5 84. Bc2 h6 85. Be4 d4 86. Bg6 Ke1 87. Bf5 h5 88. Bg4 h4 89. Bf5 Be3 90. Bg6 Kf2 91. Bf5 Bh6 
 White resigned, d4-d3 or h4-h3 is coming on the next move. 

0-1




 Sometimes the king can be trapped in the very center of the board. 

 Short, Nigel D - Damljanovic, Branko
 Manila Interzonal   1990 , B67


White's turn 43. Ke4? 
 ( after 43. Ke3 Bc5+ 44. Kd3 Rf2 45. Bd7 White would still be in trouble, but anyway it was more resilient line. 45. ... Ke7 46. Bc8 Kd8 47. Rg8+ Kc7 48. Be6! Rf4 49. Bxf7 Rxh4 50. Be6 e4+ -/+ Be6 is out of the real play and Black can attack the king with rook, bishop and pawn. ) 

 43. ... Rh3! 
 Suddenly, White king got into the net - Bc5 and Re3 idea forces him to give up many pawns. Nigel Short decided to give up right away. 

44. Rg2 Bc5 45. Re2 Rxh4+ 46. Kd3 Rf4 47. Bd7 Ke7 48. Bc8 Kd8 -+ 0-1




 In the next game Ukrainian GM Anton Korobov had an extremely difficult task - to beat Vladimir Kramnik in the second game of their match on the World Cup (at least he had White pieces). The opening of the game was absolutely satisfactory for Black and nothing promised problems to future winner of that tournament. But when OCB+RE arose on the board, Black king unexpectedly got under a strong attack. 

 Korobov, Anton - Kramnik, Vladimir
 FIDE World Cup 2013   2013.08.24 , E31


Black's turn 29. ... Rd5?! 
 This move is rather an inaccuracy, since it allows White to activate his bishop. 

 ( Black could play more actively creating mating threats to White king, but instead ran into similar problems. 29. ... Rg6! 30. Bf4 Be4 and now none of White's defences is dangerous for Black: 31. Bg3 ( 31. g3 Rg7! rook goes to h1 32. Rxc4 Rh7 33. Rxe4 Rxe4 34. Rxa7 with an equal ending. ) 31. ... Rd8 = ! and a capture on a7 puts the White king under attack. 32. Rxa7? ( the correct way is not easy at all: 32. Rxc4 Rd1+ 33. Kh2 f5 

 34. f3! Rh6+ 35. Bh4 f4! 36. exf4 Rxh4+ 37. Kg3 Bd5 38. Ra4 Rh7 and position is rather drawn ) 32. ... c3 with initiative. ) 
 30. Bf6! Ra5 31. Ra1 
 Temporarily White places one of his rooks too passively. 

31. ... a6? 
 A pointless move, which was criticized a lot after the game by ... Kramnik. 

 ( Honestly, it is not easy to find the correct move without the engine, since White has a slight edge practically in all lines, and Black should choose the lesser of two evils. As a proposal, the following idea can be offered: 31. ... Rf5 First, pushing the bishop away. 32. Bc3 and now attacking on g2. 32. ... Rg5 33. f3 ( 33. Rxa7? Be4 ) 33. ... Rb5! Bringing the rook away from c1-h6 diagonal. ( 33. ... Rxe3? 34. Rb8+ Kh7 35. Rh8+ Kg6 36. Rg8+ Kf5 37. Rxg5+ Kxg5 38. Bd2 +- ) 34. Rxa7 Rxe3 Pawn a2 looks promising for White, that's why you prefer not going here unless you see White's 32nd move. 35. a4 Rb3 ( 35. ... Rb1+ allows more activity for White king 36. Kf2 Re2+ 37. Kg3 ) 36. Rc1 ( after 36. Ra8+ Kh7 37. Rh8+ Kg6 38. a5 Black quietly sacrifices the exchange: 38. ... Rxc3 39. a6 Re7 40. a7 Rxa7 41. Rxa7 Rc1+ 42. Kf2 c3 = ) 36. ... Rb1! now Kf2 is impossible and position looks more drawn. ) 

 32. g4! 
 A move, that was overlooked by Kramnik. Bishop gets a serious support and from now an appearance of the rook on h-file can be fatal for Black. 

32. ... Be2 33. g5 Rd5?! 
 A move that has been connected with a losing idea, but position of Black is already far away from safe. 

 ( 33. ... Bf3 34. Kh2 Rf5 35. Kg3 +/- ) 

 34. Kg2 Rf5 


 ( After the game the Russian GM said, that his initial idea was to play 34. ... Bd1 but here he understood, that the second rook goes down with a win: 35. Rbb1! followed by Rh1 with a decisive effect. ) 

 35. f4? 
 An instinctive move, which misses practically a forcing win. 

 ( 35. Rab1! Kf8 ( 35. ... Rb5?? 36. R7xb5 axb5 37. Rh1 +- ) 36. Rb8 (idea is to play R1b7 and Be7) 36. ... Bf3+ preventing f2-f4. ( 36. ... c3 37. f4! c2 38. Rh1 +- ) 37. Kg3 c3 (what else?) 38. e4! The simplest. After 38. ... Bxe4 39. Rxe8+ Kxe8 40. Re1 White wins the bishop. ) 

 35. ... Bd3 
 Black takes under control b1-square; h1 is also not available for Ra1. 

36. Kf2 
 Prepares Rh1. 

 36. ... Be4 37. Rd1 Rd5 38. Rxd5 
 White exchanges his least useful piece. 

38. ... cxd5 39. Ra7 Bd3 40. Bc3 Re6 41. Kf3? 
 3 moves later king will go back... 

 ( Again we see a little drama on move 41. Korobov allows Black king reaching more safe place on the board, while 41. Rd7 Be4 42. Ke2 would keep things under control: 42. ... Kf8 ( rook can not be activated. 42. ... Rb6?? 43. Rd8+ Kh7 44. Rh8+ Kg6 45. Rh6+ Kf5 46. Rxb6 ) 43. Bf6 Re8 44. Ra7 +/- having such a weak king, Black would have serious problems. ) 

 41. ... Kf8 42. a4 Ke8 43. a5 Rc6 44. Kf2 
 King goes around to c3 - so White had gifted two extra tempi to the opponent. 

44. ... Bf5 45. Ke1 


45. ... d4! 
 A correct practical decision. Black gets some lines opened. Otherwise, White would slowly win the game. 

46. exd4 
 Taking with the bishop does not look better due to 46...c3. 

46. ... Re6+ 47. Kd2 Bd3 48. d5 Rd6 


49. Kc1? 
 Unexpectedly, Korobov brings his king back to the first rank. 

 ( Exchange of pawns a6 and d5 plus activation of the king is what White needed. 49. Bb4! Rxd5 50. Kc3 Rf5 51. Rxa6 ! Rxf4 52. Ra7! (to keep the king on the 8-th rank) with great winning chances. ) 

 49. ... Bg6 50. Bb4 Rxd5 51. Rxa6 Kd7! 
 Here we see the difference between 49.Bb4 and 49.Kc1 - the White king is at home, while Black king finally feels good. 

52. Rf6 Rb5 53. Bc3 Rf5! 
 The fastest way to secure a draw. 

54. Rb6 Rxf4 55. a6 Rf2 56. a7 Be4 57. Kd1 Ra2 58. Rf6 Ke8 
 Draw. At first Black did not take enough care of his king, later White played badly by his king and a few times has not activated it in a proper way. 

1/2-1/2




 At the end of this chapter I will offer you to look at the mating attack held by big lover of OCBE's. 

 Karpov, Anatoly - Mecking, Henrique
 Hastings 7172   1971 , B92


Better bishop and initiative on the king side do not leave questions about who is the dominating side in the position on the diagram. It is hard to play with Black. 26. h5 Bb6 27. Rh3 
 Preparing doubling of the rooks. 

27. ... Bc5? 
 ( Black had to try locking the king side down by 27. ... g5 White is better, but there is no decisive continuation. ) 

 28. Rf1 f6 
 ( At this moment advancing 28. ... g5 does not work well, because Black pawn remains on f7. 29. h6+ Kh7 30. Rf6 +- ) 

 ( After 28. ... gxh5 White would recapture with the pawn 29. gxh5 with new threats against Black king. ) 

 29. hxg6 Kxg6 
 ( In case of 29. ... Rh8 White could switch to attack on f-file. 30. Rh5 Kxg6 31. Rhf5 Rbf8 32. g5 ) 

 30. Rfh1 
 Black king already feels very uncomfortable, but it was not necessary to allow White mating it. 

30. ... Rbe8 31. Rh7 Kg5 
 ( White did not have any mating ideas when Rh7 was attacked by the king. But after more resilient 31. ... Bd4 32. Ke2 Bxb2 33. R1h6+ Kg5 34. Rh5+ Kg6 35. Bxb7 everything would also be clear there. ) 

 32. Ke2 Kf4 
 ( It was not late to return to the best square: 32. ... Kg6 ) 

 33. R1h3 Bd4 
 I can not even award this move with "?", since 33...Rg8 would not save the game. So, probably 33...Bd4 is the best, because it ends tortures. 

 ( There already was no come-back way: 33. ... Kg5 34. Rg7+ Kf4 35. Rf3# ) 

 34. Rg7 
 Black resigned because of Rf3 idea. 

1-0

 
 



 5.2 
Bad Sicilian White light squared bishop 
 
 
 It is widely known, that in some openings one side (usually it is Black) initially is ready to get some bad piece that will remain passive in the long term in order to receive some counter resources. When we think about this, usually Black light squared bishop (LSB) in French and Black dark squared bishop (DSB) in KID come to mind. But White also has his own heroes. For example, it is possible (and often happens on practice) for many Sicilian variations to get a good Black knight versus bad LSB, which is restricted by pawns e4, d5 and/or c4. But now I offer you to look at how Black can get domination of DSB against LSB. 
 Despite his classical style and representing solid Soviet school, Boris Gelfand, in the games versus Hikaru Nakamura becomes as sharp and aggressive as his young opponent. As a result, in the games of these two players Black wins much more games than White does. Here is one of such wins. 

 Nakamura, Hikaru - Gelfand, Boris
 1st FIDE GP London 2012   2012.09.21 , B33


The evaluation of the position on the diagram can cause significant problems for inexperienced players. At first sight, White has a defended passed pawn on d5, that should guarantee him at least an equality. But, in fact, a more important characteristic of the position is that Black totally blocks White 4 pawns on the queen side with a5, b6 pawns and his bishop, while pawns on the king side are able to move forward. So, practically Black's chances are more preferable and White should demonstrate some accuracy. 33. ... Bd6 
 Of course, at first, Gelfand blocks d5 pawn. 

 34. Be6+ Kh8 35. Kg2 g6 36. b3 Kg7 37. h3? 


 A critical mistake. Nakamura places his last pawn on the light square (that is correct from general point of view), but he misses an important pawn move, after which it is already hard to defend his position. 
 ( White had to prevent e5-e4 advancing with 37. Rde1 = ! ) 

 37. ... e4! 
 Seemingly, the American GM overlooked this move, because intuitively it seems a bad idea to place the pawn on e4 - it looks weak there. Boris Gelfand has felt, that attack of this pawn will be more complex than one can think. What are the dividends of this modest advance? There are at least three we can point out: (1) square f3 can serve as a good outpost for the rook if White rooks leave "f" file; (2) it opens e5 square for the king and prevents an appearance of the White king in the center at the shortest way (via f3); (3) it makes a blockade of this pawn on e4 impossible. And the last but not the least - Black threatens to exchange all rooks on f-file with a difficult ending for White (yes, yes, it is hard to believe, but that ending will be tough for him - see notes to move 38). 

38. Bg4? 
 ( The main calculating of both players had to be done about 38. Rde1 Rxf1 39. Rxf1 ( after 39. Kxf1? Rf8+ 40. Kg2 Rf3 41. Rxe4 Rxb3 -/+ the a5 pawn is too strong; see a paragraph about rook's passed pawns. ) 39. ... Rf8 Otherwise, White rook enters on f7. 40. Rxf8 Bxf8 

 Surely, it was much simpler for Gelfand to go to this position, since obviously he has at least decent chances to win the ending, while for Nakamura it was hard to predict his chances to save the game. My analysis says, that White is able to defend this, but the path is quite narrow. 41. Kf2 Kf6 42. Ke3 Ke5 43. Bg8 White forces opponent's pawns to move on the dark squares. 43. ... h6 44. Bf7 Bc5+ 45. Kd2 g5 46. Bh5 The first stage of the ending is over. Now Black needs to find the best mix of three different plans - attack on b3, attack on h3 and advancing e-pawn. 

46. ... Kd4! Black pushes White king to c2. ( after 46. ... Kf4 White king occupies an optimal square e2. 47. Bg4 Kg3 48. Ke2 Kh4 49. d6! Bxd6 50. Ke3 h5 51. Be6 g4 52. hxg4 hxg4 53. Kxe4 = ) 47. Kc2 ( An attempt to leave the king in the center seemingly leads to a failure. 47. Bg4 Bb4+ 48. Ke2? ( 48. Kc2 leads to the same positions as in the main line. ) 48. ... Kc3 49. Ke3 Kxb3 50. Kxe4 Kxc4 51. Be2+ Kc5 position is winning for Black. ) 47. ... Ke3 48. Kc3 Now Black has two promising continuations. 

48. ... Kf2 ( Direct 48. ... Bb4+ does not win as well: 49. Kc2 King on c2 is well restricted, but it does not bring desirable dividends. 49. ... Kf2 50. Bg4 Kg3 51. Kd1 h5 52. Bxh5 Kxh3 53. Bg6 g4 ( 53. ... e3 54. Ke2 Bc5 55. d6 Bxd6 56. Kxe3 g4 57. Bf5 Kh4 58. Bc8 = ) 54. Bxe4 g3 55. Ke2 g2 56. Bxg2+ Kxg2 57. Ke3 and now already Black should make a draw with a move 

57. ... Kf1! going behind White king to queen side pawns. 58. Ke4 Ke2 59. Ke5 Kd3 60. d6 a4! 61. bxa4 Kxc4 62. Ke6 Be1 63. d7 Bh4 64. Kd6 Kb4 65. Kc7 Ka5 = ) 49. Bg4 Here the most interesting moment of the whole ending. All direct ways give nothing to Black, but a paradox 49...Kf1! sets serious troubles for White. 

49. ... Kf1! ( 49. ... Kg3 50. Kd2 Kh4 ( 50. ... h5 51. Bxh5 Kxh3 52. Bg6 e3+ 53. Ke2 g4 54. Bf5 Kg3 55. d6 Bxd6 56. Kxe3 = ) 51. Ke2 h5 52. Bf5 e3 53. d6 = ) ( 49. ... e3 50. Kd3 = ) 50. d6! ( 50. Kc2 is bad because of such variations: 50. ... e3 51. Kd3 Kf2 Here the point of 49...Kf1 move - White does not have useful moves here. Evidently, the bishop is only piece to move for him. 52. Bh5 Kg3 53. Bg4 h5! 54. Bxh5 Kxh3 And now White does not have time to exchange d5 for e3 pawn. 55. Bf7 ( or 55. d6 Bxd6 56. Kxe3 g4 -+ ) 55. ... g4 56. Be6 ( 56. d6 Bxd6 57. Be6 Bc5 -+ is the same ) 56. ... Kg3 # 

57. d6 ( or 57. Ke2 Kf4 58. d6 Bxd6 59. Bd7 Bc5 60. Bc6 Ke5 61. Kd3 g3 62. Bf3 Bd4! with idea Kd6-c5-b4 -+ ( or 62. ... e2! 63. Kxe2 Kd4 64. Kf1 Kc3 65. Bd1 Kd2 66. Bf3 Kc2 -+ ) ) 57. ... Kf3 58. d7 Be7 59. c5 The only chance. 59. ... g3 ( 59. ... e2? misses the win: 60. Bxg4+ Kxg4 61. Kxe2 Bd8 62. cxb6 Bxb6 63. Kd3 Kf5 64. Kc4 Ke6 65. d8=Q Bxd8 66. Kc5 = ) 60. cxb6 e2 61. Bg4+ Kxg4 62. Kxe2 g2 63. Kf2 ( after 63. b7 g1=Q 64. b8=Q Black organizes a mating attack: 64. ... Qg2+ 65. Kd3 ( 65. Kd1 Qf3+ 66. Kc2 Qe2+ 67. Kb1 Qd1+ 68. Ka2 Qc2+ 69. Ka1 Bf6+ ) 65. ... Qd5+ 66. Ke2 Qf3+ 67. Kd2 Bg5+ 68. Kc2 Qe2+ 69. Kc3 Bf6+ ) 63. ... Bc5+ 64. Kxg2 Bxb6 -+ ) ( 50. Bh5 Kg2 51. Bg4 h5 52. Bxh5 Kxh3 53. Bg6 e3 54. Kd3 g4 see 50.Kc2 line (the only difference is that White bishop there is on f7). ) 50. ... Bxd6 51. Kd4 Now Black king breaks through to the queen side, but White can cope with this. 51. ... Ke1 52. Kxe4 Kd2 It looks hard for White to hold Black on the queen side, but there is way, do you see it? 

53. c5! ( 53. Kd5? loses: 53. ... Bc5 54. Bf3 Kc2 55. Ke4 Kxb3 56. Kd3 Kb2 57. Bd1 h5 -+ ! and White can not stop all Black pawns. ) 53. ... Bxc5 54. Kd5! The King goes to defend on b5, while the bishop provides security for b3 pawn. 54. ... Kc3 ( 54. ... Kc2 55. Kc4 = ) 55. Bd1 Kb4 56. Kc6 h5 Only possible way to proceed. 57. Kd5! With pawn on h5 White receives a required counterplay. 

57. ... h4 ( or 57. ... g4 58. hxg4 hxg4 59. Bxg4 Kxb3 60. Bd1+ Kb4 61. Ke4! Kxb5 ( pawn does not promote: 61. ... a4 62. Kd3 a3 63. Kc2 ) 62. Kd3 Kb4 63. Kc2 = ) ( 57. ... Kxb5 58. Bxh5 Kb4 59. Bd1 b5 60. Ke4 a4 61. bxa4 bxa4 62. Bxa4 Kxa4 63. Kf5 then Kg4 and h3-h4. ) 58. Ke4 ( White would be punished if he were greedy. 58. Kc6 g4 59. hxg4 h3 60. g5 h2 61. Bf3 Kxb3 62. g6 Bd4 63. g7 Bxg7 64. Kxb6 a4 -+ ) 58. ... Kc3 ( 58. ... Kxb5 59. Kd3 Kb4 60. Kc2 = ) 59. Kf5 Be3 60. Ke4 Bc1 61. Kf3 Kd2 62. Be2 Kc2 63. Bc4 Kc3 64. Be6 Kb4 Pawn is won, but with pawn on h4 Black has no resources on the king side. 65. Ke4 Kxb5 66. Kd3 Kb4 67. Kc2 Bf4 68. Kb2 King stops Black's pawn on the queen side, while the bishop controls the situation on the king side. So, evidently Nakamura had to check out the pure OCBE. ) 
 ( 38. Rfe1? is one of the worst possible moves in the position: 38. ... Rf3 -/+ ) 

 38. ... h5 39. Be2 Rf6 
 ( 39. ... Rf5 was one move shorter way. ) 

 40. Rde1 Rf5 
 Gelfand does not force exchange of rooks with move 40...Rbf8, since it is not necessary for him. 40...Rf5 is simpler. In fact, the rest is not difficult. 

41. Bd1 
 ( 41. Rxf5 gxf5 42. Bxh5 Kf6 looks horrible for White, but move in the game is not better at all. ) 

 41. ... Rbf8 42. Rxf5 
 ( 42. Bc2? Rg5+ 43. Kh1 Rf3! 44. Rxf3 exf3 45. Rf1 Rg3 -+ ) 

 42. ... gxf5 43. Bxh5 Kf6 44. Rh1 


44. ... Kg5! 
 Gelfand chooses to blockade the h3 pawn, giving no chances to his opponent. 

45. Bd1 Kh4! 46. Rf1 Rg8+ 47. Kh1 Rg5 48. Bc2 Kxh3 
 Pawn is won and Black easily provides an advancing of his pair of passed pawns. 

49. Rf2 Kg3 50. Rh2 Rg4 51. Rg2+ Kf4 52. Rf2+ Kg5 53. Rd2 Rg3 54. Re2 Rh3+ 55. Kg1 Kf4 56. Kg2 


56. ... Rh2+! 
 A little tactical trick. 

57. Kf1 
 ( 57. Kxh2 Kf3+ ) 

 57. ... Rxe2 58. Kxe2 Ke5 
 Making a summary, we can state, that Nakamura made a wrong choice on move 38, since after 38.Bg4 his play became tough, while Gelfand had no real difficulties with finding correct moves. In the pure OCBE play was complex for both and he would have the chance for saving even if the starting position there were objectively lost. 

0-1




 Let's see a few examples from the Sveshnikov variation - the opening, where Black restricts opponent's light squared bishop from the very beginning (1.e4 c5 2.Nf3 Nc6 3.d4 cxd4 4.Nxd4 Nf6 5. Nc3 e5!). 

 Barua, Dibyendu - Moiseenko, Alexander
 Warsaw AIG Life rapid 7th   2007.12.15 , B33


On the last move opponents exchanged queens on d5. Engines do not display an advantage for any side, while for a human it is clear that Black's chances are higher, because his pawn majority on the king side is more mobile than majority of White on the queen side. It should be eventually used thanks to an option e5-e4 and advancing the king to e5. 20. ... Rab8 21. a3 f5 22. Ke2 g6 23. h5 Bg7 24. hxg6 hxg6 


 Here White had a chance to simplify his life, can you find it? 
25. Rhc1? 
 White prepares play on the wrong side, which ultimately just creates new weaknesses. 

 ( The correct idea was connected with advancing the g3 pawn (immediately or after previous preparing). 25. g4! The point is that in such way White opens a new file on the king side for counterplay or gets control over e4-square (if the f5 pawn captures or goes forward) . ) 

 25. ... Kf7 26. a4? 
 26.g4 still was possible. 

26. ... b4 27. c4 e4 -/+ 
 From here chances of White to save the game are close to zero. 

28. Rab1 
 Black has a choice - to prevent b2-b3 or c4-c5. 

28. ... Bd4 ! 
 ( Moiseenko chooses the most natural way - b2-b3 gives White no counterplay, while c4-c5 requires a lot of calculation. Here more or less forcing line is: 28. ... b3! 29. c5 Otherwise, Bd4 fixes a decisive advantage. 29. ... dxc5 30. Rxc5 Rfc8 

 How to fight for the open file? 31. Rc6! The most stubborn, White wins required time for f2-f3. 31. ... Rxc6 32. dxc6 Rc8 33. f3 Rxc6 34. fxe4 Rc2+ 35. Kf1 Bd4 36. Bh1 Finally, Black's position looks dominating, but there are still technical difficulties on the way to a win. ) 
 29. b3 


 Now Black can concentrate on advancing his king side pawns. 
29. ... Rh8? 
 Black chooses a wrong plan of exchanging all rooks. 

 ( Much better was to keep the rooks on the board to support his pawns. 29. ... Rbe8! 30. Rh1 Kg7 31. Rbd1 Bc5 -/+ and now everything is ready for f5-f4 play. White king experiences serious problems here. ) 

 30. Rh1 Kf6 31. Rxh8 Rxh8 32. Rh1 Rxh1 
 Seemingly, avoiding the exchange would be better practical decision, since rook could increase the pressure. 

33. Bxh1 Ke5 


 ( 33. ... g5 would be met by 34. g4! ) 

 34. g4?! 
 ( White misses the chance to remove e4-pawn. 34. f4+! although, problems do not disappear after this automatically; White should play carefully. 34. ... exf3+ ( after 34. ... Kf6? White again can use 35. g4 a5 36. Bg2! No need to play 36.g5, since it unties hands of Black king to run to d4. 36. ... Ke7 37. gxf5 gxf5 38. Bh3 = ) 35. Bxf3 Bg1 Freeing d4-square for the king. White should solve the problem - to play Kd3 or g3-g4, what would you do? ( Another way here is 35. ... g5 The idea is to play g5-g4 and to fix a weakness on g3, so White again advances this pawn. 36. g4! fxg4 37. Bxg4 Kf4 38. Bh3 g4 39. Bg2 Fortress works in the following way - bishop moves on h1 and g2 squares; while the White king should memorize corresponding squares: g3(h2)-f1; f4-e2 and e5-d3. So, Black king can not get any progress. ) 36. g4! Kd4 appears to be a less serious threat because of c4-c5 sacrifice idea. ( after 36. Kd3? g5 37. g4 fxg4 38. Bxg4 Kf4 White is in big troubles, since he can not achieve the fortress, that we saw earlier (Bg2-h1 and King on f1, e2, d3 squares). ) 36. ... Kd4 ( 36. ... fxg4 37. Bxg4 Kf4 ( 37. ... Kd4 38. Kd2 Be3+ 39. Kc2 a5 Black prevents a4-a5, Bc8 idea, but White gets time for another trick. 40. c5! Kxc5 ( 40. ... dxc5 41. d6 c4 42. bxc4 Kxc4 43. Be6+ Kc5 44. d7 Bg5 45. Bf7 = ) 41. Kd3 and Bf3= ) 38. Bh3 g5 39. Bg2 with a fortress. ) 37. gxf5 gxf5 38. c5! dxc5 ( or 38. ... Kxc5 39. Kd3 = and Black king can not join his pieces. ) 39. d6 Bh2 40. d7 Bc7 41. Bb7 a5 ( or 41. ... c4 42. Bxa6 cxb3 43. Kd2 = ) 42. Ba6 = ) 

 34. ... Bb6 
 Opens the way for the king. 

35. gxf5 gxf5 36. Bg2 Kd4 37. Kd2 f4 


 Here after all unconvincing decisions White still had a nice resource, can you find it? 
38. Bf1 
 The least resilient. 

 ( 38. c5! Now Black needs to make a hard choice - Bishop or pawn? According to my analysis (that still can include mistakes), just one of them is winning. 38. ... Bxc5! ( 38. ... dxc5? 39. Bf1 Ke5! Not the most natural move; Black aims to attack on f2! ( after instinctive capture 39. ... Kxd5 the defence is much simpler - 40. Bxa6 f3 41. Bc4+ Kd4 42. Ke1 = ) ( or 39. ... f3 40. Bxa6 Kxd5 41. Bc4+ = ) 40. f3! White brings the pawn away from a direct attack. Now Black is unable to create a pair of passed pawns in the center. ( 40. Bxa6? c4! 41. f3 c3+ -+ ) 40. ... e3+ ( 40. ... exf3 41. Bxa6 Kxd5 42. Bc4+ Kd4 43. Ke1 Ke3 44. Kf1 = ) 41. Ke1 a5 42. Bc4 = Everything is under total control, although the engine still shows "-0.85" for Black. ) 39. Bf1 ( after 39. f3 White is unable to hold both e-pawn and b3-weakness. 39. ... e3+ 40. Kc2 ( 40. Kd1 Kc3 41. Bf1 Kxb3 42. Bxa6 Kxa4 -+ ) 40. ... e2 41. Kd2 a5 -+ ! and then e2-e1Q followed by Kc3xb3. ) 39. ... f3! Black fixes f2-pawn. ( After 39. ... Kxd5 White plays 40. f3 = ! The key move of saving operation - White gets the control over all required light squares to stop opponent's pawns. ) 40. Bc4 ( 40. Bxa6? Kxd5 -+ see the game text. ) 40. ... Ke5 41. Ke1 a5 42. Kf1 Kf4 43. Ke1 

 Black has only one way to breakthrough - 43...Bxf2. Can you calculate that and to say if it wins or not? 43. ... Bxf2+! 44. Kxf2 e3+ 45. Ke1 ( in case of 45. Kf1? Black king runs to c2. 45. ... Ke4 46. Ke1 Kd4 47. Kd1 Kc3 48. Ke1 Kc2 -+ with a zugzwang for White. ) 45. ... Kg3 ( 45. ... Ke4 46. Kd1 Kd4 47. Kc2 and kings should run back. ) 46. Kf1 e2+ 47. Ke1! the best try. ( The instinctive 47. Bxe2? loses in the queen ending. 47. ... fxe2+ 48. Kxe2 Kf4 49. Kd3 Ke5 50. Kc4 Ke4 51. Kb5 Kxd5 52. Kxa5 Kc5 53. Ka6 d5 54. Kb7 d4 55. a5 d3 56. a6 d2 57. a7 d1=Q 58. a8=Q Pawns are promoted at the same time but Black has a mating attack. 58. ... Qd7+ 59. Kb8 ( 59. Ka6 Qb5+ 60. Ka7 Qb6# ) 59. ... Kb6 -+ ) 47. ... Kg2 Now it is time to sacrifice the bishop. 48. Bxe2 fxe2 ( 48. ... f2+ ? 49. Kd2 f1=Q 50. Bxf1+ Kxf1 51. Kd3 Ke1 Black king goes around, but White king just runs forward. 52. Ke4 Kd2 53. Kf5 Kc2 54. Ke6 Kxb3 55. Kxd6 Kxa4 56. Kc7 b3 57. d6 b2 58. d7 b1=Q 59. d8=Q = ) 49. Kxe2 White took the opposition and at first look it looks drawn, but Black can win the fight for the opposition with moving down to the fifth rank! 

49. ... Kg3 50. Ke3 Kg4 51. Ke4 Kg5! e5 is unavailable for White king and it should go aside. 52. Ke3 Kf5 53. Kd4 Kf4 54. Kc4 Ke4 with a queen endgame from the previous line. 55. Kb5 Kxd5 56. Kxa5 Kc5 57. Ka6 d5 58. a5 d4 59. Kb7 d3 60. a6 d2 61. a7 d1=Q 62. a8=Q Qd7+ 63. Kb8 Kb6 -+ ) 
 38. ... f3 -+ 
 The f2 pawn is fixed and now it is absolutely hopeless for White. 

39. c5 Bxc5 40. Bxa6 Kxd5 41. Bb7+ Ke5 42. Ke1 Bb6 43. Bc6 d5 44. Bb7 d4 45. Bc6 d3 46. Bb5 


46. ... Bxf2+! 47. Kxf2 d2 48. Be2 fxe2 
 Black central pawns did their job! 
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 Edelman, Daniel - Chandler, Murray G
 Lloyds Bank op 13th   1989 , B33


In this game we see the same pawn structure on the king side as we saw in the previous example, but on the queen side situation is different - White already has a passed pawn. But, luckily for Black, it is rather good for him, since his rook has open files, while pawn is absolutely not dangerous for him (bishop will safely block it on b6). Black's main active idea is the same - e5-e4, Ke5 and advancing of other pawns. 31. ... Rc2 
 From now White rook is tied to b1 in order to prevent Rb2. 

32. Kf1 
 ( Pawn can not advance - 32. b5 Bd8 33. b6? Bxb6 -+ ) 

 32. ... e4 33. Be2 Bd8 34. Ke1 Bb6 


 Here is an important moment, on which I would like to stop. White played 
35. f4? 
 that should be considered a serious strategic mistake. To understand what White had to do, we need to answer to the question "What makes Black's advantage so stable and tangible?" Beside active rook and better bishop we can note, that the e4 pawn strongly restricts White. And this happens all the times in positions with such pawn structure. The e4 pawn is White's main enemy. So, White had to try weakening it by move 35.f3. 

 ( 35. f3! Kg7 36. fxe4 fxe4 37. Kd1 Now it is time to push Black rook back. 37. ... Rc7 38. Rc1 Move f2-f3 made this idea possible - pawn on f2 is not hanging anymore. 38. ... Rxc1+ 39. Kxc1 Kf6 40. Kd2 Ke5 41. Bc4 and king stops Black pawn on e2. ) 

 35. ... Kg7 36. g3 
 White pawns on the king side are a perfect target for Black bishop. 

 ( Now 36. Kd1 is less effective because the e4 pawn is much stronger; moreover, the f4 pawn will need a tempo to defend it after move Be3. 36. ... Ra2 37. Rc1 Be3 38. Rc6 Rd2+ 39. Ke1 Rb2 -/+ ) 

 36. ... Be3? 
 Black loses important time. 

 ( 36. ... Kf6! was stronger, since activation of White rook via c1 is not so dangerous. 37. Kd1 Ra2 38. Rc1 Bg1 39. h3 Bf2 40. Rc3 ( 40. g4 loses on f4. 40. ... Bg3 41. g5+ Ke7 -/+ ) 40. ... e3 -/+ winning the material. ) 

 37. b5 Bb6 38. Ra1 Rb2 39. Ra6 Bc5 


 Black holds the b5 pawn comfortably and it looks, that Kf6 followed by h7-h6, g6-g5 should easily increase the advantage. But White has a strong resource against this plan. Can you find it? 
40. Rc6 Kf6 41. Rc7 h6? 
 Black follows an announced plan and misses a strong alternative; moreover, White receives an important time to stabilize the situation. 

 ( 41. ... Be3! Aiming to distract Be2 from the defense of b5 pawn. 42. Rd7 Rb1+ 43. Bd1 Bc5 with the advantage. ) 

 42. Rd7! 
 Bc5 is stuck, while g6-g5 does not work because of Bh5 resource (again we see a mating net in the OCB+RE!). 

42. ... Rb4 
 ( 42. ... g5? would be a mistake, although Black can escape of mating net: 43. Bh5 gxf4 44. gxf4 Bb4+ 45. Kf1 ( 45. Kd1? gives Black king an access to e6 square: 45. ... Rd2+ 46. Kc1 Rxd5 -+ ) 45. ... Rb1+ with a perpetual check. If White disagrees with such a result, he will get mated himself: 46. Kg2 Rb2+ 47. Kh3 Rb3+ 48. Kh4?? Be1# ) 

 43. Rd8? 
 For some reasons White moves his rook away from f7 square; evidently, he did not see Bh5 idea at all. 

 ( A correct move 43. Kd2! would hold the balance: 43. ... g5 44. b6! The most precise way. ( after 44. Bh5?! gxf4 45. gxf4 Rd4+ Rxd5 leaves Black slight chances for a win. ) 44. ... gxf4 ( 44. ... Rxb6? 45. Bh5 +- ) 45. gxf4 Rb2+ 46. Ke1 Rb1+ 47. Kd2 Rb2+ = ) 

 43. ... g5 
 Black seizes the initiative, but game does not go so smoothly for him. 

44. Rf8+ Kg6 45. h4? 
 White aims to play h4-h5, but it appears to be weak play. 

 ( 45. Rg8+ Kf7 46. Rb8 was stronger ) 

 45. ... gxh4 46. gxh4 e3?! 
 ( Instead Black again could use the idea 46. ... Be3 -/+ ! followed by check on b1 and taking on f4. The point is that winning the pawn on f5 puts White rook on no-moves square. 47. h5+ Kg7 48. Rxf5 Rb1+ 49. Bd1 Bd4 -+ 

 and Black slowly wins. All White pieces are on the terrible positions. ) 
 47. h5+ Kg7 48. Rb8 
 ( 48. Rxf5? is the same bad. ) 

 48. ... Rxf4 
 Pawn is won, but advancing of pair e3-f5 is complicated, because of blockade on f3. 

49. b6 
 White tries his last chance - to advance his passed pawn. 

49. ... Rb4 50. b7 Rb1+ 51. Bd1 f4? 
 Before making this move Black had to win some time by move 51...Rb2! The nature of this mistake is hidden in miscalculating on move 55. 

52. Ke2 Ba7 53. Rd8 f3+ 54. Kxf3 Rxd1 


55. b8=Q? 
 ( White missed an easy move to obtain a draw. 55. Ra8! ) 

 55. ... Rf1+! 
 Before taking the queen Black secures his pawn. 

56. Ke2 Rf2+ 57. Ke1 Bxb8 58. Rxb8 


 Position is winning for Black, but it is important to avoid cutting off his king. 
58. ... Rd2? 
 ( 58. ... Kf6 was the simplest 59. Re8 Kg5 60. Rxe3 Rf5 -+ winning both White pawns. ) 

 59. Re8 Rxd5 60. Re6! 
 Obviously, Murray Chandler had missed this move, when he played 58...Rd2. White is down two pawns but Black can not take on h5 without losing on d6, while the e3 pawn is hopelessly weak and going to be an easy dinner for White king. 

60. ... Kf7 61. Rxh6 Rd2 


 Black uses his only chance - arrests the king on the first rank. 
62. Rh7+? 
 For some reasons White decided to free Black king, that immediately leads to a loss. 

 ( Instead 62. Rg6 would give a draw: 62. ... d5 ( or 62. ... Ke7 63. Rg3 ) 63. Rg3 d4 64. Rg4! Black pawns are too distant from his king. 64. ... Kf6 ( 64. ... d3 65. Re4 Re2+ 66. Kd1 Kf6 67. h6 Kf5 68. h7 = ) 65. h6 Kf5 66. Rh4 d3 67. Rd4 = ! exchanging h-pawn for the d3 pawn. ) 

 62. ... Kf6 63. h6 d5 64. Rd7 Ke5 
 Black pawns are defended by the king, so the rook is free to move to h2 to control h-pawn. White resigned, because he had no way to oppose the advance of the Black pawns. 
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 5.3 
Rook passed pawn. 
 
 
 We have already seen games by the winner of the World Cup-2013, now let's look at the example of the winner of the World Cup-2015. Sergey Karjakin lost his first game in round 2 to Alexander Onischuk (in other words, one former Ukrainian player lost to another one). So, the next game was must-win and the future winner of the whole competition has chosen an OCBE for this purpose. 

 Karjakin, Sergey - Onischuk, Alexander
 FIDE World Cup 2015   2015.09.15 , C65 


In the position on the diagram White is better due to a weakness on c7 and better prospects of his rooks. 15. f3 Bf5 
 ( 15. ... Bd5 would not change much in the general character of play. ) 

 16. Bf4 Rac8 17. Rhe1 Be6 


 Can you find the plan for White? 
18. Re3! 
 The Russian GM uses ranks for his rooks to attack queen side pawns. 

18. ... Rfe8 19. Rd4! 
 The 4-th rank is also gonna be used. 

19. ... b6 20. Rb4 a5 
 ( After 20. ... b5 White would not get trapped, but instead would play 21. Rd4! ( in case of 21. Ra3? Bf5 22. Rxa6? Re2 Black is better. ) 21. ... a5 22. Ra3 a4 23. b3 axb3 24. axb3 followed by Ra7 with a long-lasting pressure. ) 

 21. Ra4 Re7 


 A critical moment - White needs a plan to make any progress on the queen side. Can you find Karjakin's idea? 
22. c4! 
 White creates a passed pawn on a-file, that will become his main weapon. 

22. ... Rd7 23. cxb6 cxb6 24. c5! bxc5 25. Rxa5 c4? 


 A serious mistake - Black bishop does not attack on a2 anymore, and White gets important time. What to do now? Black still wants to double rooks on d-file. 
 ( Black had to put a pressure on the opponent's position by 25. ... Rcd8! 26. Re1 and now for example 26. ... h6 a2-a3 will be met with Bb3, while Rxc5 gives up on a2. 27. Be3 ( 27. Rxc5 Bxa2 = ) 27. ... Rd3 = ) 

 26. Rea3! 
 One more technical and instructive moment - White aims to trade off one pair of rooks, that will make life of his king much safer. 

26. ... Rdd8 
 Ra8 is stopped, but Karjakin demonstrates perseverance. 

27. Ra7! h6 28. Rc7! Rxc7 29. Bxc7 


 The mission is completed. If Black does not do anything active, White simply promotes his a-pawn. 
29. ... Rd3? 
 ( Onischuk places his rook badly. Instead 29. ... Re8! followed by the idea Bf5-d3, Re2 would make White's task more difficult. 30. Be5 ( after 30. Kd2 Black anyway plays 30. ... Bf5! with idea Bd3 ) 30. ... Bf5 31. Bc3 Re2 32. Ra8+ Kh7 33. a4 ( or 33. g4 Be6 34. a4 Rxh2 35. a5 Bd5 with ideas c6-c5 and Rh1-a1; the "a" pawn is not queening (at least not easily) ) 33. ... Rxg2 34. a5 Be6 35. a6 c5 even here Black creates serious problems for the opponent (Rg1-a1 and Bd5). ) 

 30. Ra8+ Kh7 31. Ba5 +/- ! 
 A key move; bishop goes to c3, from where it restricts all Black's active ideas. 

31. ... h5 32. h4?! 


 Karjakin aims to stop any counterplay on the king side, but evidently he chooses not the optimal moment for that. How Black should use the inaccuracy of the opponent on the last move? 
 ( A strong alternative was 32. a4 h4 33. h3 +/- creating no new weaknesses. ) 

 32. ... Bf5? 
 ( Black misses his last defending resource: 32. ... Rd4! 33. Be1 At first, this move looks very strong - What Black can do active now? 33. ... Kg6 34. a4 

 But now Black uses the absence of the bishop on c3. 34. ... c3! that frees 4-th rank for maneuvers. 35. bxc3 ( 35. Bxc3 Rxh4 36. a5 ( 36. b4 gives Black a passed on h-file. 36. ... Rh1+ 37. Kd2 Rh2 = ) 36. ... Ra4 with minimal advantage of White. ) 35. ... Rc4 36. Kc2 Bd5 with good prospects on the light squares. ) 
 33. a4 Rd6 34. Bc3 c5 35. a5 Rg6 36. a6 Rxg2 
 Black spent too much time to take on g2. 

37. Rf8 Be6 38. a7 Bd5 39. a8=Q Bxa8 40. Rxa8 Rf2 41. Rc8 
 Black resigned. 

1-0




 In this game White got a passed pawn on "a" file, which was hard to stop. Let's see one more example on a theme of creating a rook passed pawn. 

 Andersson, Ulf - Godena, Michele
 Manila ol (Men)   1992 , D14


The position on the diagram looks absolutely safe for Black, but the Italian player decided to play actively without looking at opponent's threats. 28. ... Rh6? 
 ( 28. ... Bd3 was the safest - White does not have any active idea. ) 

 29. e4 Be6 30. Rd1 


 The b7 pawn is doomed and Black should think on how to fight against passed on a-file. Unluckily, he prefers an active counterplay on the king side instead of activation his king. 
30. ... f6? 
 ( The most resilient continuation was 30. ... Kf8 31. Rd8+ Ke7 32. Rb8 Kd6 33. Rxb7 Kc6 34. Rb8 and just now to take on h2: 34. ... Rxh2+ 35. Ke3 ( or 35. Kg3 Rh3+ 36. Kg2 Rh5 37. a4 Kc7 the advancing of a-pawn is complicated at maximum. ) 35. ... Rh3! with idea of Bg4; in both variations White does not have direct ways to convert his advantage into a full point. ) 

 31. Rd8+ Kf7 32. Rb8 Rxh2+ 33. Kg3 Rh1 34. Rxb7+ Kg8 
 ( As 34. ... Kg6? 35. f4 is too dangerous for Black king, he is forced to place his king back to the 8-th rank. This predetermines the result of the game. ) 

 35. a4 h5 


36. Re7! 
 The Swedish endgame maestro does not miss the chance to place Black bishop on the worse square. 

36. ... Bf7 (only move) 37. a5 Kf8 
 ( The advancing of pawn does not give anything: 37. ... h4+ 38. Kg4 h3 39. Kg3 +- ) 

 38. Bb4 
 The rest is simple: 

38. ... Rg1+ 39. Kf4 g5+ 40. Kf5 Rf1 41. Kxf6 Rxf3+ 42. Kxg5 Rg3+ 43. Kf5 Rf3+ 44. Kg5 Rg3+ 45. Kf4 Rg4+ 46. Kf3 Rg6 47. a6 Kg7 48. Bc3+ 
 ( Black resigned, because of inevitable material loses: 48. Bc3+ Kf8 49. a7 Ra6 50. Rb7 Be8 51. Bb4+ Kg8 52. Rb8 ) 

1-0 




 Although, this paragraph is dedicated to OCBE with rooks on the board, I would like to show here a recent masterpiece of my old good friend Mykhaylo Oleksiyenko in the pure OCBE, where a theme of rook passed pawn featured as the main nuance. 

 Oleksiyenko, Mykhaylo - Bakhmatsky, Vladislav
 85-th ch-UKR   2016     


Black's turn 26. ... a5! 
 On the previous move opponents traded off queens and Black correctly begins to exchange as many pawns as he can. 

27. bxa5! 
 The only perspective decision. Bishop will block c5 and d4 pawns, while after a5-a6 White will have at least one passed pawn. 

27. ... dxc5 28. f4 Bf6 29. Kc2 Kd6 


30. a6! 
 Here we can see that White has no doubts about what is more important - pawns or ideas. The d5 pawn plays no role, whereas a passer on the "a" file can steal the show. 

30. ... bxa6 31. Bxa6 h4 
 ( After 31. ... Kxd5 32. Kd3 Black would need to play Ke6 or Kd6 and after Bc4 - Ke7, that would make a-pawn more dangerous. So, Black continues a strategy of mass exchanges. ) 

 32. Kd3 hxg3 33. hxg3 g5 34. fxg5 Bxg5 35. Ke4 Bd8 36. g4 f6 37. Bc4 Ba5 38. a4 Bc7 39. Kd3 Ba5 


 The critical moment is coming. White has an active idea, do you see it? 
40. Bb3! 
 Opens a path for the king to b5. 

40. ... Bb4 
 Black could start sacrificing his pawns right here, but that would lead to more puzzling at the end: 

 ( 40. ... c4+ 41. Kxc4 d3 42. Kxd3 Kc5 43. Ke4 Bc3 44. Kf5 Kd6 45. a5 Bxa5 46. Kxf6 Bc3+ 

 with a draw - Black pieces are able to hold on d6-e5-f6-g7 squares if White king goes to f5. If king goes to g6 or f7 Black bishop disturbs White pawn on square g5. 47. Kg6 Ke7 48. g5 Bd2 and pawn can not come to g6 with the king on the 6-th rank. 49. Kf5 Bc3 50. g6 Bb2 = ) 
 41. Kc4 Be1 42. Bc2! 
 Bishop goes to e4 in order to defend on d5 and to prevent d4-d3. 

42. ... Bd2 43. Be4 


43. ... Bc3 
 ( We already saw this many times at the beginning of the book - Black bishop is able to hold pawn "a" without king's support. 43. ... Ba5! 44. Kb5 Bc7 45. a5 Bb8! and there is no way to move forward for White. 46. Ka6 Bc7 47. Kb5 Bb8 48. a6 Ba7 = ) 

 44. Kb5 d3? 
 ( Here Black misses one more chance to save the game 44. ... Ke5 45. Bf3 d3 46. Kc4 ( or 46. a5 c4! 47. a6 Bd4 48. Kxc4 Bf2 49. Kxd3 Ba7 = ) 46. ... Ba5 47. Kxd3 Be1 48. Kc4 Kd6 49. Kb5 c4! 50. Kxc4 Bf2 = with similar drawn setups. In both variations White has no real hopes to cross the wall along a7-g1. ) 

 45. Bxd3 Kxd5? 
 ( A relatively simple moment for a save: 45. ... c4! 46. Bxc4 ( 46. Kxc4 Be1 = ) 46. ... Bd4 All Black need is do not allow White king coming to b7. 47. a5 Kc7 48. Ka6 

 Which square is good for the bishop. 48. ... Bc5! ( 48...Be5 was the same good, while 48. ... Be3? loses to 49. d6+ Kxd6 50. Kb7 +- ) 49. Bd3 Bd6 50. Kb5 Bf4 = ) 
 46. a5 
 Now it is over. 

46. ... Kd6 
 ( 46. ... c4 Too late. 47. Bxc4+ Kd6 ( 47. ... Ke5 

 It is not late to allow the win slipping through the fingers. 48. Bd3! The only winning move that prevents f6-f5 - Its Majesty Prophylactic! 48. ... Bd4 49. Kc6 +- ) 48. Kb6 Bd4+ 49. Kb7 +- ) 
 47. a6 
 Black resigned - the pawn finally has stolen the show. 

1-0

 
 



 5.4 
Exchange sacrifice. 
 
 
 Another specific characteristics of OCB+RE is that the strongest side has an opportunity to sacrifice an exchange in order to break through and to create a passed pawn (or even a few). Usually such sacrifices are not difficult to play, seemingly, the most difficult thing is to realize, that such an idea exists. 

 Nikolic, Predrag - Huebner, Robert
 Interpolis 11th   1987.10.02 , D46


Black is much worse - he is down a pawn, his king is weak, White pieces are super active. But at the same time Bd5 defends all weaknesses and if we do not know the title of the paragraph, we can spend a lot of time to find the winning way. 50. Re7+ Kd8 51. Rxf7! Bxf7 52. Kxf7 Rxg2 53. f4 +- 


 Black's position is hopeless. 
53. ... Kd7 54. Kxg6 Ke6 55. Bd4 Kd5 56. Bg7 
 A slightly weird decision, but is anyway winning. 

 ( I think, White saw the idea of bishop's sacrifice, but he acted practically correctly - such measures were not necessary. 56. f5! Kxd4 57. f6 Kxc5 58. f7 Rf2 59. Kg7 Kd4 60. f8=Q Rxf8 61. Kxf8 +- ) 

 ( The idea of Nikolic could be done with a move 56. Bf6 Kxc5 57. Kf5 and then g5-g6, Bg5 etc. ) 

 56. ... Kxc5 57. Bh6 


57. ... Kd5 
 ( Black could offer more resistance by means of 57. ... Rf2 58. Kf5! ( The natural 58. f5? misses the win due to 58. ... Kd5 59. f6 Ke6 60. Kh7 c5 61. g6 Rxf6 62. g7 Rf7 = ) 58. ... Kd6 59. Bf8+ ( 59. g6? Ke7 = ) 59. ... Kd7 60. g6 Ke8 61. Bc5! Rf1 62. Ke5 followed by f4-f5 and Kf6 +- ) 

 58. Kf5! 
 Now it is over. 

58. ... c5 59. g6 Ra2 60. g7 Ra8 61. Bg5 c4 62. Bf6! Rc8 63. Bc3 


63. ... Ra8 64. Kg6 Ke4 65. f5 Ra2 66. f6 
 Black resigned. 

1-0





 Anand, Viswanathan - Khalifman, Alexander
 Biel Interzonal   1993 , B17


Again the advantage of White is obvious, but the simplest way is connected with a sacrifice exchange. 52. Rc6 
 White aims to play Rc7-f7, so Black is forced to play 

52. ... Re8 
 with idea to meet Rc7 by Re7. 

53. Rxb6! 
 Anand readily gives up the exchange - two pawns and pieces domination on the queen side will provide him a promoting of one of his pawns. 

53. ... Bxb6 54. Kxb6 Re2 
 ( 54. ... Re5 loses to 55. a4 +- ) 

 55. c5 Ke7 


56. Bb3! 
 White takes under control c2-square, so Black does not have time to take on b2. 

56. ... Kd7 57. Bc4! 
 A nice back-and-fourth maneuver. With the king on d7 this move works well. 

57. ... Re5 
 Black hopes to place his rook on c5 to stop the pawn, but a natural 

 ( After 57. ... Rxb2 58. c6+ +- pawn promotes into the queen. ) 

 58. f4 
 pushes the rook away from the 5-th rank. 

 ( 58. c6+? Kd6 and Rc5 is coming. ) 

 58. ... Re7 
 ( After 58. ... Rxh5 59. g4 +- c5-c6 wins the game. ) 

 59. f5! Kc8 60. c6 Kb8 61. Be6 Ra7 62. a3 
 Black resigned. 

 ( In his notes to the game Anand offers such winning line: 62. a3 bxa3 63. bxa3 Rc7 64. a4 Ra7 65. a5 Rc7 66. a6 Ra7 

 67. Bc8! Kxc8 68. Kxa7 Kc7 69. g4 +- ) 
1-0 





 Valcarcel, Juan J - Smyslov, Vassily
 Las Palmas   1972.05.31 , D86


Once again the sacrificing side is a pawn up and his opponent has a fortress-like setup. However, in this example, idea of sacrifice is less obvious. 47. ... Rd3+ 48. Kf4 Rxd4! 49. cxd4 Kxb4 
 A pair of passed pawns guarantee Black the win. 

50. f3 Bd5 51. Ra1 Kc3 52. Ke3 
 ( or 52. Rb1 Kd2 53. Rb2+ Kd3 54. Rxb6 c3 -+ ) 

 52. ... b5 53. f4 b4 
 White resigned. 

0-1




 As an example of exchange sacrifice that has not happened, I can mention the Maiorov-Aveskulov game (move 78). 


 
 5.5 
Play by the king 
 
 
 If we try to identify distinct nuances of OCB+RE, we need to mention the activation of the king. Even though it is a general idea for most of endgames, in this type of endings king's maneuvers become especially dangerous if the defending side is unable to hold the whole complex of squares. 

 Azmaiparashvili, Zurab - Kozul, Zdenko
 Bled ol (Men)   2002.10.30 , D73


White is a pawn up, but his e2-pawn falls. The a5 pawn will not promote itself, it needs a support from the king, but how is it possible? 41. Bf6! Rxe2+ 42. Kd3 Ra2 
 ( Other rook's moves also do not help: 42. ... Rxf2 43. Re7+ Kd8 ( 43. ... Kf8 44. Rb7 Ke8 45. a6 +- ) 44. a6 Ra2 45. a7 Kc8 46. Rxf7 +- winning on h7, followed by two active plans - a march of the king to d6 and an advancing of the "h" pawn. ) 

 ( 42. ... Rc2 43. Re7+ Kf8 44. Rb7 Rc8 45. a6 Ba4 46. a7 Bc6 47. Rb8 Re8 48. Kc3 with idea Kb4-c5-d6, Be7 +- ) 

 43. Kc3 Rc2+ 
 ( Cutting off along the 4-th rank does not help: 43. ... Ra4 44. a6 (idea is Re7 and a6-a7) 44. ... Rc4+ 45. Kd2 Bb3 ( 45. ... Ba4 46. Re7+ Kf8 47. a7 Bc6 48. Rd7 +- ) 46. Re7+ Kd8 ( 46. ... Kf8 47. a7 Rc8 48. Rb7 +- ) 47. Rxf7+ Kc8 48. Rf8+ Kd7 49. a7 +- ) 

 44. Kb4 Rc4+ 45. Kb5 Ba4+ 46. Kb6 
 A series of checks just helps White king to reach his goal. 

46. ... Rb4+ 47. Kc7 Rc4+ 48. Kd6 Rc6+ 49. Ke5 +- 


 The mission is completed. Now besides a control of a5-pawn Black also needs to take care of Kd6 threat. 
49. ... Bb5 50. Re7+ Kf8 51. Rb7 Ba6 52. Rb8+ Rc8 53. Rxc8+ Bxc8 54. Kd6 Ke8 55. Kc7 
 Black resigned, since the "a" pawn is unstoppable. 

1-0

 




 Onischuk, Alexander - Belozerov, Andrei
 EU-Cup 19th   2003.09.30 , E42


Here is another example of a long king's maneuver. Surely, king should use a path via e5-square, but first White needs to lock the Black rook down. 32. Bb8! Bd3 33. Kf2 Bb5 34. Ke3 h6 
 ( Seemingly, Black did not see the opponent's idea, so he even did not try to prevent it. After 34. ... f6! White would need to undermine opponent's pawn structure with g4-g5 move. 35. g4 Bc4 36. Kf4 Bd3 37. h4 h6 38. g5 hxg5+ 39. hxg5 Bc2 and now 40. Bd6 +- ! with idea Be7 could force Black to move his f6-pawn and to free the way for the king. ) 

 35. Kf4 Bf1 
 ( King was not able to stop his colleague. 35. ... Kf8 36. Ke5 Ke8 37. Kd6 Kd8 38. Rxf7 +- ) 

 36. g3 Be2 ? 
 ( Here was the last moment to defend: 36. ... f6 37. h4 with variations similar to lines, that we saw after 34...f6. ) 

 37. Ke5! 
 King goes to win the rook. 

37. ... Bxf3 38. Kd6 g5 39. Kc7 f5 40. Rb2 Kf7 41. Kb7 Rxb8+ 42. Kxb8 Ke6 43. Kb7 1-0




 Alexander Beliavsky is one of big lover of our game. Being 2-times USSR champion, his last great success was sharing of 1-8 places in the European Championship of 2013 at age of 60! Let's see how the young Beliavsky played OCB+RE against top USSR player Efim Geller. As it often happens, the most interesting line has been left behind the scene. 

 Beliavsky, Alexander G - Geller, Efim P
 URS-ch41   1973.10.26 , C93


White is two pawns up, but Black hopes for a fortress along the whole board. He just has played f5-f4, so the destiny of the White king is predetermined and it starts his run. 45. Kg1 Kf6 46. Kf1 Ke7 47. Rc2 Kd8 48. Ke2 Kc7 49. Kd3 g5 50. Bb5 Kb6 


 What now? King will achieve nothing on c4, when Black king is on b6. So, he brings his rook to b3. 
51. Rc1 Rc8 52. Ra1 Rb8 53. Kc4 Rc8 54. Ra3 Rb8 55. Rb3 Kc7 


56. Bc6! 
 White readily goes to pure OCBE, since there he has a lot of resources to breakthrough. 

56. ... Rxb3 57. Kxb3 Kb6 58. Kc4 Bf8 
 ( after 58. ... Ka6 

 White can play even 59. Bb7+! Kb6 ( Here what happens if Black accepts the sacrifice. 59. ... Kxb7 60. Kb5 Be7 61. Kxa5 Bd6 62. Kb5 Be7 63. a5 ( 63. b4?? allows Black to hold White pawns: 63. ... cxb4 64. cxb4 Bd6 65. a5 Be7 66. a6+ Ka7 67. Kc6 Bxb4 68. d6 Kxa6 69. Kd5 Kb6 70. Kxe5 Kc6 71. Kf6 Kxd6 72. Kxg5 Be1 73. Kxf4 Ke6 = ) 63. ... Bd6 64. c4 Be7 65. a6+ Kc7 66. a7 Kb7 67. a8=Q+ Kxa8 68. Kc6 +- ) 60. Bc8 with the same position as in the game. ) 
 59. Bd7 Bd6 60. Bc8 


 The critical moment. Black needs to determine, where he can open the way - b5 or d5. 
60. ... Bf8 
 The first step is correct. 

 ( The point is that after 60. ... Kc7? White sacrifices the bishop: 61. Kb5! Kxc8 62. Kxa5 and position of Black is hopeless as we already saw this in the line 58...Ka6 59.Bb7. 62. ... Kb7 63. Kb5 Be7 64. a5 Bd6 65. a6+ Kc7 66. c4 Be7 67. a7 Kb7 68. a8=Q+ Kxa8 69. Kc6 +- ) 

 61. d6! Kc6? 
 And now the mistake is coming. 

 ( The correct move was 61. ... Bxd6! 62. Kd5 Bc7 Black sacrifices a pawn on g5 hoping for a fortress. 63. b3 Bb8 64. Bd7 Bc7 65. Bb5 Bb8 66. Ke6 Bc7 67. Bc4 Kc6 68. Bd5+ Kb6 69. Kf5 Ka7 70. Kxg5 Bd8+ 71. Kf5 Bc7 Now king should go back to d5 to control the situation on the queen side. 72. Bc4 Kb6 73. Ke6 Ka7 74. Kd5 Kb6 

 But what now? Have you already found the idea to continue? 75. Bf1! Bb8 76. g4! fxg3 ( 76. ... hxg3? 77. h4 +- ) 77. f4! exf4 78. Bg2 and it is hard to say if Black can save this or not. White bishop is placed perfectly, while the king creates threats to both queen and king side pawns of the opponent. ) 
 62. Bb7+! 
 Again White uses a bishop's sacrifice to distract the opponent's king. Black resigned because of the following lines: 

62. ... Kxb7 
 ( or 62. ... Kxd6 63. Kb5 c4 64. Bd5 Be7 65. Bxc4 Bd8 66. b4 +- ) 

 63. Kxc5 Bg7 64. b4 axb4 65. cxb4 Bf8 66. b5 +- 1-0




 For the end of this paragraph I have saved my favorite example. No prefaces - just study and enjoy! 

 Krasenkow, Michal - Macieja, Bartlomiej
 GRE-chT   2004.07.11 , E12


Even though, in the position on the diagram we have queens on the board, I guess, after watching the game you will forgive me. White is definitely the only side, who plays for a win here, but Black looks very solid. Michal Krasenkow finds an amazing idea - can you find it? 31. Kh2! 
 King moves forward to f5 to get ready for the queens exchange. 

31. ... Kg8 32. a4 Kh8 33. f3 Kg8 34. Kh3 Kh8 35. Kg4 Kg8 36. Kf5 Kf8 


37. f4! 
 Before Qd5 White improves his position even more. 

 ( 37. Qd5?! was premature: 37. ... Qxd5 38. Rxd5 Bf6 and now 39. f4 is not so effective 39. ... exf4 40. gxf4 Ke7 41. Bc6 ( 41. e5 Bxe5 42. Kxe5 Rxd7 43. Rxd7+ Kxd7 44. f5 Ke7 45. Kd5 Kd7 = ) 41. ... Bb2 of course White saves some pressure with e4-e5, Ke4, but objectively position should be drawn. ) 

 37. ... exf4 38. gxf4 


38. ... Kg8?! 
 Black does not see the whole opponent's idea. 

 ( King had to be on f8 being ready for Ke7. 38. ... Qa8! Was the strongest try. Now White has another unexpected king's maneuver. Can you guess what it is? 39. Kg4! King races back to g3 to defend g2 square and to prepare an attack with e4-e5, Qh7 idea. ( 39. Qd5? leads to not so clear positions: 39. ... Qxd5+ 40. Rxd5 Bh4 41. e5 Ke7 42. Bc6 Bg3 ) 39. ... Qb7 40. Kg3 Black needs to play 40. ... g5! to stop White's original idea. ( 40. ... Qa8? is bad 41. e5 Kg8 42. Qf5 followed by e5-e6 with a decisive attack. ) 41. hxg6 fxg6 42. e5 Kg7 

 Position still remains not so easy to play. Black pieces are passive, but White still has a problem of Bd7. What to do? 43. Kh2!! First, White frees g-file for attack on g6. 43. ... Kh7 44. Rd2 ( 44. Rg1? would fail to 44. ... Bg5! ) ( 44. f5 Bg5 45. fxg6+ Kg7 is also not so clear ) 44. ... Kg7 ( rook can not leave d8 square: 44. ... Rf8? 45. Rg2 +- ) 45. Kg1!! King goes away from Bg5xf4 check, Rg2 is ready. 45. ... h5 ( 45. ... Kh7? 46. Rg2 Bg5 ( 46. ... Rg8 47. Be6 Rg7 48. Rh2 +- ! followed by Rxh6. ) 47. e6 +- ) 46. Rg2 g5 47. Rd2! g4 48. f5 +- A really great job by the king: Kg1-h2-h3-g4-f5-g4-g3-h2-g1, while all other pieces are left on the same squares (except of modest Rd1-d2). ) 
 39. Qd5! Qxd5+ 40. Rxd5 


 Black's main problem is to stop White king's march to the b6 pawn. 
40. ... Bf6 
 ( 40. ... Bh4 41. Ke5 Be7 42. Bg4 Bf6+ 43. Kf5 Kf8 ( 43. ... Rxd5+? 44. exd5 Kf8 45. d6 +- and king goes to c6 to win on b6 ) 44. Rxd8+ Bxd8 45. Ke5 Bc7+ 46. Kd5 and White should win this using the same ideas as in the game. ) 

 41. e5 Bh4 42. e6! fxe6+ 43. Bxe6+ 
 ( White could also take the pawn with the king: 43. Kxe6 Rf8 44. Kd6 Rxf4 and now a transfer to pure OCBE should guarantee a win for White 45. Rf5! Rxf5 46. Bxf5 Kf7 47. Kc7 +- Black has nothing to do against passed on b-file. ) 

 43. ... Kf8 44. Rxd8+ Bxd8 
 Even an exchange of rooks does not help Black to defend - the b6 pawn is weak. 

45. Ke4 Ke7 46. Kd5 Kf6 
 This is not the most resilient way. 

 ( It was better to keep the king on e7, e8 squares to support Bd8, that is the only defender of b6 pawn. However, it is lost anyway. 46. ... Bc7 47. Kc6 Bd8 ( 47. ... Bxf4 48. Bh3 +- winning on b6. ) 48. f5 Ke8 

 49. Kb7! King goes to c8 to put Black in the zugzwang. 49. ... Kf8 50. Kc8 Ke8 ( 50. ... Bf6 51. Kc7 +- ) 51. Bd7+ Ke7 52. Bc6 +- ) 
 47. Kd6 Be7+ 
 ( 47. ... g6 48. hxg6 Kxg6 49. Kd7 Bf6 50. Kc7 +- ) 

 48. Kd7 Bf8 49. Bh3 g5 50. hxg6 Kxg6 51. Kc7 
 Black resigned. 

1-0

 
 



 5.6 
Engine can be wrong or tricks of evaluations of OCBE. 
 
 
 The reason why I like OCBE is that in this sort of positions human still can demonstrate advantages of your brain over the engine's. When one side has a couple of extra pawns, but does not have the winning plan, the engine usually gives +2 and something, which for most of spectators means "winning", but more experienced players know, that it is often drawn. You can start trusting winning evaluations of the engine, only when you see (or it shows) the concrete way to change the nature of position. If the evaluation remains the same in all of the engine's lines it is a suspicious sign. 
 Here is another interesting point about evaluations of OCB+RE. Usually +2.5 in "no-OCB+RE" positions means more or less a quick win for the strongest side, while in the OCB+RE sides can play for tens of moves and evaluation will remain the same. Usually during these moves the strongest side has a few chances to convert the advantage into a direct win, but to do so he should be ready to calculate concrete variations. Very often it happens, that the strongest side misses their chances, and finally the game ends in a draw. At first, let me show the example, how I got lucky to save the lost ending. We will focus only on the main critical moments. 

 Maiorov, N. - Aveskulov, Valeriy
 Vasylyshyn Mem   2006.10.12 , D37 


Black is a pawn down and Be4 dominates. But Black's fortress is not so easy to break. 35. ... Kf6 36. h4 Ke7 37. h5 Kf6 38. Rh1 Kg7 39. hxg6 hxg6 40. Rhc1 Kf6 


41. a5 
 White wants to have an option to open the a-file later. 

41. ... Rd6 42. Rh1 Kg7 43. Rh4 Rh8 
 If Black does not exchange one pair of rooks, White would play Rc2-c1-h1. 

 44. Rxh8 Kxh8 


 But now White king feels more confident to enter in the fight. 
45. Kf3 Kg7 46. Ke2 
 At first, Maiorov tries his chances with the king on the queen side, but later he decides to bring it back to the center. 

46. ... Kf6 47. Kd3 Bb4 48. axb6 axb6 49. Rc8 Bc5 50. Kc4 Kf7 51. Rc7+ Kf6 52. Rc6 Kf7 53. Kb5 g5 


54. Rc7+ 
 ( 54. Rxd6? Bxd6 55. Kxb6 Ke7 looks drawn - Black has a solid dark-squared fortress. ) 

 54. ... Kf8 55. Rc8+ Kf7 56. Ra8 Rf6 57. Ra2 Ke7 58. Kc4 
 King returns. 

58. ... Rf8 59. Kd3 Kf6 60. Ra7 Rf7 61. Ra1 Kg7 62. Ke2 Rf8 63. Rh1 Rh8 64. Ra1 Rf8 


65. Bg2 
 Finally, White finds the way to improve his position - king goes to e4. 

65. ... Bd6 66. Ra2! Bc5 67. Kd3 Rh8 68. Bf3 Kf6 69. Bg4 Rh7 70. Ke4 Rh2? 
 Black places his rooks poorly. 

 ( It had to be activated: 70. ... Rh1! 71. Be6 Rb1 followed by Rb4; position would remain resilient. ) 

 71. Be6 
 ( 71. Ra7! was stronger, since Black can not take on f2, and idea Rc7-c6 can not be stopped without material losses. 71. ... Rh1 ( 71. ... Rxf2? 72. Bh5! Mating net! 72. ... Be7 73. d6 Bxd6 74. Rf7+ Ke6 75. Rxf2 ) 72. Rc7 +- ) 

 71. ... Bb4? 
 Black mistakenly tries an active counterplay; instead rook again had to be improved (71...Rh1). 

72. Ra7 Be7 73. Rb7 Rxf2 74. Rxb6 


 From here position is absolutely winning, but White again and again will be missing concrete winning ways and finally will miss the win at all. 
74. ... Bd8 75. Rd6 Bc7 76. Rd7 Rc2 77. Rf7+ Kg6 


78. Kd3? 
 ( The first concrete moment - White could use a trick, that we already talked about. 78. Rxc7! (exchange sacrifice) 78. ... Rxc7 79. d6 +- Black is unable to stop the pawn. ) 

 78. ... Rc5 79. Rd7 Kf6 80. g4 Ba5 81. Rf7+ Kg6 82. Ke4 Rc4+ 
 ( There was no option to defend the pawn: 82. ... Bc3 83. d6 +- ) 

 83. Kxe5 Bc3+ 84. Kd6 


84. ... Rxg4? 
 Black overlooked a nice tactic. Can you find it? 

 ( The correct way to take the pawn was: 84. ... Bb4+! 85. Kd7 Rxg4 ) 

 85. Rf1? 
 ( 85. Rc7 a double attack, so Black has only move 85. ... Bb4+ 86. Ke5 +- another double attack - Rg4 is hanging and Bf5, Rh7 is threatening. This time Black should resign. ) 

 85. ... Ra4 
 White's play is not easy now, since g-pawn can create serious problems, but at general it is still far away from a draw. 

86. e4 Ra6+ 87. Ke7 Ra7+ 
 ( 87. ... Bb4+ 88. Kd7 Bd6 would not block pawns completely, since White has 89. Rf5 ) 

 88. Bd7 g4 89. Rg1 Kh5 90. d6 Be5 91. Ke6 Bf4 


92. Be8+? 
 ( Another instance of lazy calculation by my opponent. 92. Kf5! Bh2 93. Rh1 g3 ( 93. ... Ra5+ 94. e5! g3 95. Bc6 +- ) 94. Bc6 followed by advancing of pawns ( even 94. e5! was possible: 94. ... Rxd7 95. e6 Rxd6 96. e7 Rd5+ 97. Ke4 ) ) 

 92. ... Kh4 93. d7 
 Allows Black to set some sort of blockade on the dark squares. 

 ( 93. e5! was more convincing: 93. ... Ra5 94. Rh1+ Kg3 ( 94. ... Kg5 95. Rh5# A really surprising mating net! ) 95. Re1 +- ) 

 93. ... Bc7 94. Ke7 Ra8 95. Bg6 g3 96. Bf5 Kg5 


97. Bh3? 
 For a moment position becomes drawn. 

 ( 97. Rc1! Bd8+ 98. Kf7 +- with different ideas (Rc8, Rc6-g6) ) 

 97. ... Kf4? 
 ( I did not realize that I could throw the rook to another side, from where it will be simpler to cover d8-square: 97. ... Rh8 98. Bf5 Kf4 = ) 

 98. Rc1 Bd8+ 99. Kf7 Ra2 100. Ke8? 
 ( After 100. Rc8 Bb6 101. Rc6 Bd8 102. Ke8 Bh4 103. Rg6 the best Black has is 103. ... Ra8+ 104. Kf7 Bd8 But White wins by 105. Rg8 Rb8 ( 105. ... Kxe4 106. Bg2+ ) 106. Re8 with idea e4-e5 etc. ) 

 100. ... Bb6? 
 A bad square for the bishop, it would be more secured on h4. 

101. Rc6 Ra8+ 102. Kf7 Ba5 


103. Rc8 
 ( One out of two last misses: 103. Rf6+! Ke3 ( 103. ... Ke5 104. Rf5+ Kd6 105. Rxa5 ) ( 103. ... Kxe4 104. Bg2+ ) 104. e5 +- pawn g3 is not dangerous, while e5-e6 is unstoppable. ) 

 103. ... Ra7 104. Rc5? 
 The final mistake, that is already not so surprising. The ending lasted for hours, and White naturally felt tired. 

 ( 104. Ke6 Ra6+ 105. Kd5 +- would keep the winning evaluation. ) 

 104. ... g2 
 ( or 104. ... Rxd7+ 105. Bxd7 g2 106. Rc1 Bb6 ) 

 105. Bxg2 Rxd7+ 106. Ke6 Ra7 = 107. e5 


107. ... Re7+! 
 The fastest way. 

108. Kf6 Rxe5! 109. Rc4+ Kg3 110. Kxe5 Kxg2 111. Kf4 Bb6 112. Rc2+ Kh1 113. Rc6 Bg1 114. Rc2 Bh2+ 115. Kf3 Bg1 116. Rc1 
 Draw. 

1/2-1/2 




 Now let's see an example from the elite woman chess. 

 Kosintseva, T. - Lahno, Kateryna
 40th Olympiad Women   2012.09.05 , B84


This example is even more instructive for us, since here the strongest side had two extra pawns and her win was out of any doubts almost the whole ending (while in the previous game White had to overcome more serious technical issues and Black could defend better). The only moment, when Black could play significantly better is on the diagram. How would you play here? 37. ... Rh4? 
 A miscalculation, that caused tortures, which lasted for 120 (!) moves. 

 ( The correct 37. ... h6 += ! was good enough to keep a sufficient compensation for two pawns - Bd5 and Ra4 are more active than opponent's pieces; additionally, White pawns are becoming easy targets for the opponent. ) 

 38. Bxg5 Rh3 
 Attacking on f3. 

 ( Black could not safety take two pawns: 38. ... Rxh2+ 39. Kg3 Rxb2 40. Rh1 Bg8 41. Kf4 +- ) 

 39. e6+! 
 White distracts Black bishop from attack on f3 and traps Black rook. 

39. ... Bxe6 
 ( After 39. ... Ke8 Black king would find itself in the mating net. 40. Re5! Bxf3 ( 40. ... Rxf3+ 41. Ke2 Bc6 42. Rc5 Bb7 43. Rb5 +- ) 41. Rb5 +- ) 

 40. Bf4 


 That's over. My engine shows about +3 for White and this is an absolute truth; she just needed to show some accuracy - from now Black defends with only king and bishop. 
40. ... Bd5 41. Re3 Kc6 42. Kg2 Rh5 43. Kg3 Kc5 44. Re8 Bb7 45. Rb8 Ba6 46. b4+ Kc6 47. d4 Bf1 


48. h4 
 ( For clear reasons White does not calculate concrete ways yet, aiming to lock down the Black rook. 48. b5+! Bxb5 49. d5+ Kc5 50. d6 Bc6 51. Rb7 +- and d6-d7 ) 

 48. ... Kd5 49. b5 
 ( 49. Rd8+! Kc4 50. d5 Kxb4 51. d6 +- was stronger - Black is unable to do anything with d-pawn. ) 

 49. ... Kxd4 50. b6 Kc5 


51. Bg5? 
 This is a first sign of White's nervousness. 

 ( White had to defend her pawn with the bishop and to free the rook for side checks. However, it required a minimal calculating, since a undesirable f5-f4 becomes possible. 51. Be3+ Kb5 52. Rf8 Ka6 ( 52. ... f4+ 53. Kg4 +- ! and b6-b7 ) 53. Ra8+ Kb7 54. Ra7+ +- ) 

 51. ... Ba6 52. Kf4? 
 ( 52. Rf8 Kxb6 53. Rxf5 +- would win the rook, since Black can not stop both bishop's check and Kg4. ) 

 52. ... h6 53. Bd8 Kb5 54. Ra8 Bb7 55. Ra3 Kc5 56. Rc3+ Kb5 57. Re3 Kc5 58. Re6 Ba8 59. Rg6 Bb7 60. Rg7 Kc6 61. Rf7 
 ( 61. Rxb7 Kxb7 62. Ke5 ) 

 61. ... Ba8 62. Rh7 Bb7 


63. Kg3 
 After series of moves White admits, that she needs to free the rook. 

63. ... f4+ 64. Kxf4 Rd5 65. Rxh6+ Kb5 
 Luckily for Black, White can not defend on f3. Surely, two pawns also should provide the win, but it promises at least to be long. Here I would like to look at the psychological side of this ending. At first, White was making some generally normal moves, not even trying to calculate concrete variations. Since such attempts were not successful earlier, White fully understands that she already has missed more than one concrete win and it naturally affects on her following play - from both physical (fatigue increases) and psychological points of view. At the same time Black feels a chance and concentrates to her best ability. Despite the fact, that the engine's evaluations here and on move 40 are about the same, the real digits are not so favourable to White. 

66. Bc7 Rd3 67. h5 Rxf3+ 68. Kg4 Rf1 69. Rh8 Rg1+ 70. Kf5 Rf1+ 71. Kg5 Ka6 72. Re8 Rg1+ 73. Kh6 Bf3 74. Re3 Bd1? 


 Black bishop had to be on the big diagonal - 74...Rf1 was stronger. 
75. Re5? 
 White does not use another chance, but can you find it? 

 ( 75. Ra3+ Kb7 76. Ra7+ Kc6 77. Bh2! and b6-b7 is coming. ) 

 75. ... Bf3 76. Rg5 Re1 77. Kg7 Re7+ 78. Kg6 Re6+ 79. Kh7 Re7+ 80. Kh6 Re8 81. Rc5 Rh8+ 82. Kg6 Be4+ 83. Kg5 Rg8+ 84. Kf6 Rh8 85. Re5 Bd3 86. Kg5 Rg8+ 87. Kf4 Rh8 88. Kg4 Bc2 89. Kg5 Rg8+ 90. Kf6 Rh8 91. Kg5 Rg8+ 92. Kh4 Rg1? 


 For some reasons Black brings the rook back to the first rank, while 92...Rh8 was possible. Can you find the win now? 
93. Re3? 
 ( 93. Ra5+! The same idea in more spectacular way. 93. ... Kb7 94. Ra7+ Kc6 95. Bh2 +- ) 

 93. ... Rh1+ 94. Kg5 Rg1+ 95. Kh6 Rg8 96. Re5 Rh8+ 97. Kg7 Rh7+ 98. Kf6 Rh8 99. Rd5 Be4 100. Rc5 Bd3 101. Kf7 Be2 102. Kg6 Bd3+ 103. Kg5 Rg8+ 104. Kh4 Rg1 


105. Bd8! 
 Finally, White starts decisive actions. 

105. ... Be2 106. Ra5+! Kb7 107. Ra7+ Kc8 108. Ra8+? 
 ( The strongest continuation was 108. Be7 +- ! with at least three idea - Rc7 and Bd6 (mating), b6-b7 and Bd6; h5-h6. ) 

 108. ... Kb7 109. Ra7+ Kc8 110. h6 
 However, this one is also good. 

110. ... Rg4+ 111. Kh3 Rg6 


112. Rh7? 
 White makes the last miscalculation. 

 ( 112. h7 Rh6+ 113. Bh4 +- with idea Ra8 wins the rook. ) 

 112. ... Kxd8 113. b7 Rxh6+! 
 The same as in the previous example, the defending side brings the game to R vs B endgame. 

114. Rxh6 Kc7 115. Rh7+ Kb8 
 The b7 pawn is lost. 

116. Kg3 Ba6 117. Kf4 Bxb7 
 Already here White could agree to a draw, but a team spirit plus a feeling of disappointment did not allow to offer a draw for another 40 moves. 

1/2-1/2




 In last two games the strongest side missed a lot of chances to win the game and finally the defender achieved a draw. In the next game, scenario of the game was the opposite. Having an extra pawn, Evgeniy Najer did not see many options to improve his position. Making no active/changing moves, he put psychological pressure on the opponent, who was your author. Being on the defending side in this game, I can state, that such strategy has good practical chances. While the 'pawn up' side can just do whatever he wishes, the defender waits for 2-3 hours for some changes in the position to make a draw closer. When he does not see any desirable simplifications, he naturally tries to make the save closer. Of course, these actions can affect badly on the defending position, that happened in my game. Since we are more interested in the psychological side of the play, I will occasionally miss some side lines. 


 Najer, Evgeniy - Aveskulov, Valeriy
 EU-ch 9th   2008.04.25 , B30


Black's turn 23. ... Bf6 24. c3 Re8 25. Bf3 Kg8 26. Kg1 Re5 27. Kf2 Kf7 28. Rd1 a5 29. g3 Re7 30. Bd5+ Ke8 31. Kf3 Kd7 32. Be4 h6 


 All pawns are placed correctly. Pieces took good defending positions. 
33. Kf4 Re5 34. Kf3 Kd6 35. Rd2 Re8 36. Rf2 Re7 37. Rf1 Re8 38. Ke3 Bg5+ 39. Ke2 


39. ... c4 
 White had an idea of Kd1-c2-b3-c4, so this simplification is approved. 

40. Kd1 cxd3 41. Bxd3 Bf6 42. Kc2 Kc7 43. Rf4 Re5 44. Bb5 Rd5 45. Rc4+ Rc5 
 The pure OCBE is absolutely drawn. 

46. Re4 Rh5 47. Re2 Rd5 48. Bc4 Rd7 49. Rf2 Re7 50. Kd3 Re5 51. Bf7 Re7 52. Bd5 Kd6 53. Be4 Kc7 54. Rc2 Re5 55. Ke3 Rc5 56. Re2 Re5 57. Kf3 Re7 58. h4 Re5 59. Rf2 Kd6 60. Rd2+ Kc7 61. Rd1 


61. ... b5?! 
 It was much simpler to continue waiting by 61...Re7 or almost any other move. But a desire to force a draw by some pawn exchanges was stronger than me. Of course, giving White a passed on c-file was a strange idea. 

62. Bc2! 
 I totally have missed this move, that even does not allow me to put a pressure on b2-pawn. 

 62. ... Rc5 63. Rd2 bxa4? 
 A mistake, that gives White new resources. 

 ( A correct 63. ... b4! 64. cxb4 axb4 65. Bb3 += was stronger, since a pressure on b2 would stick White rook to the second rank. ) 

 64. Bxa4 Rf5+ 65. Kg4 Re5 66. Rd7+ Kb6 67. Kf3 Rf5+ 68. Ke2 Re5+ 


69. Kd3? 
 An inaccuracy, that could waste the results of all previous self-control. White could play 69.Kd2, covering e1-square. 

69. ... Rf5? 
 ( 69. ... Re1! with idea Rg1 and Be5 would win on g3. 70. Kc4 Re4+ 71. Kb3 Rg4 72. Rd3 Be5 = ) 

 70. Bd1! 
 A good coverage of the king side. 

70. ... Rf2 71. Be2 Rg2 72. g4 
 White found the way to save g-pawn. 

72. ... Rg3+ 73. Kc4 Re3 74. Bd3 


74. ... Re7? 
 ( 74. ... Rg3 75. Bf5 Rg2 76. Kb3 would start a new round of Black's passive defence, but back to then I was too unrestrained. ) 

 75. Rd6+ Kc7 76. Rd5 Bxh4 
 ( Originally, I thought, that here I can play 76. ... Re5 thinking, that rooks exchange is a draw in any position. But now I understood, that this is not a true for this case. 77. Rxe5 Bxe5 78. Kb5 +- getting two connected passed pawns. ) 

 77. Rxa5 +- 
 White passed pawns easily win the game. 

77. ... Bf2 78. Rf5 Be3 79. b4 Bd2 80. Kb3 Kb6 81. c4 Re3 82. Kc2 Be1 83. c5+ Kc7 84. b5 Bb4 85. Rd5 Rg3 86. b6+ Kc6 87. Rd6+ 1-0
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Exercises 
 
 

 Oparin, G. - Lomasov, Semen
 Aeroflot Open A 2017   2017.02.28     


White to move





 Solution: White is just a pawn up, the a5 pawn is safely stopped, while on the king side White can organize only one passed pawn after normal g4-g5. Probably, Black was quite optimistic about his chances to grab half a point. But the unexpected 77. Bxf6+!
 dispels all his hopes. Black is unable to cope with 3 passed pawns. But of course, just guessing this move is not the full solution - you need to see concrete lines. 

77. ... Kxf6 78. g5+ Ke7 79. Ke5 Bd3 
 ( Placing the king on g7 does not change anything. 79. ... Kf7 80. g6+ Kg7 and White has even two ways: 81. Ke6 +- with idea Ke7, f5-f6-f7. ( or 81. f6+! that gives us another example of one diagonal idea. Black bishop can not help his king to stop f-pawn. 81. ... Kxg6 82. Ke6 Bc4+ 83. Ke7 c5 84. a6 +- ) ) 

 80. g6 Kf8 81. f6! 
 Without this move it would be impossible to win the game. 

81. ... c5 
 ( 81. ... Bxg6 82. a6 +- bishop and the c6 pawn are terribly placed. ) 

 82. g7+ Kf7 83. Kd6 ! Bh7 
 ( Everything ends badly for Black after 83. ... c4 84. g8=Q+ Kxg8 85. Ke7 Bg6 86. a6 +- ) 

 84. a6 c4 85. a7 Be4 86. g8=Q+ 
 ( Black resigned because of the following line: 86. g8=Q+ Kxg8 87. Ke7 Bd5 88. f7+ +- ) 

1-0

 




 Rodriguez, Jo - Hort, Vlastimil
 Capablanca Memorial   1971     


Black to move





 Solution: Black is a pawn up, which has no many chances to be promoted, but White king is awfully placed and Vlastimil Hort uses this. 73. ... Bf4+! 74. Kxh4
 ( 74. Kf5 Rg5# ) 

 ( 74. Kh5 was the most resilient, since it gives White time to remove the rook from e4. 74. ... Kf6 75. Re2 Rg5+ 76. Kh6 Rg7+ 77. Kh5 but here Black simply advances the e5 pawn with absolutely winning position. 77. ... e4! After 78. Rxe4 Kf5 there is a double threat - Rh7 and Kxe4. ) 

 74. ... Kf6 75. Kh5 
 ( Probably White missed Black's main threat, that is working in case of 75. Bd3 Rg5! -+ and White should give up on f4 in order to avoid immediate Bg3#. So, White king tries to escape from h4-cage. ) 

 75. ... Rg5+ 76. Kh6 Rg7+ 
 ( Black resigned, since he loses a material after 76. ... Rg7+ 77. Kh5 Kf5 -+ with the same double threat - Rh7 and Kxe4. ) 

0-1

 




 Kramnik, Vladimir - Topalov, Veselin
 World Championship playoff   2006.10.13     


White to move





 Solution: This position arose in the second tie-break game of the widely known World Championship match between Vladimir Kramnik and Veselin Topalov. White has two passed pawns and hopes to take on d7, but an exchange sacrifice typical for OCB+RE ends the game. 41. Rxd4! cxd4 42. a7 Ke7 43. Bd5 Kxd7 44. a8=Q Rxa8 45. Bxa8
1-0

 




 Shankland, S. - Sasikiran, K.
 52nd Capablanca Mem Elite   2017.06.04     


Black to move





 Solution: Somehow White holds the position at the moment, but with a series of pawn sacrifices the Indian GM crushes his semi-fortress. 54. ... b4! 55. axb4
 White hopes to stop the a4 pawn. 

 ( After 55. Bxb4 Kxh4 White has no interest in the h-pawn. ) 

 55. ... a3 56. b5 a2 57. Bf6 d4! 
 ( The same motive would work after the preliminary 57. ... Bxb5 58. Kxc2 d4! -+ ) 

 58. Bxd4 Kxh4 59. b6 Be4 
 White resigned, because he can not hold both "a" and "h" pawns. 

0-1

 




 Avrukh, Boris - Kogan, Artur
 Maalot-Tarshiha   2008.01.12     


White to move





 Solution: White is a pawn up, but somehow Black keeps the defense. White needs to get more activity for the rook. 36. f4! exf4
 ( The alternative 36. ... Ra7 would not help Black: 37. Rc1+ ( 37. f5 fixing on g7 also looks winning. ) 37. ... Kb8 38. Rc6 Bc5 39. fxe5 +- ) 

 37. e5 Bxe5 38. Rd7+ Kc8 
 ( 38. ... Kb8 39. Rb7+ leads to the game text ) 

 39. Rf7 Kb8 
 ( After 39. ... Bc7 the simplest is 40. Rxg7 +- ( while concrete 40. Bd7+ leads to a less clear endgame, where Black will have two pawns for the bishop with excellent chances for a draw. 40. ... Kb8 41. Bc6 Rxa6 42. Rf8+ Bd8 43. Rxd8+ Kc7 44. Ra8 Rxa8 45. Bxa8 g5 ) ) 

 40. Rb7+ Kc8 41. Bd7+ Kd8 42. a7 
 White pieces have pinned the opponent to the edge of the board. 

42. ... Bc7 43. Bc6 Rc8 44. Kg2 
 Here Black lost on time, although his position is completely hopeless. 

1-0

 




 Carlsen, Magnus - Almasi, Zoltan
 EU-Cup 23rd   2007.10.06     


White to move





 Solution: White should find a good square for the bishop to begin play connected with e5-e6 distraction of the bishop. 75. Bg5 Bg4 76. Bf4!
 Bishop takes care of ... b8 square! 

 ( After 76. Be3 Bf5 the same idea leads to a draw: 77. e6+ Bxe6 78. h7 Kg7 79. Kxe6 Kxh7 80. Kd5 Kg7 81. Kc5 Kf6 82. Kb5 Ke6 83. Kxa4 Kd7 84. Kb5 Kc8 and king is entering the corner with a draw. ) 

 76. ... Bf5 77. e6+! 
 Now everything works well. 

77. ... Bxe6 78. h7 Kg7 79. Kxe6 Kxh7 80. Kd5 Kg6 81. Kc6 Kf5 82. Kb5 
 ( Black resigned, because after 82. Kb5 Ke6 83. Kxa4 Kd7 84. Kb5 Kc8 85. Kb6 there is no Kb8 move. ) 

1-0

 




 Sutovsky, Emil - Carlsen, Magnus
 EU-Cup 23rd   2007.10.08     


White to move





 Solution: Future World Champion messed up in the opening and future ACP President leaves him no chances to escape. 31. Rb7! Bc4
 ( after 31. ... Ba4 similar lines are coming: 32. c6! dxc6 33. Bb4 +- with the idea of d6-d7 and Ba5. ) 

 32. c6! 
 Without this move 31.Rb7 would be a waste of time. 

32. ... dxc6 
 The only move. 

33. Bb4! 
 Makes capturing the d-pawn take longer for Black. 

 ( In the game White played a less precise, but still winning 33. d7+ Kd8 34. Bb4 that allowed Black to make another 24 moves after 34. ... Rxb4 35. Rxb4 Bb5 ) 

 33. ... Rxb4 34. Rxb4 Bb5 35. Rb3! 
 Rook goes to the 7-th rank. 

35. ... g6 36. Ra3 Kd7 37. Ra7+ Kxd6 38. Rxh7 +- 1-0

 




 Carlsen, Magnus - Grischuk, Alexander
 Linares 26th   2009.03.05     


White to move





 Solution: The advantage of White is not in any doubt, but it is always nice to find a short way to avoid long conversion of advantage. 33. Ba6! Bf6
 ( Of course pawns are unstoppable after 33. ... bxa6 34. c6 ) 

 34. Bxb7! 
 The correct continuation of 33.Ba6 idea. 

34. ... Rxb7 35. c6 Rxb6 36. Rc1 
 ( 36. c7 even loses to 36. ... Rc6 and 37...Be5. ) 

 36. ... Bxb2 37. d7 1-0

 




 Aronian, Levon - Morozevich, Alexander
 SportAccord Blindfold Men 2012   2012.12.18     


White to move





 Solution: With a bishop keeping an eye on the g4 pawn, it looks impossible to get a winning position. But it is so only at the first sight. In fact, even lone passed pawn sometime can bring a win in the OCBE. 45. g6! fxg6+
 ( Preventing the White king from coming to g6 also does not help, because there is no save against two connected passers. 45. ... Kf6 46. gxf7 Kxf7 47. Bxd6 Kf6 48. Bc5 White threatens to play Bd4, then Kg5-f4, g4-g5-g6 etc. 48. ... Ke5 49. Kg6! Bxg4 50. f6 Black needs to stop the pawn by bishop's sacrifice and to play a6-a5 to reach the drawn endgame. But unfortunately for him he has not enough time to complete both tasks. 50. ... Be6 51. Bb6! +- ) 

 46. Kxg6 Bxg4 47. f6+ Ke6 48. f7 Bh5+ 49. Kxh5 Kxf7 50. Bxd6 
 As it often happens, the defending side misses one move to secure a draw. 

50. ... Ke6 
 ( after 50. ... a5 51. bxa5 Black does not stop a-pawn. ) 

 51. Bc7 
 Black resigned. 

 ( After any other move Black would save 51. Bf8 a5 52. bxa5 Kd7 ) 

1-0

 




 Wang Yue - Ding Liren
 6th Hainan Danzhou GM   2015.07.06     


White to move





 Solution: Black's position looks like a fortress, but with a non-obvious idea Wang Yue crushes the opponent. 55. Bd1!! Kh6 56. b4! cxb4
 ( after 56. ... Bxb4 57. Kxb6 +- the "a" pawn promotes. ) 

 57. Bb3! 
 That's the whole point - Ba5 is trapped and unable to help Black king on the king side. If Black tries to free the bishop with b6-b5, then nothing can stop the "b" pawn. 

57. ... Kg5 58. Kd5 
 Black resigned. 

1-0

 




 Liebert, Heinz - Garcia, Raimundo
 Havana ol (Men) fin-A   1966     


Question: Black is better, but now he faces a crucial moment - to exchange or not to exchange?





 Answer: 33. ... Rxf3+!
 White is unable to complete all defending missions - to stop the "a" pawn, to defend on f3 and h3. 

34. gxf3 Kf6 
 First king enters to f4, g3 squares. 

35. Bb3 Kg5 36. Bxf7 Kf4 37. Ke2 a4 38. Be6 a3 39. Bc4 
 The most stubborn way. 

 ( In the game White immediately gave up on f3: 39. Kd3 and after 39. ... Kxf3 40. Bb3 g5 resigned, since in case of 41. Be6 Black can win in many ways. Here one of them is: 41. ... b3 42. Bxb3 g4 43. hxg4 h3 -+ ) 

 39. ... Kg3 40. Be6 g5 -+ 
 with a zugzwang - any move allows Black to reach decisive progress. 

0-1

 




 Onischuk, Vladimir - Dvoirys, Semen I
 Chigorin Memorial 19th   2011.10.18     


White to move





 Solution: 21. b4! Rc8 22. a4!
 Rd5 is left without moves, but Black has an idea. 

22. ... Rc3 23. Ka2! 
 Be4 is unstoppable. 

 ( Black's consideration was 23. Be4? d3! and now even Black is better - 24. Bxd5 ( 24. Bxd3 Rd4 -+ ) ( 24. cxd3 Rd4 -+ ) 24. ... dxc2+ 25. Ka2 cxd1=R 26. Rxd1 b6 with an extra pawn. ) 

 23. ... Rxd3 24. cxd3 
 with a winning position. 

1-0

 




 Radjabov, Teimour - Kamsky, Gata
 Corus   2009.01.23     


White to move





 Solution: 37. Rb1!
 White's dream is to deliver his bishop to c7 (or at least to c5). 

37. ... Kf7 38. Bd2 g5 
 Black stops Bf4-c7 idea, but now we can see the point behind 37.Rb2-b1 move. 

39. Bc1! 
 Bishop goes to a3. 

39. ... Bf3 40. Ba3 Be4? 
 ( 40. ... Ke6 was more resilient - to not allow Bd6. But here White is also winning. 41. Bc5 Be4 42. Re1 Kd7 43. f3 Bxc2 44. Re7+ Kc8 45. Re8+ Kd7 46. Rf8 f5 47. Rh8 +- getting a passed pawn on the king side. ) 

 41. Bd6 
 Black resigned, since after 42.Bc7 he will play without an exchange. 

 1-0

 




 Graf, Alexander - Navara, David
 Calvia ol (Men)   2004.10.28     


White to move





 Solution: Black aims to play e3-e2 and Kg1 followed by h3-h2-h1Q. White should choose between 58.Bf3 and 58.Bc4. 58. Bf3?
 Wrong square. 

 ( 58. Bc4! was correct , now Black is unable to build a zugzwang position. Once he plays Kg3 and h3-h2, White moves the bishop back to the big diagonal with a fortress. ) 

 58. ... Bd4! 
 If king goes to e1 or e2, Black plays Kg1 followed by the "h" pawn march. Bishop has two diagonals to choose from. 

 ( Direct 58. ... Kg3? would miss the winning chance 59. Bc6 = ) 

 59. Bc6 
 ( 59. Bg4 also does not help because the Black king is coming to the key g1 square. 59. ... Kg3 60. Bd7 e2+! 61. Kxe2 Kg2 -+ and then Kg1, h3-h2-h1Q. ) 

 59. ... e2+! 60. Kxe2 Kg1 61. Kd3 Bc5 62. Kc4 Bb4 
 White resigned, a1-square is of a wrong color. 

0-1

 




 Iskusnyh, Sergei - Izoria, Zviad
 EU-ch rapid   2004.11     


White to move





 Solution: White should decide how to split the roles - which piece follows the b2 pawn and which one takes care of the "f" pawn. In the game he made a wrong choice. 65. Kc2?
 ( 65. Ke2! Was the correct choice. But to make it, White had to see Black's threat. His main idea is to bring the king to a2. So, when it arrives to a3, White needs to place the piece on b1 (king or bishop). In both cases Black wins on b3, and after that it is important how to place his pieces. If the White king is stuck on b1, the Black king simply marches to the "f" pawn and wins the bishop. But if White has a bishop on b1, White king stands on e2 and easily stops Black's active options. 65. ... Kd4 66. Bc2 Kc5 67. Bd3 Kb4 68. Bc2 Ka3 69. Kf3 Be5 70. Bb1 Kxb3 71. Ke2 Kc3 72. Bf5 = ) 

 65. ... Kd4 66. Bf1 Kc5 
 ( Evidently, White hoped for 66. ... f3? 67. b4! and Black is unable to improve his position, since his king should be around the b4 pawn, while White can play Kc2-b1-c2 etc. ) 

 67. Bg2 Kb4 68. Bd5 Ka3 69. Be4 
 ( Zugzwang helps Black in case of 69. Kb1 Be5 and White should give up on b3. 70. Be4 Kxb3 71. Bd5+ Kc3 and then Kd2-e3, f4-f3 etc. ) 

 69. ... Bf6 70. Kd2 Ka2 
 White resigned. 

0-1

 




 Vidit, S. - Eljanov, Pavel
 World Rapid 2015   2015.10.12     


Black to move





 Solution: Again we see a position with a hard choice for the defending side. To take or not to take? How to choose? Again we need to foresee upcoming events on the board. If Black were able to hold both "a" and "e" pawns without losses, then there would be no crucial difference. But the point is that White will win the bishop for these two pawns, and Black will need a smaller number of pawns on the king side in order to exchange all of them before White king returns from the queen side. So, the correct choice was to take. 71. ... g4?
 ( 71. ... gxf4+! 72. gxf4 ( Another line is 72. Kxf4 Ke6 73. Bc3 Bd3 74. Kg5 Be2 75. Bb2 White wins on h5, but it is his maximum. 75. ... Bf1 76. Kxh5 Bd3 77. Kg5 Ba6 78. Kf4 Bf1 79. Ke3 Kd5 (stopping Kd4), now White king can reach b4-square, but it does not effect the final result. 80. Kd2 Ba6 81. Bc3 Bf1 82. Kc1 Ba6 83. Kb2 Bf1 84. Ka3 Ba6 85. Kb4 Bf1 = ) 72. ... Ke6 73. Kd4 Kd7 74. Kc5 Be2 75. Kb6 Bf1 76. a6 Bg2 77. a7 Ba8 White can place the bishop on any square before winning the Black bishop (the same as Carlsen did in his game vs Almasi), but here this flexibility does not help. 78. Bh4 Bg2 79. Bf6 Ba8 80. Bg5 Be4 81. e6+ Kxe6 82. Kc7 Ba8 83. Kb8 Bc6 84. a8=Q Bxa8 85. Kxa8 Kd5 86. Kb7 Ke4 87. Kc6 h4 = ) 

 72. Kd4 Ke6 73. Kc5 Bd3 74. Kc6 Be4+ 75. Kc7 Bd3 76. Bf2 Bc4 77. Kb6 Kd7 78. a6 Bd5 79. a7 Bf3 80. Bc5 Ba8 81. Bb4 Be4 82. e6+! Kxe6 83. Kc7 Ba8 84. Kb8 Bc6 85. a8=Q Bxa8 86. Kxa8 Kd5 87. Be7 
 then Bh4 and king quietly returns to the king side to win all pawns there. 

1-0

 




 Norlin - 


White to move





 Solution: White needs to activate his king and to not forget about opponent's pawn. 1. Kc3!
 The King wins an important tempo to prevent a7-a5. 

 ( 1. Kc5? misses 1. ... a5! and now Black is on time to distract Bd6 from the c7 pawn: 2. Be5 a4 3. Kd6 Kc8 4. Bb2 ( 4. Ke7 a3 5. Kf8 a2 6. g8=Q Bxg8 7. Kxg8 a1=Q 8. Bxa1 Kxc7 ) 4. ... Bg8 White can not reach progress. ) 

 1. ... Bf7 2. Kb4 Be6 3. Be5 
 Bishop frees the way for the king. 

3. ... Kc8 
 ( 3. ... Bf7 4. Kc5 after 4. ... a6 White plays 5. Kd6 with idea of Kd7 and after 5. ... Kc8 he or she stops a6-a5 by means of 6. Bc3! +- now bishop goes to a5 (one diagonal principle is in effect - bishop stops the pawn and defends on c7) and king is free to support the "g" pawn. ) 

 4. Kc5 Bb3 
 Black's best chance. Now White has the only winning move 

5. Kb5! 
 that stops pawn's running. 

5. ... Kb7 
 The last difficult moment. King needs to come to d6 and to prevent a7-a5. First he or she needs to push Bb3 away. 

6. Kb4 ! Be6 
 and now 

7. Kc5 
 with idea Kd6, Be5-c3-a5 wins. 


 




 Herbstman - 
    1928     


White to move





 Solution: A concrete exercise - pure calculation. 1. f5+!
 ( 1. Ke8? misses a win: 1. ... Be7 2. Bg8 Bf6 3. Bxf7+ Kf5 = Black wins on f4 and bishop is being sacrificed for d7-pawn. ) 

 1. ... Kf6 
 ( 1. ... gxf5 2. Bxf5+ Kf6 ( 2. ... Kxf5 3. Ke8 and d7-d8Q wins ) 3. Ke8 Be7 4. Bh3 h4 5. Bg4 h3 6. Bxh3 +- zugzwang. ) 

 2. Ke8 Be7 
 At first sight it looks as if White is unable to win, but bishop's sacrifice helps. 

3. Bxg6! 
 and Black is unable to neither stop pawns "d" and "g" nor untie Black king from a defence of Be7. 

 3. ... fxg6 
 ( 3. ... h4 4. Bxf7 h3 5. Bd5 +- ) 

 4. fxg6 h4 5. g7 Kxg7 6. Kxe7 h3 7. d8=Q +- 

 




 Herbstman, A and Gorgiev, T - 
    1929     


White to move





 Solution: White's task is to ensure promotion of a-pawn. For this purpose he or she step by step prevents bishop's attempts to get control over a8-square. 1. c6!
 Otherwise, Be4 and d5-d4 kills all pawn's hopes. 

 1. ... dxc6 2. a6 Be4+ 3. Kh2 c5 
 It looks impossible to prevent d5-d4, but the idea of ... checkmate surprisingly helps. 

 ( Black should begin with this pawn, since after 3. ... d4 White has a simple 4. Bc5 +- ) 

 4. f3! Bxf3 5. Kg3 Bh1 6. Kh4! Kg7 
 is only way to stop Bf8, but now White bishop gets a tempo to reach d4-square. 

7. Be5+ Kf7 8. Bd4! 
 and a6-a7-a8Q is finally guaranteed. 

* 

 




 Herbstman - 
    1928     


White to move





 Solution: A concrete exercise - pure calculation. 1. f5+!
 ( 1. Ke8? misses a win: 1. ... Be7 2. Bg8 Bf6 3. Bxf7+ Kf5 = Black wins on f4 and bishop is being sacrificed for d7-pawn. ) 

 1. ... Kf6 
 ( 1. ... gxf5 2. Bxf5+ Kf6 ( 2. ... Kxf5 3. Ke8 and d7-d8Q wins ) 3. Ke8 Be7 4. Bh3 h4 5. Bg4 h3 6. Bxh3 +- zugzwang. ) 

 2. Ke8 Be7 
 At first sight it looks as if White is unable to win, but bishop's sacrifice helps. 

3. Bxg6! 
 and Black is unable to neither stop pawns "d" and "g" nor untie Black king from a defence of Be7. 

 3. ... fxg6 
 ( 3. ... h4 4. Bxf7 h3 5. Bd5 +- ) 

 4. fxg6 h4 5. g7 Kxg7 6. Kxe7 h3 7. d8=Q +- 

 
 



 7 
Summary 
 
 
 After watching quite a large number of OCBE's we need to note the important nuances of both OCBE and OCB+RE. First, let's do this for pure OCBE. 
 1) The number of pawns is often less important than activity of pieces and fortress opportunities. 
 2) Concrete calculation is usually less important than seeing long term plans. 
 3) Both sides should aim to employ their bishop on one diagonal  where it performs at its maximum capacity - stopping/attacking opponent's pawns and, supporting/defending their own pawns or important squares etc. 
 4) OCBE have high drawn chances if the defending side is able to stop the opponent's passed pawn and to defend his pawns which are usually placed on the color of the bishop. 
 5) To achieve a desirable result a weaker side should place their pawns on the squares of color of their own bishop. But there are no rules without exceptions (see Bologan-Gurevich game). 
 6) Engine's evaluation is often wrong in OCBE: +2.5 can be just a draw. 

 In the OCB+RE besides the above-mentioned points, we add following: 
 1) A presence of rooks on the board makes mating nets possible. 
 2) Play by the king is always available in the endgames, but in OCB+RE it often becomes a start of the mating attack. 
 3) A material advantage is more valuable in the OCB+RE than it is in the pure OCBE. 
 4) Evaluation like +2.5 can last for dozens of moves, presenting a few chances for the strongest side to convert the advantage into the whole point. The main difficulty is to be ready to calculate the concrete line after playing tens of moves without much thinking. 
 5) Also rules about placing your pawns on the color of your own bishop are often less important in the OCB+RE, since with rooks on the board there are less fortresses possibilities. 

 But all these points are empty words, if you are not analyzing the endgames yourself to understand how these rules work in concrete situations. Without your own analysis you will never feel a spirit of these tricky endgames and you will never become good at them. Without analytic experience you will always feel disoriented in the endgames, the same as you feel, when you face a new middlegame pawn structure (you don't know what and how to do, since you don't have patterns established in your head). So, take some of the games listed in the next paragraph and study them deeply with your friend or even with an engine and get the experience! You will see how different OCBE's will look to you after this kind of work. 
 And the last argument to study OCBE's deeper: this sort of knowledge will be available to apply even years after, while the knowledge about some concrete opening has a much shorter lifespan and value. 


 



 8 
Index of Players and Games 
 
 
 Adams - Navara
Almasi - Carlsen
Anand - Khalifman
Andersson - Godena
Arjun Adappa - L.N.Ramaravind
Aronian - Kramnik, Bacrot, Morozevich
Atalik - Bu Xiangzhi
Averbakh - Drawn Position 1, Drawn Position 2, Drawn Position 3
Aveskulov - Khakimov, Maiorov, Najer
Avrukh - Kogan
Azmaiparashvili - Kozul
Bacrot - Aronian
Bakhmatsky - Oleksiyenko
Barua - Moiseenko
Beliavsky - Geller
Belozerov - Onischuk
Bologan - Gurevich
Bu Xiangzhi - Atalik
Carlsen - Karjakin, Nakamura, Socko, Almasi, Sutovsky, Grischuk
Chandler - Edelman
Damljanovic - Short
Ding Liren - Wang Yue
Drawn Position 1 - Averbakh
Drawn Position 2 - Averbakh
Drawn Position 3 - Averbakh
Dvoirys - Onischuk
Dvoretsky - Position 1, Position 2, Position 3
Edelman - Chandler
Eljanov - Nataf, Nepomniachtchi, Vidit
Garcia - Liebert
Gelfand - Nakamura
Geller - Beliavsky
Godena - Andersson
Graf - Oleksienko, Oleksienko, Navara
Grischuk - Carlsen
Gurevich - Bologan
Hort - Rodriguez
Huebner - Nikolic
Iskusnyh - Izoria
Ivanchuk - Shirov, Van Wely
Izoria - Iskusnyh
Kamsky - Radjabov
Karjakin - Carlsen, Nakamura, Onischuk
Karpov - Short, Mecking
Keres - Tal
Khakimov - Aveskulov
Khalifman - Anand
Kogan - Avrukh
Korobov - Kramnik
Kosintseva - Lahno
Kozul - Azmaiparashvili
Kramnik - Aronian, Svidler, Korobov, Topalov
Krasenkow - Macieja
L.N.Ramaravind - Arjun Adappa
Lahno - Kosintseva
Liebert - Garcia
Lomasov - Oparin
Macieja - Krasenkow
Maiorov - Aveskulov
Mecking - Karpov
Moiseenko - Barua
Morozevich - Aronian
Najer - Aveskulov
Nakamura - Carlsen, Karjakin, Gelfand
Nataf - Eljanov
Navara - So, Adams, Graf
Nepomniachtchi - Eljanov
Nielsen - Ponomariov
Nikolic - Huebner
Oleksienko - Graf, Graf
Oleksiyenko - Bakhmatsky
Onischuk - Karjakin, Belozerov, Dvoirys
Oparin - Lomasov
Ponomariov - Nielsen
Position 1 - Dvoretsky
Position 2 - Dvoretsky
Position 3 - Dvoretsky
Radjabov - Kamsky
Rodriguez - Hort
Sasikiran - Shankland
Shankland - Sasikiran
Shirov - Topalov, Ivanchuk
Short - Karpov, Damljanovic
Smyslov - Valcarcel
So - Navara
Socko - Carlsen
Sutovsky - Carlsen
Svidler - Kramnik
Taimanov - Xie Jun
Tal - Keres
Topalov - Shirov, Kramnik
Valcarcel - Smyslov
Van Wely - Ivanchuk
Vidit - Eljanov
Wang Yue - Ding Liren
Xie Jun - Taimanov

Bold font indicates that the player had the White pieces. 


 



 9 
Index of Typical Ideas 
 
 
 Bishop's sacrifice: 40, 50, 52, 53, 72, 74, 118, 139, 188, 190, 229. 
 Fortress: 1, 2, 3, 66, 81, 86, 110, 128, 129, 137. 
 Long king maneuvers: 10, 25, 39, 96. 
 Pawn sacrifice to clean the way for the king or bishop: 77, 178, 204. 
 Pawn sacrifice to distract the opponent's king or bishop: 38, 46, 72, 111. 
 Pawn sacrifice to organize a passed pawn: 73, 94, 105, 107, 109, 114, 136, 231. 
 Restricting the opponent's king: 22, 35, 62, 83, 103. 
 Stalemate: 8, 134, 155, 158. 
 Zugzwang: 7, 13, 24, 26, 27, 29, 30, 31, 34, 41, 61, 94, 95, 97, 154, 237. 
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List of Advised Games 
 
 
 If you have a strong desire to analyze more OCBE, here a brief list of instructive games is. Find them online or in your database and go slowly through the endgames parts. Try to apply what you have studied from this book. Analysis of these examples will make you much stronger! 

 1. Anand, V – Karjakin, S, Candidates tournament, Moscow, 2016, 1-0. 
 2. Areshchenko, A – Ruck, R, 18-th ch-EUR, 2017, 1-0. 
 3. Aronian, L – Naiditsch, A, Olympiad, 2012, 1-0. 
 4. Carlsen, M – Karjakin, S, Amber-blindfold 17-th rapid, 2008, 1-0. 
 5. Gashimov, V – Gelfand, B, Amber-rapid 19-th, 2010, 0-1. 
 6. Gelfand, B – Ye Jiangchuan, FIDE World Cup, 1.1, 2000, 1-0. 
 7. Grischuk, A – Bai Jinshi, TCh-CHN, 2017, 1-0. 
 8. Grischuk, A – Wojtaszek, R, ACP Cup, 2013, 1-0. 
 9. Iordachescu, V – Atalik, S, Valjevo, 2007, 0-1. 
 10. Jussupow, A – Ftachnik, L, World open, 2006, 1-0. 
 11. Karpov, A – Kortschnoj, V, Wch, 29-th, 1978, 1-0. 
 12. Kramnik, V – Kasparov, G, WCh (2), 2000, 1-0. 
 13. Kravtsiv, M – Neverov, V, 17-th ch-EUR, 2016, 1-0. 
 14. Kulaots, K – Areshchenko, A, Cappelle op, 2004, 1-0. 
 15. Kuzmin, G – Kuijpers, F, Olympiad, 1974, 1-0. 
 16. Leko, P – Gelfand, B, Dortmund, 1996, 0-1. 
 17. Navara, D – Smeets, J, 5-th ch-EUR, 2004, 1-0. 
 18. Onischuk, V – Dvoirys, S, Voronezh, 2012, 0.5-0.5. 
 19. Petrosian, T – Fuller, M, Olympiad, 1970, 1-0. 
 20. Plachetka, J – Smejkal, J, CSR-ch int Luhacovice, 1971, 0-1. 
 21. Pogonina,N – Zhao Xue, WCh Women (4.1), 2015, 0-1. 
 22. Polgar, J – Lautier, J, Las Palmas, 1994, 1-0. 
 23. Radjabov, T – Shirov, A, Morelia/Linares, 2008, 1-0. 
 24. Vaganian, R – Chuchelov, V, Bundesliga, 2004, 0.5-0.5. 
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About the Author 
 
 
 Valeriy Aveskulov (born in 1986), International Grandmaster from 2006. My best achievements are: 
 The Ukrainian Champion of 2007. 
 3-times prize winner on the first World Mind Sports Games (Bejing, 2008) as the member of the Ukrainian national team. 
 The silver prize winner of the World Rapid Championship U-12 (Paris, 1998). 
 The winner and prize winner of international tournaments held in Oklahoma, Miami, Chicago (USA), Pavlodar (Kazakhstan), Minsk (Belarus), Saratov (Russia), Lviv, Kharkiv (Ukraine) and others. 
 Starting from 2009 I stopped active playing and have been coaching online. Information about my coaching approach and students' achievements is presented on my web page - www.chesstao.com. 
 In 2012 the Gambit Publications Ltd has printed my first book Attack with Black dedicated to the opening repertoire against 1.d4 based on the Benko and Blumenfeld gambits. 
 Having been coaching for quite a long, I have been always adding examples to different folders on my computer. Recently I have felt, that it is time to share all this with a chess audience. This is the second book from the series, which is going to include both endgame and strategic topics (such as practical opposite colored bishop endgames; practical pawn endgames; positional exchange sacrifice; prophylaxis; play with two bishops and others). 
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